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Quadratic Assignment Problems
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tgwr QAP furumy (ta) wazeumIeuf (2) - (@) Wbty
nosuasiiywiniivadalssau ((Bazarra (1975) uaz Burgard UeE Stratmann (1978))
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91n (Rosenbatt ,1986)
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@25 flssomuuummeinglizmd e 20 ukwn udazuruniivwialiinin . W1=0.25

W2s0.75
a26 flsrmuuunapiaqlized 1uia 20 uewn udazusunawialivinin w1=0.50
W2=0.50
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ATNA 9.1 ANOVA , Duncan’s multiole range test uszwiTdinaffidusmousmoumuasyasmsinmee 4.1.1

Sourca DF Sum of Squares Mean Square F-Ratio

Model e 758008 3 187626 2.2%95

Etror a8 3363040 83038 Prob>F

Total 809 10943093 «<0.0001
SOWOR OF Sum ol Squares F-nalio Prob>F
pop 2 58761.40 341780 «0.000
Cype " 127661.19 384318 «0.0001
Pc 2 3658.20 2.u472 0.0069
M-ype 2 34380.22 20,6884 0,000
Pm 2 2859580 17,8208 <0.0001
pop*Cype 8 28840.72 4.0585 0.0001
pop*Pe 4 763065 23877 0.0505
pop*M-type 4 1448223 43511 0.0019|
popPm ] 708878 2.1278 00788
Cdype™Pe 8 1108620 1.6858 0.1049
C-type*M-type 8 30441.78 45825 <0,0001
C-type*Pm 8 8380.10 12615 0.2629
Pc"M-type “ 1024.23 0.3084 0.8724
PcPm 4 10835.04 3.2022 0.0113
M-type“Pm 4 2814.00 0.8472 0.4959
pop"C-type*Pc 18 2167033 1.8536 0.0531
pop*C-typa“Miypa 18 16256.02 14482 0.1154
pop"C-type*Pm 18 1444843 1.0875 03646
pop*Pe"M-type (] 10849.28 16031 0.1219
pop*Pe'Pm 8 14408.34 2.1889 0.0289
pop*M-type*Pm 8 12190.80 1.8351 0.0690
C-type*Pc*M-type 18 10294 .88 0.7749 0.7145
C-type*PePm 1% 20726.69 1.5609 _ 0.0762
C-typa*M-type " Pm 18 19927.48 1.4900 , 0.0960
Po"M-type*Pm . 4p19.08 0,600 0.7738
pop"C-type"Pu"NHype a2 51800.84 1.0404 0.0018
pop“C-type“Pe*Fm ) 22861.05 0.8848 0.6817
POpC-typa*M-typaPm ) 4871696 1.7581 0.0077
pop°Pe"M-type*Pm 16 19886.00 1.4868 0.0671
Ctype*FeM-type"Pm a2 27916.84 1.0508 0.3955

pop*C-type*Pc*M-typa*Pm 64 87481.12 1.2698 0.0907
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#1797 9.2 ANOVA , Duncen’s multiple range fast srzwindinefilusnourmoympwoimsinned 4.1.2

Source DF Sum of Squares Mean Square F-Ratio

Model 404 1710824.6 4234.71 1.8838

Emror 405 1018675.0 2515.25 Prob>F

Total a0s 2728490.6 <0.0001
sSource DF Sum of Squares F-ratlo * Prob>F
pop 2 44791.59 8.8040 0.0002
C-type 4 1871€4.01 18.6049 <0,0001
Pc — 30151.38 5.9037 0.0027
M-tyzo 2 150384.20 29.8045 <0.0001
Pm 2 38020,50 7.5580 0.0008
pop"C-type 8 82585.38 4,1032 0.0001
pop“Pc 4 8387.59 0.6349 0.6370
pop"M-type 4 5047.08 0.5018 0.7345
pop*Pm 4 13738.83 1.3658 0.2454
C-type*Pc 8 10679.58 0.5307 0.8334
C-type"M-type 8 38788.54 1.9277 0.0545
C-type*Pm 8 43504.76 2,161 0.0285
Pc*M-type 4 181808.40 1.6101 0.1708
Pc*Pm 4 7024.56 0.6079 0.5938
M-type*Pm 4 28438.26 28278 0.0342
pop“C-type*Pc 16 80383.30 1.5007 0.0057
pop*C-type*Mtype 16 33300.45 0.8277 0.6541
pop*C-type*Pm 16 89491.54 1.7268 0.0395
pop*Pc*M-type 8 32424.26 1.6114 0.1185
pop*Pc*Pm 8 13321.82 0.6621 0.7250
pop*M-type*Pm 8 23788.81 1,1822 0.3083
C-type*Pc*M-type 16 £2988.58 1.5648 0.0752
C-type*Pc*'Pm 16 50479.92 1.2543 0.2237
C-type*M-type*Pm 18 32462.78 0.8071 o.e778
Pc*M-type*Pm 8 14880.08 0.7385 0.6566
pop*C-type*Pc*M-type 32 81835.20 1.0187 0.4451
pop*C-type*Pc*Fm 32 113711.51 1.4128 0.0708
pop*C-type*M-type*Pm 32 132881.85 1.6510 0.0160
pop*Pc*M-type*Pm 18 46483.80 1.1550 0.3020
Ctype*Pc*M-type*Pm 32 87873.03 0.6406 0777
pop*C-type"Pc*M-type*Pm 64 173799,14 1.0797 0.3258
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Pop mann Byl 30822 - Ryl Sw 34519 < R2 .
1% V452 Ol = .77 8.4545 15w 10 1 *» R} [}
4 14025 0983 =292 80123 &w 10 T 1AnN » R2 g
10 14838 8507
Clypm L By 30403 R By oX w WX D 130188 » 2 ]
ox 14808, % 90 = 277 10.9147 OX v PBX 15.8452 » R (]
P 14621.4975 M= 192 11.5004 OX v OBRX 2170 > R4 L]
PaX 14823.8212 = 302 11,5088 oxX w CX [ K] » RS [
oax 14838, 3510 = 309 121788 PO v PEX 1 anr = R2 .
cx 14888,111t PN OBX P T Y > R3 o
P v X . AR E » R ]
PBX v OBX : 128047 » R2 ™
PBX va X 20283 > Ry ™
OBX va CX 17883 » R2 (]
o —— Byl= 3012 Rar* Syt o8 w 0OF 1 0N <« R .
0s 140240440 = 207 24345 09w 05 R TY ! » R3 ™
[ 4 14824 3963 ri= 22 8123 07w 08 HE 4, o ] » R g
a5 148371082
Atyps o = 20620 Roor* Byl Re-Ex v It b 1.0000 » R2 g
Re-Ex 1412077 = 277 .4845 fe-Ex v RandS 33.3887 > 3 ug
It 148200777 = 202 1n inat v Ramg3 ¢ 1T30er » R2 ag
Rand8 14648 4444
Pm L Byla 3.0522 R=r"By 03w b2 By -« R2 -
o3 14621.030 =277 84548 03w 01 s 102407 » 3 [ -]
02 14620 0820 ri= 282 1M 02w 09 % i L) »RQ g
(Al 148378780
pap-Ciype maan Syin 00249 R=r'Syl 10-ReEX va 15-ReEx  : 101481 « R2 .
10-RaEX 14308.1482 s 277 18.9049 10-ReEX va 0-Rafx 109442 » R) (]
15-Re€x 14808 2981 =20 19.9280 15-Rekx vo B-Rafx T e « R2 -
-RoEx 14818.0026
Ctype-Pm o Bym 0549 Rer'Syl 0X03 v Ox-0.1 r . BTa07 < R2 .
X038 14803 4074 = 277 18,9048 OX-0.3 ve OX02 1 BAT40 -« Ry .
-4 14009, 1481 ri= 282 19,0298 Ox01 v ON02 H— - < K2 -
OX0.2 14811.6014
N
Wypie-Pm moan Syi= 52085 Rar*Syi ReEx-03 vs ReEx-02 16334 < R2 .
Rafx-0.3 14801, 3444 = 20T 14,8438 ReEx-03 v ReEx-.1 30.5887 * RY ag
Rokx-02 148029778 = 202 15,4508 Refx02 v» ReEx01 : 22830 » R L -]
Rakx 0.1 14821.6111
wirflined TifuindgfisfunnuSodu 0,95
Population Stze 8,15
Crosscver Type ox
Pe 07,09
Mutation Type Reciprocal Exchange
Pm 02,03
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R1TNA 9.3 ANOVA , Duncan's multiple range test usrminlinofAfusnouimovauasvosmatinmeo 4.1.3

Source DF Sum of Squares Mean Square F-Ratio

Model 404 679226813 1681258 1.1847

Ermor 405 574733247 1419094 Prob>F

Total 809 1253962050 <0,0001
soUrce DF Sum of Squares F-ratio Prob>F
pop 2 20678208 10,5272 <0.0001
C-type 4 70218965 13.0550 <0.0001
Pe 2 6680507 2.3538. 0.0963
M-type 2 30211551 10,8447 <0.0001
Pm 2 12125548 4.2123 0.0146
pop*C-type 8 11408549 1.0049 0.4318
pop*Pc 4 8278663 1.4684 0.2141
pop"M-type 4 B424560 1.4841 0.2081
pop*Pm 4 12086752 21203 0.0764
C-type*Pc 8 12868971 1.1336 0.3303
C-type*M-type 8 12134805 1.0889 0.3844
C-type*Pm ] 14042480 1.2389 0.2758
Pe"M-ypo 4 1507257 0.2656 0.8000
Pc*Pm 4 4358809 0.7679 0.5488
M-type*Pm 4 9088570 1.6011 0.1732
pop C-type*Pc 16 18462415 0.8140 0.8699
pop"C-type*Mtype 18 12512101 0.5511 0.9186
pop*C-type*Pm 18 14073240 0.6198 0.8684
pop*PeM-type 8 3523085 0.3103 0.9620
pop*Pc*Pm 3408711 0.3002 0.9657
pop*M-type*Pm 8 7082187 0.6238 | 0.7579
C-type*Pc"M-type 18 19244860 0.8476 0.6308
C-type*Pc*Pm 16 44027602 1.9391 0.0160
C-type*M-type*Pm 18 19630327 0.8846 0.6110
Pe’M-type*Pm ] 21250137 1.8718 0.0629
pop"C-type*Pc*M-type 2 28525553 0.8262 0.9452
pop’C-type*Pc™Pm 32 35417266 0.7798 0.8017
pop*C-type*M-type*Pm a2 38000076 0.8388 0.7235
pop*Pc"M-type*Pm 16 26370818 1.1614 0.2085
Ctype*Pe"M-typs*Pm 2 33479847 0.7373 0.8526
pop*C-type*Pe"M-typePm B84 101883024 1.1218 0.2553
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pop [ Sym T2A9H Lo ] MNw b : 1260983 « R L]
[ 10085.7444 e an 2008184 15w & T ATO40N7 «fa wp
10 16316.4407 e 102 1.08% B w10 MO0 « R2 oy
R 10098,1401
Cyps maen Syi= U3.5040 Rursyl OX v PMX a0, 1888 » R2 wp
ox tares.mc e 2n 260.7584 OX va OBX 5135408 > R3 ™
PMX 16212.987¢ o= 202 2732048 OX v POX 884.7412 » R4 g
oax 19420.3518 4= 102 2628538 OX w CX 42,0880 > RS wp
Fl.l 10448,8433 rim 300 280 2085 L L L 20734402 < A2 -
X 19T28.8T00 PuX w PEX I.8808 - fa -
P v OX S18.5024 » Ri L]
OBX w PBX 201014 « A2 .
- 08X w €X 205182 . RS g
PBX w CX 202.3200 - A2 g
[ maon By TYAGTE Wy st w Me-Ex e « 2 -
[ ] 19140500 =2 2008184 ol w RonctS a48.7e20 = R3 [ ]
Ra-Ex 122%.3110 = 202 11,0030 Re-Ex w Randb 250.008 « Rg L]
Rancifi 10587 3008
Pm L] Sy= T3.40T8 Fe=r"iyl ciwm 02 T 1600 « R -
a1 191631088 2= 277 200.8104 03w 44 A0 «fa w
02 10902 1088 o= 282 211.6930 02w 01 HER -1 0 < A2 -
a1 19401.9925
winlinof fnlndnAgfrsunnuifiody 0.5
Population Sixre (]
Crossover Type ox
Pe - Uﬁl‘i’uhﬁq
Mutation Type Inssrtion SReciprooal Exchange
Pm 03
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RYFIOT 9.4 ANOVA , Duncan’s muttipla range fest uszmimifinefiduanouseouakossaImBinTe 4.1.4

Source DF Sum of Squares Meaan Squere F-Ratle

Modal 404 9560.608 23,6646 1.7102

Error 405 5604.170 138175 ‘ Prob>F

Total 809 15164.676 <0,0001
source DF Sum of Squares Feratio Prob>F
pop 2 707.4672 265.6635 <0.0001
C-type 4 1268,0425 220006 <0.0001
Pc 2 175.7810 8.3516 0.0019
M-type 2 1058.2548 38,2388 <0.0001
Pm 2 59.9508 2.1863 0.1159
pop*C-type 8 154.8052 1.1261 .0.1859
pop*Pc 4 82,3287 2.4618 0.3437
pop*M-type 4 130.8088 2.4881 0.0443}
pop*Pm 4 149,8568 27074 0,0300
C-type*Pe 8 34.6410 0.3129 0.9611
C-typa*M-type 8 704.2219 $3618 <0.0001
C-type*Pm 8 58,8686 0.5318 0.8326
Pc*'M-type 4 228855 0.4135 0.7990
Pc*Pm 4 26,5859 0.4857 0.7462
M-type*Pm 4 97.9309 1,7492 0.1341
pop"C-type*Pc 18 152.4148 0.6884 0.8061
pop*C-type*Miype 16 320.1744 1.4868 0.1007
pop*C-type*Pm 186 4088125 1.851 0.0235
pop*Pc*M-type 8 81.7153 0.8285 0.5778
pop*Pc*Pm 8 60,0350 0.5423 0.8245
pop*M-type*Pm ; 40.6174 0.3660 -0.9377
C-type"Pc"M-type 16 142.7792 0.8449 0.8469
C-type*Pec*Pia 18 49,7958 0.2249 0.9994
C-type*M-type*Pm 16 741.8727 3.3508 <0.,0001
Pc*M-type*Pm 8 67.7496 0.6120 0.7679
pop*C-type*Pc M-type kY] 474.7823 1.0722 0.3652
pop*C-type*Pc*Pm 32 562,2732 1.2698 0.1530
pop"C-type*"M-type*Pm a2 467.4912 1,0558 0.3882
pop P M-type*Pm 18 133.4463 0.6027 0.8821
Clype*Pc"M-type*Pm 32 397.0953 0.8968 0.6323

pop*C-type*Pc*M-type*Pm 64 721.1190 0.5143 0.8427
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pop masn by 0204 Rer'Syl 0w 15 ;00870 <2 .
10 23.4370 = 277 0.62m1 Www 20 20182 > RY g
1 7833040 = 202 08810 1w 2 1982 » RZ g
o 28452
Ciype st ayn 0200 Rear'8yl PEX va  PMX 0.1631 < RZ -
Pax M o 0.8000 PAX w  OBX 0.1808 < Ry .
P 263.4318 = 192 0.8884 PEX w OX 0.8524 « R -
oBx 23448 M= 302 08228 PBXw X 22008 » Rs g
ox 2839209 o= 300 003 PMX w OB L) « R .
ox 288 5050 PMX v OX 0.489% < Ry .
PMX w  CX 2.16M » R4 g
onx v OX LYt «m -
0BXw X 21487 » R o
oXw X 28741 » 2 g
Po masn Sy 02204 Rer'syl okw 07 T ] » RZ g
0.e 8214 = 27 0.6271 ohw 03 P19, » R o
or 2842100 e 202 ¢.8810 0Tw 08 Y- « N3 .
06 204052
Niyps - Sy 02204 Rrey RaErw bl osme » R2 sy
fa-Ex 2782 0281 = 277 LY fofxw  Aands S & 1T »m "
inmt 283,0020 9m 282 0.6810 el w  Rands 1784 > R2 o
Rand$ 85,6082
pop-Mtyps - Bym 0.3024 PRersyl 10-Refx v 16-Rekx 1 0888 « A2 .
10-Rekx 282,088 =21 1.0881 10-Rex v 20-Rekix 1,88 » R g
16-Refx w2722 o= 292 14480 16-Ralix w  X0-ReEx 1822 Y- "
2-Rekix 283.9844
Chyps-Mype maan Syla 0.5082 RSyl CBX-Refx va PWOCReEx @ 0.1130 < RZ .
OBX.ReEx 220314 e 227 1.4022 COX-ReEx v PEX-ReEx @ 02483 <R3 .
PAOX-ReEx 82,7444 0= 292 14701 OBX-Refx va Cu-Refx  : 03800 < Ra -
PBX-ReEx 228717 rés 3,02 15288 ORK:ReEx va On-ReEx  : 0750 < RS .
Cx-RaEx m20814 5308 154 PARGRREx va PBAReEx @ 0.133 « R2 -
On-ReEx 283 3007 PMX-ReEr vo CxReEx 1 02370 < R -
PHOCReEx va Ow-Relx 100483 « Pa -
FBX-ReEx va Cu.ReEx N 3114 «R2 .
PBX-Rekx va Ox-Re€x i 081% <R -
Cx-Refx v Ox-Refx D 04093 « R2 -
vorfivmad Dludigfefunmaudoiu 0.95
Popuistion Size 10,18
Crossover Type PMX, OX, PBX & OBX
Pc 0g
Mutation Type Reciprooal Exchange
Pm Tl
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AVTNF 9.5 ANOVA , Duncen'’s multiple range fest usswnfinoFAlusnousmoymiossoamsiinned 0.1.5

Source DF Sum of Squares Meaan Square F-Ratio

Model 404 435533,328 107.756 1.8448

Eror 405 236556.000 59.410 Prob>F

Total 809 87189,328 <0.0001
s0Urce DF Sum of Squares F-ratio Prob>F
pop 2 5170854 44338 0.0124
Ctype 4 6117.1556 26,1820 <0,0001
Pc 2 237.8000 20357 0.1319
M-type 2 4403.8543 37.6079 <0.0001
Pm 2 3064.2543 26.2308 <0.0001
pop*C-type 8 8732074 1.4407 0.1776
pop*Pe 4 03.6975 0.4008 0.8082
pop*M-type 4 2052.7531 8.7660 <0.0001
pop*Pm 4 167.2864 0.7160 0.5814
C-type*Pc 8 94.1778 0.2015 0.9805
C-type*M-type 8 35135481 752 <0,0001
C-type*Pm 8 735.8444 1.5747 0.1304
Pe*M-type 4 62.0420 0.2655 0.9000
Pc*Pm 4 126.0842 0.5524 0.8974
M-type*Pm 4 110.8864 04737 0.7550
pop*C-type*Pc 16 1183.5250 1.2450 0.2303
pop*C-type*Miype 18 2376.8880 2.5433 0.0009
pop*C-type*Pm 16 776.9461 0.8314 0.6498
pop*Pe M-typs B 722.9082 1.5471 0.1301
pop*Pc*Pm 8 578.6173 1.2344 0.2772
pop*M-type*Pm 7143051 1.5288 0.1451
C-type*Pc*M-type 18 782.2206 0.8370 0.6432
C-type*Pc*Pm 16 914,800 0.6769 0.4790
C-type*M-type*Pm 18 825,1407 0.8829 0.5804
Pc*M-type*Pm 8 584.6173 1.2519 0.2678
pop*C-type*Pc*M-type 32 1799.6000 0.9628 0.5282
pop*C-type*Pc*Pm 2 2289.2074 1,2248 0.1906
pop*C-type*M-type*Pm 32 1446,0667 0.7740 0.8093
pop*Pe*M-type*Pm 18 915.4760 0.9796 0.4782
Clype*Pc*M-type*Pm 32 2457.3704 1.3147 0.1218
pop*C-type*Pc"M-type*Pm 84 3213.0888 0.8585 0.7685
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pop L] Byi= 0.4881 Pomr* Byl Xw 18 1.6880 » A2 [ -]
n 3302000 =21 12684 v 10 17097 » RY g
18 340 5800 rd= 242 13581 1% v 10 00157 -« 2 .
10 3400037
Caype masn Byie 08008 Rer"Byl OX v OBX 45432 » R2 g
ox 338, 5432 e 217 1.065 OX vs PN a1 » R [ ]
OBxX 3400884 = 262 17584 OX v» PBX 85,0024 * Rd L]
Phix 400543 ~a 302 10134 oxX v OX 4014 » P8 L]
Pax 3413458 LR Y. | 18884 oaX v PO 0.887% « R2 .
ox 34,0048 o8X v PBX 12892 <R3 .
Obx v CX phot » Rl g
P v PBX 0.8 < R2 .
PME v CX 33703 *» 3 [ ]
PBX v O 2610 > R2 o
Miype moen By 0.4851 Ror gyl Re-Ex v Inal 3.0008 » A2 g
[ 3814148 = 277 12884 Re-Ex ve Randd SN2 " R3 ”
L] 340.4888 EORY 13584 et v Aands 26008 » R2 -«
Rarsts HI12D
P moan By 04851 Rr-8yd 03w 02 12300 <R -
03 338 3808 =27 12084 23w D4 4.0000 » B3 [ -]
02 mea = 282 13881 02 w 04 1.4 » 2 o
01 3429858
wimlunef TlubgimedunrnSol 0,68
Population Size 20
Crossover Type Oox
Pe Wikiviniy
Mutation Type Raciprocal Exchange
Pm 02,02
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RITHR 9.6 ANOVA , Duncan's multiple range test uazwirfinoFAluanousrmouauessoanSinre 4.1.6

Source DF Sum of Squares Mean Square F-Ratio

Model 404 467831.85 1158.0 2,2208

Error 405 211189.05 521.48 Prob>F

Total 809 679030.70 <0.0001
source DF Sum of Squaras F-ratio Prob>F
pop 2 §700.037 6.4241 0.0018
C-ype 4 19930.500 . 9.5592 <0,0001
Pe 2 7078.116 6.7666 0.0013
M-lype 2 13846.424 13.2761 <0.0001
Pm 2 18700.226 17.8388 <0,0001
pop*C-type 8 5636.033 1.3510 0.2168
pop*Pc 4 98683.353 3.5898 0.0114
pop*M-type 4 3148.400 1.5084. 0.1988
pop"Pm 4 12701.611 6.0891 <0.0001
C-type*Pc 6 7191.560 1.7236 0.0910
C-type*M-type 6 T7113.875 1.7051 0.0853
C-type"Pm 8 16767..554 4.0182 0.0001
Pc*M-type 4 5818.269 2.7893 0.0282
Pc*Pm 4 2699.400 1.2041 0.2716
M-type*Pm 4 422.326 2.0384 0.0882
popC-type*Pc 16 11521.721 1.3800 0.14T1
pop"C-type*Mtype 18 17471.071 2.0039 0.0080
pop*C-type*Pm 16 29941.118 2.7495 0.0003
-|pop*Pc"M-type 8 10364.814 2.4605 0.0130
pop"Pc*Pm 8 10188.884 24423 0.0127
pop"M-type*Pm 16042.385 3.7454 0.0002
C-type*Pc"M-iype 16 13810.143 1,6552 0.0527
C-type*Pc'Pm 16 20236.600 2.4354 0.0017]
C-type*M-type*Pm 16 0466.046 0.7750 0.7155
Pc*M-typa*Pm 8 8368,123 2.0059 0.0445
pop“C-typa*Pc*M-type a2 30414.206 1.8226 0.0048
pop'C-type"Pc*Pm 32 34561.825 2,011 0,0007
pop”C-typa*M-typa‘Pm 32 20588.705 1.2344 0.1820;
pop*Pc*M-type*Pm 16 16110373 1.9311 0.01g0
Ctype*Pc*"M-type*Pm 32 33358.912 1.9861 0.0013
pop"C-type*Pc*M-type*'Pm 84 57010.281 1.7082 0.0012
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pop i Byi= 13808 Rear'Byl Bww ; azme? » R2 ™
13 838.9700 2= 277 38408 15 v 10 ;87600 » R g
20 8402407 am 202 4.0081 0w 10 Y, ) « Rz -
10 $42.7200
Ciype maun By 17942 Reciyl OBX w OX 3.08%0 «R2 -
onx 3342130 = 177 «.9ece oBX w PEX arsio -« R} .
ox 537.2780 e 282 8.3 OBK va PMX 59000 » R4 iy
PaX 38,9540 riu 302 Bat104 ORX w X 14.7980 » Rs ™
P 8401730 toa 300 25400 oX w PBX 11180 <Rz .
X 540.0000 OX w PR 2070 < R -
ox w X 11.13%0 » Rd g
PEX v PRX 1,179 < R2 -
PAX w CX 10.0150 * R g
A w CX 1.8380 » Bg aig
Pe maan Sy 1.3300 For'Byl 07 w D# T 13860 «R2 .
o7 837 20 2= 277 2.8458 07 w 05 ¢ 68380 » Ry ™
ce 8385570 & 202 4088 08w 05 T SARM > ™
o8 44,0400
Nayps maan Sy 1.3050 For'Bpl b v Ra-Ex 1 00s80 «p2 -
e 5389000 2w 277 3645 v Rants  : DBOOO . R oy
Re-Ex 537,0300 = 02 40801 Robiw Rand3 @ 0740 » R2 g
Rand3 5487000
Pm maan By 1383 Rursyl 03 w 02 T 4180 < R2 -
03 534.0000 = 277 3.8488 03 w 01 t 114070 *R3 iy
02 £38.2950 s 262 40581 02w 01 1 0410 »R2 "
0.1 846.4300
pop-Po mean Sylm 24071 Rer* Sy 1503 v 1801 o AMe » R2 (-]
1809 7M1 =2 0.6077 1803w 1802 @ 135860 R iy
15-0.1 337.0820 = 292 T.0288 101w 1502 ; 427%0 « R2 .
15-02 s41.9270
pop-pa mean sy 24071 RSyl 1507 v 1809  : D.1800 » R2 g
1807 s =21 0.0077 18-07 ve 1808 @ 126420 » R ™
1308 837,880 e 282 7.0288 1809 v 1303 ;| 3820 < R2 -
1545 541,340
- - - - &
sorihned DriudfigfresunruiFoii 0.5
Population Size 15
Crossover Type oBX
Pe 0.7(pop*pc}
Mutation Type Ineertion & Reciprocal Exchange
Fm 0.3(pop“pm)
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M7 4.7 ANOVA , Duncen’s multiple range tes! uszwiniliaoffiuansusimeumiasyosmsiinmied .17

Source DF Sum of Squares Mean Square F-Ratio

Model 404 38532441 80426.8 2.7161

Error 405 13483705 332033 Prob>F

Total 809 50016247 <0.0001
BOUNCE DF Sum of Squares F-ratlo Prob>F
pop 2 28679717 43,0262 <0,0001
C-type 4 8550910.8 40,1908 <0,0001
Pe 2 831278.8 12.843 <0.0001
M-type 2 5643772.5 84.7583 <0.0001
Pm 2 494907.5 7.4325 0,0007
pop*C-type 8 849541.6 2.4387 ] 0.0139
pop*Pc 4 1782125 1,3382 0.2550
pop*M-type 4 488505.1 3.5432 0.0064
pop*Pm 4 187438.1 14075 0.2307
C-type*Pc 8 4710843 1.7687 0.0815
C-typa*M-type 8 1503227.3 5.8439 <0.0001
C-type*Pm 8 403841.7 1.5162 0.1484
Pc*M-type 4 195071.0 14715 0.2100
Pe'Pm 4 161501.0 12127 0.3048
M-type*Pm 4 206169.6 2.2239 0.0857
pop*C-type*Pec 16 8379175 1.5730 0.0728
pop“C-type*Mtype 16 6.4095.3 1.3030 0.1912
pop*C-type*Pm 16 776019.5 14568 0.1124
pop*Pc*M-type 8 654383.3 2.4560 0.0132
pop*Pe*Pm 8 158074.4 0.5935 0.7834
pop*M-type*Pm 8 4963233 1.8221 0.0713
C-type*Pc"M-type 18 ' 508210.8 1.1230 0.3308
C-type*Pc*Pm 18 4162503 . 0.7852 6.7029
C-type*M-type'Pm 16 1379551.8 2.5808 0.0007
Pc*M-type*Pm 8 161680.0 0.6070 0.7721
pop*C-type*Pc*M-type 32 14739145 1.3835 00838
pop*C-type*Pc*Pm 2 184940,7 1.5440 0.0322
pop*C-type*M-type*Pm 32 1168033.0 1.0963 0.3329
pop*Pc*M-type*Pm 16 3914328 0.7348 0.7584
Ctype*Pc"M-type*Pm 32 1033034.4 0.9705 0.5162

pop*C-type*Pe*M-type*Pm 84 37373204 1.7540 0.0007
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pp mann Bypin 11,1044 L] 10 ve 15 W42 » P2 [ ]
"w A298.4070 2= 277 30.78938 10w 20 140 9280 » R} (]
13 43340800 [ I X ] .45 15a N 1023350 » 2 g
x 4437 3050
Clyps miskn Syl= 14,5308 Fmg Oyt X v PR 11,%000 = RZ .
onx 4250 5580 raa 277 ».7101 OBX v PBX mniRo » A3 g
Paex 4208 1880 s 292 41 ra04 O8x ve OX 189,1280 » Rt [ ]
PeX 433.0700 M= 307 4312040 OBX w CX 2102080 » A8 o
ox 48019 e 100 “278 PAD w PEX o788 » R2 g
cx 4475100 PAX v QX 17,4280 » o
P - CX 2009950 » R4 L]
POX w OX 100430 » A2 "
PEX v OX 138.11% » R ™
oX v CX %.1700 < R2 -
P " Byi= 111084 Pty 0hwm 07T ®’1m » R2 L]
o8 4311 2ol = 177 30,760 08 v 05 T2.5TT0 » R} g
or AT3.48%0 o= 202 124280 07 w 08 10.4800 <Rz -
['1] 435S 30
Mype - Sym 11,1044 iy Ra-fx va iral 154.4100 » R2 "y
Re-Ex 42045820 e 277 307603 Ro-Ex va Rancl 2008400 m “
st 4370.0010 e 282 104280 sl w Rand3 w220 » R2 u
Rangs A48 220
Pm masn Byt 11,9044 o] 03w 02 2780 < f2 .
03 423010 =277 30,7560 03 v 0.4 601130 >’ =
0.2 43820880 = 2R 124250 02w 01 38,3200 » A2 “
0.1 4388 4140
Ctypa-Myipe masn Sy 24,5008 Rerdy OBX.Pkx vo PBX-ReEx 0.0800 « A2
ObX-Rekx 4180, 7400 =21 e OBX-Refn ve PhX.ReEr 42,6400 < R} .
PBX-ReEx 41064.8000 M= 282 T2.5044 QfX-Rex va CX-Rekx 1185700 » R4 -y
PWX-ReEx A733,3000 rdx 302 T4.0074 OBX-Relx vs OX-ReEx 144 2000 » P& [ ]
CX-RaEx ATHT 3100 o= 30 .1 POX-ReEr va PRX-ReEn &5.3800 < A2 -
OX-REn 43240400 PBX-Rex v CX-ReEx 110.8100 » A3 g
PEX-ReEx va CX-Refx 1201400 » R4 g
PACC-Rox ve CX-Reix 819300 « R2 .
PACC.AvEx va OX-Refx 91.3800 » R uy
CX-ReEx va OX-Refx 27,800 « A2 .
wnlinef Iluhdyfedunuols 0.95
Ponulation Size 10
Crossover Type OBX{C-type*M-type)
P 0.9
Mutsation Typa Reciprocal Exchange
Pm 02,03
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#1TNT 9.8 ANOVA , Duncan's multipie renge test sezmrndmofduanourmovmiosvoinsiinnzd 3.1.8

Source DF Sum of Squares Mean Square F-Ratio

Model 404 33670602 83385.4 1.2652

Error 405 26270491 64865 4 Prob>F

Total 808 59950003 <0.0001
source DF Sum of Squarea F-ratio Prob>F
pop 2 2407300.20 18,5561 <0.0001
C-type 4 3951533,10 15.2297 <0,0001
Pc 2 834260.80 8.4307 0.0018
M-type 2 2040689.30 15,7302 <0,0001
Pm 2 461800.90 3.5607 0.0203
pop*C-type 8 1026355.70 1.9759 0.0481
pop'Pe 4 1689561 0.8512 0.6263
pop*M-type 4 211548,60 0.8153 0.5159
pop"Pm 4 256430.60 0.9683 0.4137
C-type*Pc 8 372534.30 0.7179 0.6758
C-type"M-type 8 1283696.00 - 2.4738 0.0126
C-ype*'Pm e 204710.20 0.567% 0.8043
Pc"M-type 4 2682622.60 10122 0.4008
Pc*Pm 4 3183430 0.1231 0.9742
M-type*Pm 4 443147.80 1.7080 0.1473
pop*C-type’Pe 18 1038188.40 1.0003 0.4553|
pop*C-type*Miype 18 873899.50 0.8420 0.6373
pop*C-type*Pm 18 526697.90 0.5075 0.0434
pop*Pc*M-typs 8 26067120 0.5107 0.8418
pop*Pc"Pm 8 235046.70 0.4530 0.8885
pop"M-type*Pm 8 250066.60 0.4992 0.8568
C-type*Pc"M-type 18 1225776.50 11811 0.2799
C-typs*Pc’Pm 18 1236810.20 11917 0.2712
C-type*M-type'Pm 18 147617040 1.4223 0.1272
Pc*M-type*Pm 8 298197.20 0.5748 0.7988
pop°C-type*Pc"M-type 32 1848488.40 0.8905 0.8421
pop*C-type*Pc"Pm 32 2633095.70 1.2685 0.1540
pop*C-type*M-type*Pm 32 1550158.90 0.7468 0.8419
pop*Pc"M-type’Pm 18 640405.10 0.6171 0.8706
Ctype"Pc*M-type*Pm a2 1392666.70 0.8709 0.9155
pop'C-type*Pe’M-type*Pm 64 4128651.70 0.9945 0.4931
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pop magn By 18,4007 Rt "Byl 10w 15 .84 » R2 g
10 L-IRE- -] 2= 277 £2.5049 10w 20 133.4889 » R wy
1% 45909370 = 252 45,2863 15w 20 f.0741 > R2 o
2 4854 8111
Chype man Syi= 20,0101 Fost* Byl OBX va PAX na <« R2 .
oax asiaeTon = 217 s8.421% OBX wva PMDC 29.4588 <« R .
PEX 48405000 [ Y ] BBAZS OoBX va OX 1379138 » wg
X 4542.1350 i 302 80.4308 onY v EX 173.0002 s RS alg
ox 40045825 e 300 a1 8912 PRX v PAIX 16388 < R2 .
ox 4890.9432 PEX w OX 14,0825 » =
P v X 150.0432 » Ré oy
P v DX 12,08 > R2 L]
P v CX 1404074 > R oy
OX w CX 34,0807 < R .
Pe mean By 154907 Por gy 08w DO BT 2444 » 2 g
0.9 45447140 rd= 277 ang 08 w 07 T84 » B3 g
[ ] 45018882 s 292 48253 a8 w 07 10.0970 « R2 -
(34 10080
Miypa aaan By 104597 For gy Ra-ix w [TRT » K2 g
Ra-Ex A5 40 ri= 2TY L2090 Fa-Ex v RandB 21 L .- L]
nmt 4584.7333 A 22 43250 sl w RandB A7.0037 » A2 alg
Randd 4852 370
] mosn Bym 18,4997 Rer'Byi 03w D2 47074 « R} .
a3 4580.7074 =271 4243403 03w 01 52.0407 » R wy
02 45744148 = 252 482503 02w 01 451313 » R2 wy
01 822 3481
pop-Ctyps maan By 34,0585 Rer'Byl 10-08X ve 10-PBX 58.3519 «R2
10-OBX 4385.0140 = 2.77 90,0040 10-08X vo 10-PMX 400.2222 <R3 .
10-PBX 4443.02% = 282 1042008 10-08X va 10-CX 208.8512 » Rd g
10-PX 485 2002 rea 302 104 5685 10-08% v 10-0X 2043148 » RE g
W-CX A4 G282 e 300 107.0047 10-PBX va  1-PUIX 413703 < R2 .
10-0X 4549.3888 10-PRX vs 10-CX 197.0903 * R3 wy
10-PEX v 10-0K 2084820 > R4 "y
10-PMX v 10-CX 156.6200 » T2 y
10-PMX v3 10-OX 1684.0026 > R gy
10-CX w1 100X 7.4038 « R2 .
mniieef IduhagRefunrmadody 0.8
Population Sae 10
Crossover Type PMX, PBX & OBX
Pc 0.9
Mutaticn Type Reciprocal Exchange
Pm 02,03
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RN 9.9 ANOVA , Duncen’s multipie range test usswimlino fllusmousimeumuosyoinisiinmzd 9.1.9

Source DF Sum of Squares Mean Square F-Ratlo

Mode! 404 37527108 9288.8 1.2330

Error 405 30511024 75335.9 Prob>F

Total aoe 68038132 0.0177
BOUrCe OF Sum of Squares F-rallo Prob>F
pop 2 241909.20 1.6055 0.2021
C-type 4 1228876.10 4,076 0.0030

Pe 2 18780.30 0.1248 0.8828

M-type 2 247536.20 0,1248 0.1947
Pm 2 3170717.10 1.6429 «0.0001
pop*C-type B 33494710 0.5553 0,8140
pop*Pe 4 471708.70 1.5854 0.1827
pop*M-typs 4 405835,80 1.3468 0.2519
pop*Pm 4 409875.50 13605 0.2460
C-type*Pe 8 358134.00 0.5842 0.7828
C-typs"M-type 8 932806.50 1.5478 0.13289
C-type"Pm B 42487150 0.7050 0.8372
Pc*M-type 4 487048.50 1.8163 0.1693
Pe*Pm 4 1117485.50 3.7083 0.0058
M-type*Pm 4 297008.40 0.9888 0.4135
pop'C-type*Pc 18 1824357.50 1.513% 0.0912
pop"C-type*Mtype 16 1052015.80 0.872a 0.6013
pop"C-type*Pm 18 1760265.50 1.4603 0.1108
pop*Pc*M-type ] 132442,60 0.2198 0.9873
pop*Pc"Pm 8 1334367.70 221 0,0256
" |pop*M-type*Pm 8 577776.80 0.9587 0.4680
C-typa*Pc*M-type 16 1262451.70 1.0391 0.4138
C-type*Pc'Pm 16 1942102.10 1.6112 0.0628
C-type“M-type*Pm 18 1180531.10 0.9628 0.4971
Pc"M-type*Pm 6 825805.00 1.3702 0.2077
pop*C-type*Pc*M-type 3z 2612834.80 1,0837 0.3496
pop*C-type*Pc'Pm 32 227425360 0.9434 0.5588
pop™C-type*M-type*Pm a2 2570795.80 1.0701 0.36681
pop“Pc*'M-type*Pm 18 1387993.00 1.1596 0.2879
Ctype*Pc*M-type*Pm 3z 282920540 1.1738 0.2410
pop"C-type*Pc*M-type*Pm 84 3822566.80 0.7925 0,8725
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Cyn maen By 215047 Ferop OX v PBX 14,7854 « R2 .
ox 88774388 s 277 0.5 oKX w PAMX 13802 < R3
PBX 35919012 A 202 029009 OX w OBX 02 < R4 8
P 5598.5000 ra 3.2 08,1354 OK v €X 110.7718 > RS "
oBx s620.5580 = 200 =04 PAX v PAOX 45008 < R2
€x 58670074 PBX v OBX a5 < R} -
PEX v X b8.0082 > P4 "
PAD e OBX 220550 < R2
PAX W CX LY » R g
OBX w Cx 12824 » R "
Pm -~ Byi= 1070 R "Byl 03w 02 MR « R2 -
03 8882779 rm2n 40,200 05 v 01 AT » R o
0.1 88736087 rm 242 arm 02w 01 S0ATED 0930 » A2 y
0.1 £70082.5000
Pe-Pen [ Syim 28 4% eyl 05-02 w 0.0-02 14,0880 < R2 -
05032 5350.0000 2= 277 20,1410 0602 s 07-02 $72000 < Ry -
0502 5570.6800 e 202 B4407 0403 w 6702 DA « R2 .
0.7=-01 8503 8000
Pe-fm meen By 28500 Ryl 07-03 vs 0.5-03 192388 < R2
0703 sER.TI3 2= A7 80,1419 07-03 v 0603 100.87TT . Ry =
0.8-03 BOAT 4850 = 242 By 08=-03 v 0503 nen > R g
0.8-0.3 8291110
winfinef Iluidgfeiunmuloli 0,05
Populstion Size 1l|ﬂﬁ'tld'lﬂ-tu
Crossover Typs PMX, OX, PBX & OBX
Po Tiflkudiy
Mutation Type Nuifiipdéy
Pm 02,03
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#1711 4.10 ANOVA , Duncan’s muttiple range test sarminfimpfiluanousresvmissosnisinned 1.1.10

Source DF Sum of Squares Mean Square F-Ratio

Model 404 7.7282e-13 181e-15 1.3724

Error 405 5.86452e-13 13.9e-15 Prob>F

Total 809 1.3373e-12 0.0007
sourcs DF Sum of Squares F-ratio Prob>F
pop 2 2,888E-14 10.3512 <0,0001
C-type 4 4.05E-14 7.2841 <0.0001
Pc 2 3.401E-15 1.2200 0.2083
M-type 2 8.85BE-14 31.7685 <0.0001
Pm 2 8.49E-14 23.2798 <0.0001
pop*C-type 8 1.324E-14 1,1869 0.3054
pop*Pc 4 4,19E-15 0.7515 0.5576
|pop*M-type 4 4,008E-14 7.3501 <0.0001
pop"Pm 4 2.76E-14 4.9484 0.0007
C-type*Pe 8 1.503E-14 1.3480 0.2180
C-type*M-type 8 3.132E-14 2.8086 0.0040
C-type*Pm 8 1.762E-14 1.5803 0.1287
Pe*M-type 4 4 778BE-15 0.8570 0.4898
Pc*Pm 4 8.18E-15 1.8465 0.1817
M-type*Pm 4 4.981E-15 0.8952 0.4667
pop C-type*Pe 16 4,048E-14 8.1430 0.0274
pop"C-type*Mtype 16 1.5E-14 0.8725 0.8215
pop*C-type*Pm 16 1.752E-14 0.7857 0.7023
pop*Pc*M-type 8 8.243E-15 0.7380 0.8570
pop*Pc*Pm 8 2.898E-15 0.2418 0.9827
pop*M-type*Pm 2.784E-15 0.2497 0.9808
C-type*Pc*M-type 16 3,616E-14 1.6215 0.0803
C-type"Pc*Pm 10 3.015€-14 1.3520 0.1624
C-type’M-type"Pm 16 1.281E-14 0.5788 0.8000
Pc*"M-type"Pm 8 8.051E-15 0.5423 0,8243
pop*C-type*Pc*M-type 32 3,129E-14 0.7001 0.8904
pop"C-type*Pc*Pm 2 4.4B4E-14 1.0054 0.4623
pop“C-type*M-type*Pm 32 3.428E-14 0.7681 0.8186
pop*Pe*M-type*Pm 18 1.33E-14 0.5984 0.8969
Ctype*Pc*M-type*Fm a2 2,023E-14 0.4534 0.9960
pop*C-type*Pc M-type™Pm 64 6.164E-14 0.6932 0.9635
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pop masn Gyt= 00000000023 |  RecBy L ) : 0,0000000%04 » R2 L]
0 0.0012345807 =217 0.0000000083 itw 8 H 0.0000000142 » K3 L]
15 0.001 2348701 ri= 392 0.0000000008 Hwe 0.0000000038 < A2 -
L] 0.001Z345739
Ctype masn Oy= 00000000020 | Rer'Byt X v OBX 00000000088 > RZ ™
[+ § 0.001 2345501 [rolF 54 0.0000000081 X w P 4.0000000092 » RY L]
oBX 0.001 2345600 ri= 202 £.0000000088 ot v PRX 0.0000000092 > R4 L]
P 0,001 2345873 e 302 0.0000000084 X w OX 0.0000000221 » RS L]
Pax 0.0012345873 ri= 308 0.0000000081 anx w P 00000000007 « R2 -
ox 0.0012345802 QX va PBX 2.0000000007 « RO -
OBX w OX £.0000000138 > R4 [ ]
PACX ve PEX 0.0000000000 <« A2 -
PMX va OX b.M0OU0129 > R ™
PEX w OX 0.0000000129 > M2 ™
Miype [ ] Oy 0.000000002% | RerSyl Rasuf va In 0000000471 > RZ L]
Rarct 0.0012345558 = an £0.0000000083 Rent® w Rg-£x 0000000025 » R L]
™ 00012345700 A= 202 0000000094 e w Rafx 0.0000000080 > FZ g
Re-Ex 0.001 2345709
Pm masn Oy= 00000000023 |  Ror'Byl ¢iw 02 H 0.0000000142 » R u
|3 0.001 27345800 raw 277 4.0000000083 01w 03 H 0.0000000248 > RY L]
o2 0.0017348702 = 20 0.0000000058 02w 03 H ©.000000007Y > R alg
ny 0.0012348775
wimfinof Diuwigfedunudod 0.9s
Popuiation Size 10
Crosscver Type 1034
Pe Vufhindndy
Mutstion Type Random sequence
Pm 0.1
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AN .11 ANOVA , Duncan's muttiple range test usswiriihnefilinaneuraoymuesvesniriinmao 3.1.11

Source DF Sum of Squares Mean Square F-Ratio

Model 404 7.0721e-13 1.768-15 1.8234

Ervor 405 3.8862e-13 9.66-16 Prob>F

Total 80O 1.086e-12 <0.0001
SOUTCS DF Sum of Squares F<atio Prob>F
pop 2 1.75E-14 0.1387 0.0001
C-type 4 5.02€-14 13.0875 <0.0001
Pc 2 2.09E-14 10,8878 <0,0001
M-type 2 5,36E-14 27.8093 «0,0001
Pm 2 8.04E-14 41.8624 <0,0001
|pop*C-type B 1.84E-14 2.1318 0.0319
pop*Pe 4 9,83E-18 0.2559 0.608
pop*M-type 4 3.30€-14 8.8032 <0.0001
pop*Pm 4 8.03E-15 2.3515 0.5035
Ctype*Pe 8 3.78E-16 0.4916 0.8622
C-ype"M-ype 8 1,70E-14 2.2167 0.0256
C-type*Pm 8 1.27E-14 1.8585 0.1067
[Pc*M-type 4 3.42E-15 0.8914 0.4690
Pe*Pm 4 9.99€-15 2.6010 0.0357
M-type*Pm 4 7.92E-15 2.0632 0,0849
pop*C-type*Pc 18 2.81E-14 1.8275 0.0250
pop*C-type*Miype 16 1.47E-14 0.7647 0.7258
pop"C-type*Pm 18 1.85€-14 1,0763 0.3757
pop*Pc*M-type 8 2.79E-15 0.3837 0.9396
pop*Pc*Pm 8 1,30E-14 1.6004 0.0988
pop*M-type*Pm 8 8.87E-15 1.1546 0.3257
C-type*Pc*M-type 16 1.71E-14 1,1105 0.3425
C-type*Pc*Pm 16 1,36€-14 0.8843 0.5879
C-type*M-type*Pr 16 3.63E-14 2.3841 0.0023
Pc*M-type*Pm 8 7.84E-15 1.0340 0.4005
pop"C-type*PeM-type 3z 3.19E-14 1.0387 0.4127
pop*C-type*Pe"Pm 32 341E-14 1.1087 0.3156
pop*C-type*M-type*Pm 32 2.65E-14 0.8623 0.6356
pop"Pc*M-type"Pm 18 9.18E-15 0.5077 0.8860
Ctype*Pc"M-type"Pm 32 4.30E-14 1.4005 0.0761
pop*C-type*Pc*M-type*Pm 64 8.97E-14 1.1351 0.2353
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<p mann Syb=  0.0000000010 Ryl ow 1d 0.0000000033 « R [ ]
10 0.001 234584 = 2.7 0.0000000052 Ww B H 0.0000000114 « RY g
15 O.Wlﬂﬂﬂ'" = 292 £.0000000088 twm b 0,0000000081 - R2 wig
] 0.0012345758
Ciyow masn By 000000004 | PnrByl X w 08X 0.0000000078 > A2 "
cX 0.001.2345588 rm 1YY 00000000087 CX wva PNDC 0.0000000117 » R} L]
oax 0.0012545041 = 2% 0.0000000071 CX w PRX 0.000K0123 > R4 g
Pl 0.001 2345855 e 302 - 0.000000007 4 CX w QX 0.0000000241 > RS [ ]
Pix 0.0012343881 T 0.0000000076 OB w P 00000000044  « RZ -
o 0.0 758800 oaxX v PBX 0.0000000080 « RY .
obx v OX 0.0000000188 > AL w
PO v PRX 0.0000000008 < K2 .
P v OX 0.0000000124 > Ry g
PO w OX 0.0000000118 > K2 iy
o masn By 00000000018 |  Reriit 0B w 07 0000000003 =« RZ .
08 0.0012348828 = 277 ©.0000000052 05w 08 P 00000000120 < R "
07 0,0012345881 A= 102 0.000000008% orw 08 { 0.0000000087 « K2 P
LY 0.0012345742
Miyps Wt Syl 0.0000000019 |  Reriyl Ronst v bt 0000000000 < RZ -
farcs 0,001 2345800 = 377 0.6000000082 Raxts w AsEx @ DOCOCOCDYSR  « R3 5
it 0.0012%4567% o= @ 0,0000000088 el v Rk 00000000100 < R2 g
Pa-Ex 0.001 7345779
Pm [ ] Byl=  {.0000000018 RerByl 0t v 02 H 0.0DDDINIDISE « A2 ]
0.1 0.6017348547 @ 277 0.0000000082 01w 03 T 0.000000024D < RO ™
02 0,0012345703 = 2m 0.0000000088 02w 03 $ DOONOOON < K2 w
03 0.001 7948707
Pc-Pm mann Syi=  0.0000000033 R Byl 0501w 0701 H 0.0000000008 « A7 -
0.8-0.1 0.00 1785002 e o % 1 0,0000000090 0501 w G801 H 0.00000001 80 <R3 L]
0.7=0.1 0.0012545488 3= 297 0,0000000095 0.1-0.t v 0.8-01 H 0.0000000183 « RZ g
0801 0.0012345871 -
winflinef ﬂﬁuhﬁqﬁti’umwaﬁoﬁu 0.95
Population Size 10
Crossover Type CX
Pc 0.5,0.7
Mutstion Typa Random sequence
Pm 0.1
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Fagmapil7ened [3001uTH1A 6 UKKN FWALHWNYINTK W120.75 W220.25

ATV 9.12 ANOVA , Duncan's multiple range test unzminfinofiluanaurimovanssyosmeiinried o.1.12

Source DF Sum of Squares Mean Square F-Ratio
Model 404 4.8325e-13 1.22e-15 1.5886
Error 405 3.1105e-13 71.7e-16 Prob>F
Total 809 8.040e-13 <0.0001
source DF Sum of Squarss F-ratio Prob>F|
pop 2 1.63E-14 10,8184 «<0.0001
C-ype 4 3A72E-14 12.0061 <0.0001
Pe 2 1.56E-14 10.1638 <0.0001
M-type 2 2.20E-11 14,8533 <0.0001
|Pm 2 2.84E-14 18.4310 «0.0001
lpop*C-type 8 2.17E-14 3.430 0.0008
pop“Pc 4 9.46E-16 0.3072 0.8731
pop*M-type 4 2.B4E-14, 9.2109 <0,0001
pop*Pm 4 5.89E-15 1.9138 0.1073
C-type*Pc 8 8.60E-18 1.4108 0.1608
C-type*M-type 8 1.03E-14 1.6850 0.1051
C-ltype'Pm 8 5.02E-15 0.8149 0.5898
Pc*M-type 4 8.91E-16 0.3221 0.8632
Pc'Pm 4 3.01E-15 11725 0.3224
M-type*Pm 4 3,35E-15 1.06892 0.3614
pop*C-type*Pc 16 1.17E-14 0.8513 0.5102
pop“C-type*Mtype 16 2.26E-14 1.8337 0.02562
pop*C-type*Pm 16 1.51E-14 1.2255 0.2448
pop*Pc*M-type 8 5.40E-15 0.8788 0.5343
pop*Pc*Pm 8 4.53E-15 0.7355 0.6601
lpop*M-type'Pm 8 6.55E-15 1.0847 0.387Q
C-type*Pc*M-type 16 1.54E-14 1.2474 0.2286
C-type*Pe'Pm . 16 2.85E-14 2.3181 0.0028
C-type*M-type™Pm 18 1.14E-14 0.9251 0.5403
Pc*M-type*Pm 8 4.37E-15 0.7091 0.6836
pop"C-type*Pc"M-type a2 2.05E-14 0.8313 0.7315
pop"C-type*Pc’Pm 2 2.16E-14 0.8784 0.6609
pop*C-type*M-type*Pm az 1.98E-14 0.8020 0.7714
pop*Pc*M-type*Pm 16 1.04E-14 1.5779 0.0714
Clype*Pc*M-type*Pm 32 2.71E-14 1.1022 0.3253
pop"C-type*Pc*M-type*Pm 64 5.06E-14 1.0289 0.4262
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P maan Sy 0.0000099017 |  Feroy 10 w 18 0.0000000085  » RZ -
10 0.001 2348424 ™= 277 £.0000000047 0w e 0.0000000100 > R3 "
15 00012345088 e 252 0,0000000045 Bwt 0.0000000044 < R2 -
¢ 0.001234873%0
Ctype maar Sym 0.0000000022 |  RerSyl Cx v P, 0.0000000038 < A2 .
ex .0012345000 2= 277 0.0000000060 €X v OBX 0.0000000054  « RY .
P 0.0012308847 A 282 €,0000000004 CX v POX 00000000080 < R4 .
oBx £.0012345883 M= 302 0.0000000088 X v Ox 00000000199 > RS "
PEX 0.0012345680 1S 30 ©.0000000087 PAX w OB 0.0000000018 <« R2 .
ox .0012345808 PAX w PBX 0.0000000022 « R -
PAX va OX 00000000161 > PM o,
08X w PBX 0.0000000008 « A2 -
o8X wm OX 0.000000143 » RY L]
PRX W OX 0.00000001% > R2 "y
Po s mamn Sye 0.0000000017 |  Rerap 08w 07 0.0000000040 < A2 .
s 0.0012345630 = 21 0,6000000047 D8 v 09 Q.000000N0T > RY ™
o7 0.0012345070 M= 202 0.0000000045 07 w 08 0.0000000087 > A2 g
0 0001245737
type ween Byl= 0.0000000017 |  Rertyl RandS v et 0.0000000038 < RZ -
Aanas 0.0012345825 @= 277 0.000000047 ParstS v Re-Ex 0.000000128 > R3 g
it 0.0012345001 = 282 ©.0000000040 e v Re-Ex ¢.0000000000 > A2 ”
Ra-Ex 0.0012345751
Pm mamn Jyl= 0.0000000017 |  RerByl 01 v 02 0.0000000071 > A2 "
01 0.0012348607 = 277 £.0000000047 01w 03 0.0000000148 > R3 -
02 0.0012345878 = 20 £.0000000049 02w 02 00000000074 > A2 "
03 0.0012348782
pac-Miyps mesn Sy 00000000029 |  FerByl 10-Rand® vo 10-na1 0.0000000178 > RZ ™
10-Rancs | 0.0012348485 =277 0.000000008 1 10-RandS v 10-Refx 0.0000000%2% > RY oy
10-inas 0.0012545630 e 262 0.0000000085 10-inmd v 10-ReEx 0.0000000148  » R2 "y
10-ReEx 0.0012348778
£0-Cltype masn Syic 8.0000000038 | | Perty 10-PBX v 10-OMX 00000000082  « AZ .
10-PBX 0.0012348522 = 277 0.0000000105 10-PBX va 10-08X 0.0000000085  « R -
10-OMX 0.0012348874 r3a 202 0.0000000110 10-PEX v 10-CX 0.0000000149 > R4 "y
10-08x 00012348877 = 302 £.0000000114 10-PEX v 10-0X 0.00000007% > RS "
10-CX 0.0012345671 e 3.09 0.0000000117 10-0MX ve  10-08X £.0000000003 < R2 .
160X 0.0012345780 10-0MX v 10-CX 0.0000000087 = R3 -
10-OMX va 10-0% 00000000188 > Ra g
10-0BX vs 16-CX 0.0000000084  x A2 -
10.08% v 10-0X 0.0000000183 > A3 "
10-CX w 10-0X 0.0000000080 < A2 .
virfinef Ibdeyfirdunnudodu 0.95
Population Size 10
Crossover Type PBX{pop*Ctype)
Pc 05,07
Mutation Type Random sequence {pop“Mtype)
Pm 0.1
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A 1M 9.13 ANOVA . Duncen's multipie range test wazwinfino filuanevdmovmuosvasmabinreo 1.1.13

Source DF Sum of Squares Mean Square " F-Ratio

Model 404 8.0756e-12 2.25e-14 6.5691

Error 405 1.3787e-12 3.46-15 Prob>F

Total 808 1.0454e-11 <0,0001
source DF Sum of Squares Fratio Prob>F
pop 2 7.32E-12 1061.0540 <0.0001
C-type 4 2.T7E-14 2.0334 0.0880
Pe 2 6,58E-15 0.9641 0.3522
M-type 2 4,50E-14 : 6.8054 0.0015
Pm 2 3.25E-14 4.7877 0.0080
pop*C-type 8 2.11E-14 0.7738 0.8262
pop*Pc 4 1.83E-14 1.3450 0.2525
pop*M-type 4 1.14E-14 0.8390 0.5010
pop*Pm 4 1.28E-14 0.8400 0.4408
C-ype*Pc 8 2,10E-14 0.7698 0.6290
C-type*M-type e 2.49E-14 0.9154 0.5035
CAype*Pm 8 3.34E-14 1.2264 0.2818
Pe*M-type . 4 1.09E-14 0.8017 0.5248
Pe*Pm 4 1.55E-14 : 11370 0.3388
M-type*Pm 4 3.46E-14 2.2369 0.0644
pop°C-type*Pec 16 3.85E-14 0.7080 0.7885
pop”C-type*Miype 16 0.80E-14 1.2655 0.2159
pop*C-type*Pm 16 6.27E-14 1.1503 0.3062
pop*Pc*M-lype 8 1.45E-14 0.5338 0.8310
pop*Pc*Pm 8 8.26E-15 0.3034 0.9646
pop*M-type*Pm 8 2,91E-14 1.0703 0.3828
C-type*Pc*M-lype 18 4.50E-14 0.8253 0.6568
C-type*Pc*Pm 16 1.5£E-13 2.785¢ 0.0003
C-typa'M-type'Pm 18 8.43E+14 1.5488 0.0804
Pc*M-type*Pm 8 1.44E-14 0.5303 0.8338
pop*C-type*Pc M-type a2 1.26E-13 1.1604 0.2554
pop*C-type*Pc*Pm » 2.84E-13 2.6089 <0.0001
pop*C-type*M-type*Pm 32 1.89E-13 1.7374 0.0089
pop*Pc*M-type*Fm 18 5.98E-14 1.0847 0.3673
Ctype*Pc*M-typs*Pm 32 1.08E-13 0.8919 0.4830

pop*C-type™Pe"M-type*Pm 64 2.56€-13 1.1742 0.1826
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PP ma-n By=  0.0000000038 Rur By v 10 0.0000001997 > RZ g
L] 0.00 122343 = 277 0.0000000090 &w 18 0.0000002010 > R ulg
10 0,001 48340 e 282 0,0000000104 1w 18 4.0000000013 « R2 -
11 0.0012348383
Miypw L] Sy 0.0000000038 |.° Rer'Syl et v Rand 0.0000000000 = K2 -
inst 0.001 345022 =277 0.0000000008 Insi v Re-Ex 0.0000000182 = R3 (]
Rand 0.001 234503 ¢ ri= 202 0.0000000104 Rand® w Pe-Bx 0.0000000153 » RZ (]
Ra-Ex 0.001 2345784
P mean By 0.0000000033 [  Femrsy 01w 02 o.como00N 4 > R2 o
0.1 0.001 2345502 =27 0.0000000084 01w 03 0.0000000148 > R3 olg
02 0.0012345708 "= 292 0.0000000104 02w 03 20000000034 < A2 -
03 0.0012345740
winfined flvidgfedunrudody 095
Population Sze 8
Crossover Type lithivdy
Fe 'l:lﬂ\l'uhr'fm
Mutation Type Random sequence, insertion -
Pm 01
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3.1.44. Swmziaruulalrwiianamuizanyesdinny uammasesfywidelsseauyy

Faguarsdizeod T3onnowie 6 uawn Awnuannlalivitgy Wi=0,50 W2=0.50

AVTWA 3,14 ANOVA , Duncen's nusttipie rengs fest urewrriline FAldusnousmovmupsveinziinTid 9.1.14

Source DF Sum of Squares Mean Square F-Ratio

Model 404 3.3915e-12 1.58a-14 3.3260

Ervor 405 1.82640-12 4.766-15 Prob>F

Total 308 8.31790-12 <0.0001
BOUTCS OF Sum of Squarss Fratio Prob>F
pop 2 4.26E-12 4475415 <0.0001
Citype 4 3.346-14 17574 0.1366
Pe 2 3.35E-15 0.3516 0.7037
M-type 2 2.44E-14 2.5614 0.0784
Pm 2 3.73E-14 39178 0.0206
pop'C-ype 8 1.46E-14 0.3806 0.9308
pop'Pc 4 2.91E-14 15299 0.1926
pop*M-type 4 9.85E-14 19207 0.1081
pop*Pm 4 4.B5E-14 2.5479 0.0380
Cetype*Pe 8 8.03E-14 15838 12770
C-type*M-type 8 7.04E-14 1.8509 0.0883
C-type"Pm 8 1,286-14 0.3367 0.9515
PoMdype 4 2.77€-15 01454 0.9650
PePm 4 1.08E-14 0.5696 0.6848
M-type*Pm 4 8.04E-15 0.4867 0.7580
pop*C-type*Pe 16 2.24E-14 0.2942 0.9968
pop*C-type*Mtype 18 7.87E-14 1.0341 0.4190
Bop*C-type*Pm 18 7.496-14 0.9841 0.4732
pop"Pe*M-type 5.50E-14 0.4454 0.1757
pop*Pc*Pm 2.47E-14 0.6407 0.7357
pop*M-type*Pm 2.09E-14 0.5504 0.8182
C-type*Pe"M-type 16 1.16E-13 1.5208 0.0859
C-type*Pc*Pm 16 7.16E-14 0.9400 0.5220
C-type*M-type"Prm 16 7.18E-14 0.9319 0.5324
Pc*M-typa*Pm 8 5.36E-14 1.4081 0.1906
Pop’C-type*Pe*M-type 3z 1.83€-13 1.2047 0.2093
pop*C-type*Pe"Pm 3z 1.06E-13 1.0822 0.3933
pop*C-type*M-type*Pm 32 1.96€-13 1.2696 0.1385
pop*Pc*M-type*Pm 16 7.05-14 0.9265 0.5367
Ctype*Pe*M-typa“Pm 2 1.95€-13 1.2800 0.1454
pop*C-type*Pe*M-typa*Pm 84 3.46E-13 1.1373 0.2313




Duncan’s multipls rages test 909N 1IhATIV A INUUTUTIN 0.1.14
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pop L] Byi=  0.0000000042 Rer"dyl w10 H 00000151 = R2 sp
L] 0.0012344854 rim 277 0.0000000118 tw 15 H 0.000000154 > RY (]
10 0.0012340188 = 202 0.5000000123 10vs 18 H 0.0000000013 < R2 -
AL C.o0A 24808
Pm —n Byi=  0.0000000042 Rer*Byl 01w 02 H 0.00000000T4 =« R2 .
0.1 .00 23500 = 277 0.00000116 91w Q1) H £.0000000568 > A3 [ ]
0.2 0.0012045073 s 2602 0,0000000123 02w 03 : 0.0000000062 < A2 .
03 0.00123457e8
winfinod ilukdgisdunrdodu 0.05
Population Siza 8
GCrosscver Type hifiiudniny
e Vifhiuddy
Mutation Type ity
Pm 0.1
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1.1.15. aTsanuuninuiianuminsauyssdiasy sammasesifgmidlaamuuy

Taquanuilzzma [T997UYW19 6 Uann Auflurunlalivinfin Wis0.75 w2e0.25

RITNT 9,15 ANOVA , Duncen's multiple range tast ussvamfinefidunnourmeumauosyosmasiericd 9.1.15

Source DF Sum of Squares Mean Square F-Ratio

Model 404 5.49720-12 1.38e-14 1.2840

Error 405 4.292e-12 1.06e-14 Prob>F

Total 808 9.7893e-12 <0.0001
source DF Sum of Squares Fratio Prob>F
pop 2 T.43E-13 35.0322 «0.0001
C-type 4 6.77E-14 1.5623 0.1781
Pc 2 5.76E-14 2.7148 0.0874
M-type 2 6.70E-14 3.1608 0.0434
Pm 2 1.92E-14 0.9048 0.4054
pap*C-type 8 2.01E-13 23701 0.0167
pop*Pc 4 7.58E-14 1.7825 0.1314
\pop'M-typo 4 5.84E-14 1.3314 0.2875
pop"Pm 4 5.48E-14 1.2030 0.2721
C-type*Pc 8 4.87E-14 0.5748 0.7987
C-type*N-type ] 4.20E-14 0.5083 0.8517
C-type*Pm 8 1.10E-13 1.2042 0.2447
Pc*M-type 4 4,02E-14 0.8475 0.4364
Pc'Pm 4 2.76E-14 0.6511 0.6264
M-type*Pm 4 4.97E-14 14717 0.3227
pop*C-type*Pc 16 1.32E-13 0.7605 0.7081
pop*C-type*Mtype - 16 1,83E-13 1.0874 0.3737|
pop"C-type*Pm 16 1.81E-13 1.0700 0.3820
pop*Pe*M-type 8 5.86E-14 0.6046 0,69684
pop*Pc*Pm 1.37E-13 16120 0.1193
pop*M-type*Pm 1.32E-13 1.5508 0.1350
C-type*Pc*M-typs 18 2.85E-13 15611 0.0762
C-type*Pc’Pm 16 1.80E-13 1.1176 0.3258
C-type*M-type*Pm 16 8.45E-14 0.4881 0.9481
Pc*M-type*Pm 8 7.50E-14 0.8953 0.5203
pop"C-type*Pc*M-type 32 2,93E-13 0.8633 0.6841
pop*C-type'Pe'Pm 32 4.43E-13 1,3055 0.1276
pop*C-typa*M-type*Pm 2 4.58E-13 1.3504 0.1005
pop*Pc*M-type*Pm 16 1.08E-13 0.6435 0.8482
Ctypa*Pe*M-type*Pm 2 3,38E-13 0,9898 0.4801
lpop*C-type‘Pe*M-type*Pm 64 7.60E-13 1.1208 0.2568
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pop ™ Byl 000000083 Rer Syt Www i3 £, 0000000804 » K2 ag
10 0,001 7345254 = 277 000000001 T4 10w 6 0.9000000682 » R3 g
15 0.001 7345840 = 202 0.0000000183 1w 8 0.0000000088 < A2 -
L] 0.0012348938
iype mesn Syi= ¢ 00DDOODOSY Pesr*Bpl Rand va inst 0.0000000084 « A2 -
Rand 100013345500 =21 ©0.0000000174 Rantd v Ra-Ex 0.00000002 14 *» Ry g
Inet 0.001 7548844 = 2w 0.0000000183 el v» Re-Ex 0.0000000160 - B2 -
Re-Ex 0.001 7345004
pab'Cipye ] Sy= 0.00000001401 Rer'By 10-CX v HO-PADX 0.0000000128 < R2 -
0L 0.0012344800 @ 277 0.0000000388 100X v 10.08X 00000000368 B3 .
16P0r | 00012345028 ne 292 00000000409 106X va 1058 50000000700 = Ri g
10-08x O O Tsse = 3402 60000000423 10-CX v 10O 0.0000000708 » AS gy
e o00tzsasac0 { | e 350 ©.0000000433 10-PAOC va 10-08K 0000000028 < A2 .
10-0K 0.001 2345803 16-PMX v 10-PB ©.00000005 72 » R3 g
10-PuX v  10-0X 0.0000000878 » R4 aig
10-08X v 16-PB 0.0000000341 « A2 -
10-08X W 10-0X 0.0000000344 < R .
10-PBX w 10000 0.0000000003 « 2 -
winfinef SludAgfirdunranSosn 0,95
Population Size 10
Crossover Type CX(pop*Ctype)
Pe Tithinddy
Mutation Type Random saquence
Pm Taifiiud iy
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RITW 9.8 ANOVA , Duncen's multipie range test uszyinflineAluaneuimovmisvosmsinmed 5.1.16

Source DF Sum of Squares Mean Square F-Ratio

Model 404 9.8302e-14 2.438-16 1.8433

Error 405 5.3462e-14 1.32e-16 Prob>F

Total 809 1.5174e-12 <0.0001
source DF Sum of Squanres F-ratio Prob>F
pop 2 3.13E-15 11,8708 <0.0001
C-type 4 9.48E-15 17.9582 <(0.0001
Pc 2 3.15E-15 11.9333 <0.0001
. |M-type 2 1.68E-14 63.5758 <0.0001
Pm 2 8.39E-15 24.1076 «<0,0001
pop*C-type 8 1.61E-15 1.5230 0.14T1
pop*Pc 4 2.04E-16 0.3870 0.5180
pop*M-type 4 1.30E-15 24678 0.0444
pop*Pm 4 - 8.78E-18 1.2849 0.2752
C-typa*Pc 8 9.53E-18 0.8028 0.5141
C-type*M-type 8 5.82E-15 5.3240 <0,0001
C-type'Pm 8 2.83E-15 26834 ) 0.0070
Pc*M-type 4 5.34E-16 1.0113 0.4013
Pc*Pm 4 3.95E-18 0.7480 0.5588
M-typa*Pm 4 1.02E-15 1.8311 0.1044
pop*C-type*Pe 18 2.20E-15 1,0409 04118
pop*C-typs*Mtyps 18 1.86E-15 0.8818 0.5907
pap"C-type*Pm 18 2.84E-15 1,3928 0.1412
pop*Pc*M-type 8 8.04E-18 0.5723 0.8007
pop*PePm 6.T2E-16 0.6388 0.7469
pop*M-type*Pm 7.96E-16 0.7534 0.6442
C-type*Pc*M-type 16 243E-15 1.1525 0.3043
C-type’Pc’Pm 16 1.02E-15 0.4830 0.9549
C-type"M-type"Pm 16 3,25E-15 1.5388 0.0826
Pc*M-type*Pm 8 2.68E-15 2.5516 0.0101
pop*C-type*Pc*M-type 32 4.25E-15 1.0053 0.4825
pop*C-type*Pc"Pm 32 347E-15 0.8223 0.7445
pop*C-type*M-type*Pm 32 2.46E-15 05818 0.6682
pop*Pc*M-type*Pm 16 8.88E-18 0.4205 0.9771
Ctype*Pe*M-type*Pm 2 7.07E-15 1.6746 0.0137
pop*C-type*Pc*M-typs*Pm 64 7.60E-15 0.8991 6,931
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pap L] By 0.0000000007 Rur Byl 0w 18 0.0000000083 > AZ L]
10 0,0017345383 2= 21 0.0000000019 10w 20 : 4.0000000112 > RS L]
18 0.0012245068 =282 0.0000000020 15w 2 H 0.0000000018 « A .
20 0.0017345578
Chype m_— Syie  0.0000000008 Fomr Byl X w PX 0.0000000041 > A2 L]
o 0.001238802 = 277 0,0000000025 X w OBX 0.0000000060 > R} nig
Pax 0.0017348843 s 202 0.000000002¢ X v PBX 0.0000000055 » R4 L]
08X 0.001 2345092 ré= 302 0.000000%2T CXw OX £.0000000107 » RS aig
PBX 0.001 7340087 e 308 £.8000000028 PAX v OBX 0.0000000008 <« A2 .
ox 0.001245T09 PMX v PBX £.0000000014 « R3 -
P w OX 0.0000000088 » R4 g
O8X va PBX 0.0000000008 <« R2 -
OBX v OX 0.0000000087 » R} sig
PRX v OX £.0000000082 > R2 sy
Pc m-pan By= 0.0000000007 | Rer'yl PEw 07 : D.OMCOREONM > RZ [ ]
[X] 0.0 2345025 2= 277 £.0000000¢19 08w 08 : 0.0000000048 > R3 ay
0.7 0.0017345881 = 310 0.0000000020 27w 08 L 00000000010 < R2 -
09 00012045874
Miyps _— By=  0.0000000007 R Byl Randd v st 0.0000000088 » R2 ag
Rand3 0.001 7345008 = 277 £.0000000016 Rand® v Re-Ex 0.000000108 > R g
mal 0.0 2340874 1= 292 0.0000000020 el v Fo-Ex 00000000021 » R2 ag
Ra-Ex 0.0012345005
Pm maan Byi=  0,0000000007 Rur"Sy 0w 02 : 0.0000000045 > R2 [ ]
0.1 00012345815 = 217 0.000000001% 01w 0} H 0.0000000068 > RY y
02 0.0012345880 na 29 0.0000000020 02w 03 H 0.0000000023 » A2 L]
03 0.0012345853

winiivned

Il frdunudiodu 095

Popuiation Size
Crossaver Type
Pc
Mutation Type

Pm

10
cXx
0.5

Random sequence

0.1
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21.17. Siamaauulslimdranumansannssdinoy aammaanoiigwidelzauuuy

[~ A [ 3 -
Jaquaudlizsed TH0THIWIA 10 UHKN ARAUHWNIATY W1=0.50 W2=0.50

AT .17 ANOVA , Duncan’s multiple range test urzrislinefidusaousmovminsvosnsiinro 4.1.17

Sourca DF Sum of Squares Mean Square F-Ratio
Model 404 1.5371e-13 3.8e-16 2.0778
Error 405 7.4161e-14 1.83e-16 Prob>F
Tolal 809 2.2787e-13 «0.0001
source OF Sum of Squares F-ratlo Prob>f
pop 2 2.68E-15 7.2694 0.0008
C-type 4 1.85E-14 262817 <0.0001
Pc 2 4,12E-16 1.1252 0.3256
M-type 2 2.19E-14 50.8048 <0.0001
Pm 2 1.74E-14 47.3902 <0.0001
pop*C-type 8 4,24E-15 2.8921 0.0038
pop‘Pe 4 2.81E-16 0.3834 0.8205
pop*M-type 4 4.49E-18 06135 0.8531
pop*Pm 4 8,35E-16 0.8660 0.4838|
C-type’Pc 8 1.69€-15 1.1508 0.3261
C-type*M-type 8 7.50E-15 5.1226 <0.0001
C-ype'Pm 8 4,79E-15 3.2603 0.0013
Pe*M-type 4 2.30E-16 03135 0.8690
Pe'Pm 4 1.91E-15 2.6084 0,0353
M-type*Pm 4 2.50E-15 4122 0.0092
lpop*C-type*Pe 16 3.10E-15 1.0585 0.3937
pop*C-type"Mtype 18 3.23E-15 1.1024 0.3502
pop*C-type*Pm 16 3.61E-15 12322 0.2397
pop P M-type ] 1.08&-15 0.7371 0.8587
pop*Pc*Pm 8 2.87E-15 1.8253 0.0707
pop*M-type*Pm 8 7.20E-16 0.4816 0.8623
C-type*Pc*M-type 16 3.03E-15 1.0327 0.4205
C-lype*Pc"Pm 18 3,18E-15 1.0868 0.3654
C-type*M-type"Pm 16 2.18E-15 0.7364 0.7567
Pc*M-type'Pm 8 2.85E-15 1.8464 0.0520
pap*C-type*Pc"M-type 32 7.03E-15 1.1802 0.2148
pop*C-type*Pc Pm 32 6.90E-15 14777 0.2366
pop*C-type*M-type*Pm 2 6.87E-15 1.1732 02415
pop*Pc*M-type'Pm 16 1.67E-15 0.5705 0.9057
Ctype*Pc*M-type“Pm kr] 6.58E-15 1.1244 0.2974
[pop*C-type*Pc*M-type*Pm 84 1.39E-14 1.1608 0.1643
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pap ramany Syi= 0.0000000008 |  RerSy 16w 15 : 0.0000000034 > RZ g
10 0.0017345854 = 277 £.0000000023 10w 20 : 0.0000000041 > RY g
1% 0.0017345884 = 292 0.0000000024 1w ™ : 00000000007 = RD -
b 0.0012345095
Clype et Syi= 0.0000000011 |  Amrdyl X v PN : 0.0000000041  » R2 iy
cx 0,0012345620 2e 277 0.000000002¢ CX vo PBX : 0.000000008Y > R3 g
P D.0012345081 e 292 0.000000008 { cxX w 08X : 0.0000000085 = R4 0
POX 0.0012345873 rex 3,02 0.0000000032 o w OX : 0.0000000140 > RS iy
oBx 0012348875 Ba 108 0,0000000033 D W PBX : 0.0000000012 < R2 .
ox 0,0012348708 PuX v OBX : 0.0000000014 < RY -
P v OX H ©.0000000108 > Ré [ ]
PAX v OBX : 00000000002 « A2 -
4 X v OX : 0.0000000063 » R3 -y
08X v OX : 0.0000000001  » R2 -
Myps L] Sy 0.0000000008 RSyl Fans® v It H 50000000007 > P2 aig
Rancs 0.00MZ348807 277 0.0000000023 RansS v Ra-Ex : 00000000119  » R} iy
] 0.0012345704 s 292 0.0000000034 et v Ra-Ex : 0.0000000022 « R2 -
Ra-Ex 0,0012345726
Pm masn Sy 0.0000000008 |  Rertyt 01w .02 . : 0.0000000071 > R2 -
0.1 0,001245818 = 277 0.000000002% 01w 03 ; 0.0000000112 > R3 g
02 0.0012345889 e 252 0.0000000024 02w 03 : 0.0000000041 > R2 -y
03 0.001234873¢
™ T
wirfimod ﬂuuhﬁqﬁﬂi’unﬂmﬁauu 0.85
Population Stze 10
Crossover Type CX
Po Lifivigy
Mutation Type Random sequence
Pm 0.1
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9.1.18, Siensanuularwdansminsuyesdiasy aemmassstigmdainuuyy

L * ‘ 1 A
qumm.hzmﬁfumuﬂma 10 UHHN AUTUHKNININY W120,75 W2m0,25

mmr‘r' 4,18 ANOVA , Duncan’'s multipie range test unzmnﬂmfv"fﬂnnau#uaumnmmﬁmmrf v.1.18

Source DF Sum of Squares Mean Square F-Ratio

Model 404 2.33850-13 5.78e-16 1.8538

Error 405 1.2601e-13 3.11e-16 Prob>F

Total 809 3.5867e-13 <0),0001
source DF Sum of Squares F-ratio Prob>F
pop 2 7.31E-15 11.7443 <0,0001
C-type 4 2,72E-14 21,8655 <0,0001
Pc 2 1.71E-15 2.7483 0.0852
M-type 2 4,02E-14 79.0724 <0.0001
Pm 2 1.18E-14 18.9384 <0.0001
pop*C-type 8 4,19E-15 1.6838 0.1004
pop*Pe 4 1.81E-15 1.40 0.2163
pop*M-type 4 6.51E-16 0.5228 0.70
pop*Pm 4 1.49E-15 1.1946 0,326
C-type*Pc 8 5.37E-15 2.1560 0.0288
C-type*M-iype 8 1.31E-14 5.2498 <0.0001
C-type*'Pm 8 5.38E-15 2.1653 0.0300
Pc*M-type 4 8.24E-13 0.8817 0.6189
Pc"Pm 4 1.12E-15 0.8959 0.4683
M-type*Pm 4 2.21E-15 1.7787 0.1326
pop*C-type*Pc 18 2.52E-15 0.5056 0.9444
pop*C-typs*Mtype 18 4.80E-15 0.9645 0.4951
1pop”C-type*Pm 16 4,70E-15 0.9437 0.5189
pop*Pc*M-type 8 3.12E-15 1.2530 0.2668
pop*Pc*Pm ] 2,13E-15 0.8562 0.5537
pop"M-type"Pm 8 1,04E-15 0.4180 0.9102
C-type*Pc*M-type 18 4.82€-15 0.9272 0.5378
C-type*Pc*Pm 16 2.67E-15 0.5362 0.9277
C-type*M-type*Pm 16 3.81E-15 0.7659 0.7245
Pc*M-type’Pm 8 2.08E-15 0.6263 0.5798
pop*C-type*Pc*M-type Y] 9.12€-15 0.9158 0.6024
pop°C-type*Pc'Pm 3 1.23E-14 1.2389 0.1782
pop*C-type*M-type*Pm 32 1.14E-14 11443 0.2737
pop*Pc*M-type*Pm 18 2.5TE-15 0.5155 0.9392
Ctype*Pc"M-type*Pm 2 9.39E-15 0.9426 0.5600
pop*C-type*Pc"M-type*Pm 64 2.41E-14 1.2095 0.1429
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pop mamn Syi= 0.0000000011 | Rurmy Ww 16 0.000G0000M > R2 -
10 0.001 2345847 = 177 0.0000000030 v XN H ©0.0000000073 » RY [
14 0.001 2345880 e 2492 0.000000003 1 1w B H 0.0000000035 » Rl [
F] 0.00173457 18
Cuyps [ ] Syie 0,0000000014 Rertyl X va OBX 0.0002000057 *» R2 alg
X 0.001 2348000 = 277 0.0000000088 CX va FBY 0.00000000TS > R3 wy
08X 0.0012)43857 e 292 00000000040 CX va PWDL a.0000000054 > R4 wig
PRX 0.00125458T4 e 3,02 0.0000000042 O v OX 0.00D0000178 > RS g
P 0017380084 =109 0.0000000043 oBX w PBX 0.0000000018 < RZ .
ox 0.0012345779 OBX v PX 00000000027 < R) .
08X v OX 00000000122 > Ré g
PO w P 0.0000000008 < M7 -
PRX v OX 0.0000000103  » R3 g
PuX va OX 0.0000000085 » R2 =g
Atyps men By 0000000011 Rar'syl Rprs8 v Inst 00000000168 » R2 g
Rars 0.0012345509 = 277 0.0000000030 Renct v ReEx 00000000174 » R3 -~
et 0.0 2345728 = 3.0 0.00000000%( inst v Pe-Ex 0.0000000018 « A .
Ra-Ex 0.001 2045743
Pm oo Sy= 00000000011 |  Rer'syl 0lw 02 : 00000000063 > RZ ™
Y 0.001Z343628 = 17 £.0000RN30 P4 v 03 ;00000000081 » RI "
02 0.0012345091 = 202 £.0000000081 02w 03 D 0.0000000020 < A2 .
03 0.0012340710
vanbinef IlutrgfsdunrwSodu 0.95
Population Sze 10
Crossover Type cX
Pe Lugiutey
Mutation Type Random sequence
Pm 0.1
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2.1.18, SiaTeiaruuddimaarinmsnssneosdinoy mamrmasssgmidalasmuuy

Foaquawazead [70010U1a 10 ukun Anfusunlalirindu w1=025 w2s0.75

A1T97 .19 ANOVA , Duncan's multiple range test uasWITDiND A GHEROUMRBLINDIPEIMTIATIZN 4.1.19

Source DF Sum of Squares Mean Square F-Ratio
Model 404 9.1614¢-13 2.27e-16 1.5242
Error 405 6.0257e-13 1.4%e-15 Prob>F
Total 208 1.5187e-12 <0.,0001
source DF Sum of Squares F-ratio Prob-r
pop 2 3,638E-14 11.8889 <0,0001
C-type 4 2.84E-14 4.9404 0.0007
Pc 2 5,505E-16 0.185 0.8312
M-type 2 1.079E-13 38.2701 <0,0001
Pm 2 $.219E-14 20.898 <0.0001
pop*C-type 8 2.204E-14 1.8517 0.0562
pop*Pe 4 7.078E-15 1.1892 0.3148
pop*M-type 4 1.846E-14 2.7636 0.0273
pop*Pm 4 1.367E-15 0.2297 0.9217
C-type*Pc 8 1.271E-14 1.0682 0.3645
C-type*M-type 8 1,768E-14 1.5018 0.1545
C-type*’Pm 8 2.023E-14 10004 0.0057
Pc*M-type 4 2.723E-14 4.5755 0.0013
Pc'Pm 4 2,386E-1 5 0.401 1 0.6079
M-type*Pm 4 1.891E-15 0.2842 0.8882
pop*C-type"Pc 19 1.565€-14 0.8575 0.6358
pop*C-type*Mtype 18 3.69E-14 1.5502 0.0794
pop*C-type*Pm 18 2.409€-14 1.0118 0.4428
pop*Pc*M-type 8 _ 8,8BE-15 0.73 0.665
pop*Pc*Pm 1.047E-14 0.8790 0.5334
pop*M-type*Pm 8 1,346E-14 1.1322 0.3403
C-type*Pc’M-type 16 1.563E-14 0.6571 0.8359
C-type*Pc*Pm 18 3,146E-14 1.3215 0.1799
C-type*M-type*Pm 16 2.94E-14 1.2351 0.2376
Pc*M-type*Pm B 1,181E-14 0.9925 0.4412
pop"C-type"Pc*M-type a2 5.87E-14 1,233 0.1883
pop*C-type*Pc"Pm 32 5.09E-14 1.0692 0.3684
pop*C-type*M-type*Pm 2 5.994€-14 1.250 0.1615|
pop*Pc’M-type*'Pm 18 2.208E-14 0.9651 0.4945
Ctype*Pc*M-type"Pm a 5.526E-14 1.1806 0.2551
pop*C-type*Pc"M-type*Pm 84 1,083£-13 1.116 0.2644
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pep masn Syi= 0.0000000023 Rer"Byl 0w 16 0.0000000088 < RZ -
10 0.0017345008 2= 277 0,0000000085 T © 00000000160 » R3 -
18 0.0012345884 e 252 0.0000000069 B2 0.000000002 > RZ -
» 0.0012348788
Cype v Sy 0.0000000030 |  Rerep PEX v» 08K 00000000010 < R2 .
pax 0.0012340823 = 277 0.0000000084 PBX v CX 00000000033« R3 .
ey 0.0012345842 = 292 0.0000000089 PEX v PWDX 0.0000000058 < R .
cx 0.0012345858 e 32 £,0000000082 PBX vs OX 000000170 > RS -
P 00017345581 o 300 10000000094 omX v CX 00000000014 < RZ .
ox 0.0012348793 08X v PMX 0.000000063% < R3 .
OBX v QX 0.0000000151 > R4 iy
CX w PWX 0.00000000285 <« R2 -
CxX v OX 0.0000000137 » R} L]
PAX v OX 00000000112 » R2 iy
Mtyrs mean By= 0.0000000023 |  RerByl st v Fgnds 00000000183 > R2 iy
[ 0.0012Z345534 2= 217 0.000000008 st v Refx 00000000282 > RS "y
Rancs 0.0012345687 = 202 £,0000000089 RontS va Refx @ (0000000120 » R2 y
RanEx 0.0012345818
Pm maan By= 0.0000000023 | Rty 0.1 v 02 T 0000000141 » R2 ™~
04 0.0012348502 e 277 0,000000085 04 v 03 ! 00000000210 > R3 -
02 0.0012345703 3= 252 0,0000000068 02w 03 : 00000000008 > R2 -~
03 0.0012348772
nindeef Tivhdgirdummsdoi 085
FPopulation Size 1,15
Croasover Type PMX, CX, PBX, OBX
Pc Tuihivdayy
Mutation Type insertion
Pm 0.1
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0.1.20. SiareiarieutnluaanmEnzaanosdiaoy ammanssiigwidolzsauuuy
Fagumpilizaed Taos ow1a 10 Ursn Anflusannlaininfin Wi=0.50 W220.50

RITNF 4,20 ANOVA , Duncan’s mulliple range test wrrwrniinaFlussousaousussvesmrinncd 4.1.20

Source DF Sum of Squares Maan Square F-Ratio

Model 404 1.7684e-12 4.380-15 1.8547

Evror 405 9,5586e-13 2.360-15 Prob>F

Total 809 2.71438-12 <0.0001
BOUNCS DF Sum of Squares F-ratio Prob>F
pop 2 2.602E-14 55133 0.0043
C-typs 4 3.708E-14 3.9212 0.0039
Pc 2 1.862E-16 0.0384 0.9613
M-type 2 2.053E-13 43.4019 <0.0001
Pm 2 1.141E-13 24.1850 «<0,0001
pop*C-type 8 1.087E-09 0.9807 0.4428
pop*Pc 4 8.326E-15 0.8700 0.8131
pop"M-type 4 7.48E-15 0.7023 0.5306
pop*Pm 4 2.581E-14 27123 0.0297
C-type*Pc 8 1.101E-14 0.5831 0.7919
C-type*M-typs 8 3.388E-14 1.7946 0.0764
C-type*Pm 8 1.919E-14 1.0164 0.4228
Pc*M-type 4 1.148E-14 1.2175 0.3027
Pc"Pm 4 7.038E-15 0.7453 - 0.5800
M-type'Pm 4 4.737E-15 0.5017 0,7345
pop"C-type*Pc 16 5.924E-14 1.3588 0.0740
pop"C-typs*Mtype 18 5,389E-14 1.4138 ‘ 0.1311
pop*C-type'Pm 18 3.7T20E-14 0.9875 0.4604
pop*Pc*M-type 8 3.206E-14 1.6992 0.0067
pop*'Pc'Pm 8 1.77BE-14 0.9415 0.4819
pop*M-type*Pm 8 2.484E-14 13158 0.2337
C-type"Pc*M-type 16 7.247E-14 1.9120 0.0175
C-type*Pc*Pm 18 8.044E-14 1.6008 0.0054
C-type*M-type*Pm 16 5.395E-14 1.4287 0.1243
Pe*M-type*Pm \ 8 3.846E-14 18311 0.0540
pop*C-type*Pc*M-type 32 1,435E-13 0.0000 0.0027
pop*C-type*Pc"Pm a2 1.702E-13 2.2529 0.0002
pop*C-type*M-type*Pm a2 9.827E-14 - 1.3012 0.1305
pop*PetM-type'Pm 18 7.084E-14 1.8167 0,0208
Ctype*Pc*M-type*Pm 32 1.191E-13 1.5765 0.0261

pop*C-typa*Pe*M-type*Pm 64 1,805€-13 1.2614 0.0969
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pop mean Syin 0.0000000030 |  Reriyd 10 w 15 . 00000000099 > RZ o
10 0.0012348001 rim 277 £.0000000082 ww o ! 00000000134 > RS ”
15 0,001 2348790 A= 23 0.0000000088 1w 2 0.0000000038 < RZ .
™ 0.00+2343734
Ctyps prowy By 0,0000000038 | Ryl 08X v A 0.0000000016 < R2 .
o 0.0012343807 1= 277 20000000106 OfX v CX 0000M00074 <« K3 .
PMX 0.0012348023 = 242 0.0000005111 OBK ve PBX 0.0000000077 = R4 .
ex 0.0012843881 rée 302 00000000116 0BX v OX 0.0000000165 = RS -
Pex 0.0 zIM084 e 300 0,0000000118 PMX w CX 00000000058  « K2 -
ox 0.0017345800 PMX v PBX 0.0000000081 < R3 .
PMX v OX 0.0000000177 > Ad g
CX v PBX 0.0000000003 < R2 .
CX v OX 0.000000011% > R3 "
PEX v OX 00000000118 > RZ sig
Aiype mamn Syin 00000000080 ]  RerByl bl v ReEx oo000000ME > R2 aig
et 0.00173a5488 2 277 0.0000000082 Wl v Randd 00000000383 > RO g
Pa-£x 0.001Z348774 T 0.0000009080 Fe£x w Randd 000000000 « R2 .
Raruis £.0012345808
P masn Byl 0.0000000030 | RSyl 01w 02 T 0.0000000118 > A2 g
01 0.0017348844 @= 7 00000000082 01w 03 : 0000000028 > RO g
02 0.0047345000 = 282 0.0000000088 82w 03 00000060173 > AZ "y
03 0.00123458%)
wmilned IubhAgRzeunmuel 0.95
Population Size 10
Crossover Type PMX, CX, PBX, OBX
Pe hifidudey
Mutation Typa insertion
Pm 0.1
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0.1.21. Slwnsianuuliniiudanuminsiuyesmasy sanmaansiignifelzsamuuy

Faguaturzsed 13007M8uIA 10 usnn AnAuaunliirinfie W1s0.75 W2u0.25

RN 9.21 ANOVA , Duncan’s multiple range test uszwiT1ine fiinanoureoymiossesnyiinmzd 1.1.21

Source DF Sum of Squares Masan Square F-Ratio

Model 404 2.5062e-12 6.20-15 1.4408

Error 405 1.7329e-12 4.28e-15 Prob>F

Total 809 4.23916-12 <0.0001
soUurce DF Sum of Squaraes F-ratio Prob>F
pop 2 1,11E-14 1.2918 0.2758
C-type 4 4,85E-14 2,7178 0.0295
Pc 2 1,26E-14 1.4874 0.2317
M-type 2 3.01E-13 35.1283 <0.0001
Pm 2 2.17E-13 25,3235 <0.0001
pop*C-type 8 3,06E-14 0.8911 0,5238
pop*Pc 4 1.18E-14 0.6800 0.5999
pop*M-type 4 2,58E-15 0.1505 0.9627
pop*Pm 4 6.33E-14 4.8800 0.0008
C-type*Pc 8 4,05E-14 1.1837 0.3074
C-type*M-type 8 B.47E-14 1.8006 0.0600
C-type'Pm 8 4.61E-14 1,3454 0.2192
Pc*M-type 4 1.70E-14 0.9646 0.4102
Pc*Pm 4 1.23E-14 0.7203 0.5784
M-type*Pm 4 1.74E-14 1.0157 0.3000
pop*C-type*Pc 16 3.53E-14 0.5162 0.9389
pop*C-type*Mtype 18 9.46E-14 13821 0.1464
pop*C-type*Pm 16 7.48E-14 1.0827 0.3595
pop*Pc*M-type 8 2.67E-14 0.7604 0.8202
pop*Pc*Pm 8.19E-14 1.8091 0.0737
pop*M-type*Pm 8 4,92E-14 1.4364 0.4793
C-type*Pc*M-type 16 7.19E-14 1.0487 0.4027
C-type*Pc*Pm 16 7.26E-14 1.0809 0.3912
C-type*M-type*Pm 16 8.56E-14 1.2533 0.2244
Pc*M-type"Pm 8 2.82E-14 0.8252 0.5807
pop*C-type*Pc*M-type 32 1.88E-13 1.4493 0.0573
pop*C-type*Pc*Pm 2 9.68E-14 0.7070 0.8839
pop*C-type*M-type'Pm a2 1.48E-12 1.0802 0.3544
pop*Pc*M-type*Pm 186, 7.46E-14 1.0893 0.3629
Ctype*Pc*M-type*Pm 32 2.12E-13 1.5491 0.0211
pop*C-type*Pc*M-type*Pm 84 2.62€-13 0,0553 0.5763




Duncan's multiple rages test nevmdiATIEAT MK TUTIN 9.1.21
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Ciype masn Byt 0.0000000081 RerSyl OAX v CX T D.00000OO100  « RZ .
oBx 0.0012345884 = 277 0.0000000142 ORX va PMX T DOO000001I4 < RI .
cx 0.0017345004 e 282 0.0000000160 OBX v PBX T 0.0000001Z3 < R4 .
PMX 0001208573 ra= 3.02 0.0000000158 Ol v OX ¢ QoDpO0D23E > RS ™
pax 0.0012348887 5= 300 0.0000000159 CX va PMX :  0.0000000014 « RZ -
ox 00012345802 X v PBX H 0.0000000023 « A3 -
cX v OK | 090000013 < Re -
Y v PBX H 0.0000000008 < A2
PHX v OX © 10000000124 < AY -
PRX w OX : €.0000000418 < RQ .
Miyps R Sym 0.0000000040 |  FerByt et w Re-Ex : 00000000338 > R2 ™
[ 00013948418 raw 277 0,0000000110 Watw RancS @ 0.0000000484 + R3 "
Re-Ex 0,001 2345784 = 202 0.00000001 16 ReExw RendS @ O00COOOO1IE  » A2 ™
Rand3 0.001 2345809
Pm [ Gylm 0.0000000{60 RSyl 01w 02 H 0.0000000168 » R2 ]
01 0.0012345481 = 277 0.00000001 10 01w 03 D 0.00G000400 > A =
02 0.001234067% o= 20 0.0000000 14 02w 03 : 00000000208 » R2 w
0.3 0,0012345681
Iluingimsunnulo 0.3
Populstion Bize LGy
Crossover Type 0OBX
Tuifidudeny
Mutstion Typs insertion

0.1
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1.1.22. Siansfanuulnlwdanuminzsisasdiney wammasssifgmialasnuuuy
- | [
Toagnapyszaed 13001HEW1A 20 UKD AUAUARNIYIIITK W120.25 W2s0.75

AT 9.22 ANOVA , Duncan’s multiple rangs test uszwrrflinefAluanovsmoumiosmesmsiinred .1.22

Source DF Sum of Squares Maan Square ‘ F-Ratic

Model 404 1,38560-12 3.43-15 1.503

Error 405 9.2418e-13 2.28e-15 Prob>F

Total 808 2.3098e-12 <0.0001
source DF Sum of Squares F-ratio Prob>F
pop 2 6.42E-15 1.4077 0.2459
C-type 4 2.576-14 2.8151 0.0251
Pc 2 4,04E-18 0.0892 0.9147
M-type 2 4,70E-13 102.9184 <0.0001
Pm 2 3.81E-14 8.3518 ' 0.0003
pop*C-type 8 4,26E-14 23321 0.0186
pop"Pc 4 8.68E-15 10815 0.3752
pop*M-type 4 1.84E-14 2.1302, 0.0783
pop*Pm 4 3.72E-15 0.4188 0.7591
C-type*Pc 8 1.88E-14 0.9184 0.5002
C-type"M-type B 5.06E-14 27735 0.0054
C-type*Pm 8 1.42€-14 0.7782 0.6239
Pc*M-type 4 1.16E-14 1.2709 0.2807
Pc'Pm 4 2,60E-15 0.2845 0.8880
M-type*Pm 4 4.00E-15 0.4388 0.7806
pop*C-type*Pc 18 3.28E-14 0.8983 0.5714
pop*C-type*Miype 18 1.59E-14 0.4384 0.9724
pop*C-type"Pm 18 3.37E-14 0.9238 0.5418
pOp*Pc M-type 8 1.61E-14 0.8826 0.5311
pop*Pc*Pm 8 1.45E-14 0.7954 0.8070
pop*M-type*Pm ] 7.03E-15 0.3852 0.9284
C-type*Pc*M-type 18 8.08E-14 1.8845 0.0508
C-type*Pc*Pm 16 2.88E-14 0.7882 0.6994
C-type*M-type*Pm 16 2.998E-14 0.8212 0.6616
Pe*M-typs*Pm 8 1.34E-14 0.7363 ' 0.65%4
pop*C-typs*Pc*M-type 32 5.73E-14 0.7849 0.7953
pop*C-type*Pc*Pm k) 7.96E-14 1.0901 0.3411
pop*C-type*M-type*Pm 32 6.00E-14 0.6277 0.7438
pop*Pc*M-type*Pm 18 ' 255€-14 0.8988 0.7958
Ctype*Pr*M-type*Pm 32 8.59E-14 0.8700 0.6725

pop*C-type*Pc*M-type*Pm 84 1.31E-13 0.6057 0.6989




Duncan’s multiple rages test yosm¥iamsiaruudnim 3,422
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Ciyps meen Syin 0, 0000000C3 Rur By CX w QX H 00000000040  « AR .
cx 0.0012348801 = 217 0.9000000 104 CX va PBX 0.0000000085 < R} -
ox 0.0012340841 =20 0.0000000110 X v 0BX 0.0000020141 » R4 wy
Pax 0,001 2345008 r4e V02 .0000000113 CX va PMX 0.0000000 43 » RS L]
08X 00012844742 ré= 3.09 0.0000000 18 OX w PRX 00000000025 « Rz .
PR 0.0017343744 QX w 08X H 0.0000000101 « 3 -
OX va PWIX 0.0000000103 < R4
% v OBX 0.000000078 < K2 :
PBX va PhEX 0.0000000070 < R -
o8 w P 00000000002« W2 .
ity hean Syl= .0000000029 | RSyl Fand8 v e H 0.0000000270 » R2 ]
RAandd 0.001 7345007 = 277 £.0000000080 Randd w Re-Ex H 00000000888 > RY L]
nst 0.0012245082 = 2.0 0.0000000085 i w Fa-Ex : ©0.0000000%10 » 2 L]
Ra-Ex 0.0012345801
Pm e b= 0.000000002% Rer8yl 01 v 02 : 0.0000000008 > RZ [}
[ &} 0.0012545502 =277 00000000080 01w 03 H 0.0000DOYEE > R L]
[ 5 0.0012545888 = 29 £.0000000085 01w 03 H 0.0000000078 « A2 .
0.3 0,001 245700
wmfinof Ihlugheiunnufoun 0.85
Population Eize Nufhivdny
Crossover Type CX
Pe Tifivduéneity
Mutation Type Random sequence
Pm 0.1
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9.1.23. Sinrsanauiniiudiansnsnzanasdiaey sammasealgmidslssuuuy

1o\qﬂmuﬂ1=aaﬂ" Tra0mauna 20 uuun ARNULHUNLI K W1s0.50 W2=0,50

RIFHT 9.23 ANOVA , Duncan’s multiple range test warmnlinoFlan suneovaugsyasmsiinmien 4.1.23

Source DF Sum of Squares Mesan Square F-Ratio

Model 404 2.0059e-12 519e-15 1.6847

Error ' 405 1.23986-12 3.080-15 Prob>F

Total B0O 3.357s-12 <0.0001
source DF Sum of Squares F-ratio Prob>F
pop 2 2.447E-14 3.9058 0.0101
C-type 4 6.2556-14 51078 0.0005
Pc 2 2.232E-14 3.6460 0.0270
M-type 2 5.580E-13 8.1350 <0,0001
Pm’ 2 9.907E-14 16,1806 <0,0001
pop*C-type 8 4.T1E-14 1.9240 0.0550
pop*Pc 4 1.508E-14 1.2314 0.2069
pop*M-type 4 1.885E-14 1.3588 3.2472
pap*Pm 4 3,022E-14 ‘ 24877 0.3444
C-type*Pc 8 3.819E-14 1.5505 0.1351
C-type*M-type ] 3.801E-14 3,6308 0.0004
C-typs*Pm 8 4.363E-14 1.7805 3.0791
Pc*M-type 4 2.433E-14 1.9872 0.0956
Pc'Pm 4 2.223E-14 1.8153 0.1250
M-type*Pm 4 1.343€-14 0.8513 0.4933
pop*C-type*Pc 16 5.460E-14 1.1166 0.3367
pop*C-type*Miype 18 7.458E-14 1.5226 0.0881
pop*C-type"Pm 16 5.399E-14 1.1023 0.3503
pop*Pc*M-type 8 1.535E-14 0.6266 3,7555
pop*Pe*Pm 8 2.452E-14 1.0012 0.4344
pop*M-type*Pm (] 3.438E-14 1.4029 0.1932
C-type*Pc*M-type 16 4.4436-14 0.9071 0.5612
C-type"Pc*Pm 16 6.593E-14 1.3481 0.1656
C-type*M-type*Pm 18 3.895E-14 0.7544 0.7372
Pc*M-type*Pm 8 2.634E-14 1.1558 3.3249
pop*C-type*Pc*M-type 32 9.325E-14 0.9519 0.5453
pop*C-type*PcPm 2 1.044E-13 1.0656 0.3743
pOp*C-typaM-type*Pm 32 5.776E-14 0.5896 3.0649
pop*Pc*M-type*Pm 16 3.5326-14 0.71211 0.7729
Ctype*Pc"M-type*"Pm R 7.199E-14 0.7349 0.8552

pop*C-type"Pc*M-type*Pm 64 1.968E-13 1.0051 34708




Duncan'a multiple rages test peamziansiarnudnlTm 9.1.23
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pop maan Syle  0.0000000011 Rery 10 v 15 : 0.0000000088 ' > A2 L]
10 00012345608 o= 277 0.0000000029 0w 2 T 00000000133 = A3 oy
15 0.0012348002 = 202 0.000000003 1 18w 20 0.0000000047 > A2 oy
F ©.0017345736
Chypa masn By 00000000014 |  Rerdyl CX v OX 00000000111 » AZ oy
cx ©.00123458%0 e 277 0.0000000038 CX va PARX 00000000188 » A3 g
oX 0.0012345841 = 202 0.0000000040 CX v OBX 0.0000000228 > R4 g
PMX 0.0012345208 4= 302 0.0000000042 CX w PRX 00000000240  » R$ oy
o8x 0.0012345109 = 300 0.0000000042 OX v PN 00000000085 > AZ oy
P8K 0,0012843770 oX v OBX 0.0000000118 > R3 oy
Ox va PBX 0.000000129 > R4 ]
PHX va OBK 0.0000000083 > A7 oy
PMX w PRX 0.0000000074 > R g
GBX v PEX 0.0000000011 < A2 .
[ e By 0,0000000011 | Rer*Syl 08 ve 07 ¢ 00000000103 > RZ g
08 00012345805 = 277 0,000000002¢ 05w 0B i 0.000000019¢ = R3 g
07 0.0012345708 "= 21 00000000031 07 w 08 T 00000000018  « AZ -
0$ 0.0012M57TM
Mtype wanny Syl 00000000011 |  Reryl Rendi v inat T 00000000421 > AT g
Rangtd £.0017340328 2= 277 0,0000000029 Randd s Re-Ex t 0000000831 > R3 g
it 0.0012345749 e 2w 0.0000000031 Il v Re-Ex T 00000000210 » A2 g
Re-Ex €.0012345050
Pm m—_— Syi= 0.0000000011 |  Rer'Byl ot w 02 ! 0.000X00TN > R2 oy
LX) 0.001234854 =27 0.0000000029 o1l w 03 t 00000000271 » RY g
0z 0.0012349681 =20 0009000903 1 01w 03 : 00000000132 » AZ g
o3 0.0012345613
wniimef fivfudfggh: funmudodu 0.95
Population Size 10
Crossover Type CX
¥ 0.5
Mutation Type Random saquence
Pm 0.1
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1.1.24. Stanzenaulsruaianuminiausesdasy sammassstigmdelrscmuy

’s’nqnmuﬂs:mﬁ T300MMUMIA 20 UEWN ARALEWDYINAK W180.75 W280.25

AT 0.24 ANOVA , Duncan’s multiple range tost uszinfino FluneoummoumuosrosmsinTed 9.1.24

Source DF Sum of Squares Maan Square F-Ratio
Model 404 4.084e-12 1.01e-14 1.6068
Emor 405 2.5542e-12 68.31e-15 Prob>F
Total 808 6.6483e-12 <0.0001
source DF Sum of Squares F-ratio Prob>F
pop 2 5.02E-14 3.9789 0.0184
C-type 4 2.06E-13 8,1726 <(,0001
Pc 2 2.7T6E-14 2.1854 0.1138
M-type 2 1.13E-12 80.9083 <0,0001
Pm 2 1.10E-13 8.7085 0.0002
pop*C-type 8 8.69E-14 1.7217 0.0915]
pop*Pc 4 2.0BE-14 0.8248 0.5100
pop*M-type 4 3.33E-14 1.3207 0.2615
pop*Pm 4 2.07E-14 0.8251 0.5097
C-type*Pc 8 4,92E-14 0.9755 0.4445
C-type*M-type 8 9.85E-14 1.9530 0.0511
C-type*Pm & 6.57E-14 1.3020 0.2407
Pc*M-type 4 2.92E-14 1.1568 0,3294
Pe*Pm 4 3.75E-14 1.4870 0.2053
M-typs*Pm 4 2.66E-14 1.0554 0.3783
pop*C-type*Pc 16 1.21E-01 1.202¢ 0.2622
pop*C-type*Miype 18 4.6BE-14 0.4834 0.9630
pop*C-type*Pm 16 6.74E-14 0.5679 0.8259
pop*Pc*M-type 8 5.34E-14 1.0576 0.3921
pop*Pc*Pm 8 4.10E-14 0.8129 0.6915
pop*M-type*Pm 8 2.73E-14 0.5515 0.8094
C-typa*Pc*M-type 16 6.63E-14 0.6574 0.8357
C-type*Pc*Pm 16 1.19E-13 11741 0.2857
C-type*M-type"Pm 16 5.50E-14 0.5452 ' 0.9222
Pc*M-type*Pm 8 7.75E-14 0.3459 0.9475
pop*C-type*Pc"M-type 32 2.39E-13 1.1845 0.2296
pop"C-type*Pc'Pm 32 2.45E-13 . 1.2126 0.2018
pop*C-type*M-type*Pm 32 7.98E-1I3 0.9828 0.4970
pop*Pc*M-type*Pm 16 1.08E-13 1.0684 0.3826
Ctype*Pc"M-type*Pm 32 2.06E-13 1.0199 0.4404
pop*C-type*Pc*M-type*Pm 64 4.86E-13 1.2048 0.1477




Duncan's multiple rages test mavn1TiiaTzeTuuniTm 4.1.24
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pop mian Syl= 0.0000000048 Aeriyt 10 v 18 0.0000000200 » B2 wp
0 0.0012345571 = 277 0.0000000134 10w 20 0.0000000184 > M3 y
15 00012349771 = 2 ©.0000000 41 15w 20 -0.0000000018 < R2 .
0 00012345768
Ctyps s Syl 0,0000000082 |  RerByl Cx v OX 00000000080 < R2 .
cX 0.0017345458 r2s 277 0.0000000173 X va PBX 2.0000000300 > R3 y
ox 0.0012343818 = 292 D.0000000182 X v PMX 0.0000000M8 > Ré w0
PBX 0.0012348738 r4a 302 0.000000CH 88 CcX v OBX 00000000376 > RS wp
X 0.001 27345827 = 308 0.000000C193 OX v PBX 0,0000000248 > R2 ™
OBX 0.00123488M OX va PMX 00000000308 > R W
OX v OBX 0.0000000M¢ » R4 g
PAX w PN 0.0000000088 = R2 .
PEX v OBX 0,0000000078 < R3 .
PMX vs OBX 0.0000000007  « A2 .
Mtyps men Byl=  0.0000000045 Ryt Rand® w Il 0.0000000852 > A2 sy
RAarxis 0.001ZM8X7 2= 2.77 0.0000000134 RandS v PRa-Ex 0.0000000813 > R y
sl 0.0017348708 132 242 0.0000000141 ol v Ra-Ex 0.0000000413 > R2 ™
R-Ex 0.001 38122
Pm maan Sylm 0.0000000048 [  R=rSyl 01 v 02 00000000223 » 2 W
01 0.001275483878 = 277 0.0000000134 0.1 v 03 0.0000000265 » R W
02 0.001 234573 e 282 0.0000000%41 02w 03 0.0000000042 < B2 .
03 00012345781
= - T
wmiivned friuinegfrsfun ey 0.95
Population 3ize 10
Crossover Type CX,0X
Pe 'l:iﬁs‘fuhﬁ'm
Mutetion Type Random sequence
Pm 0.1
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0125, Snreanuulslnudanumnzauzasdasy nantmassiiguidoluwuuy

Foguarpizaed 13001DwIR 20 ukun fuAuannlaivinin wis0.25 w2e0.75

m'nn"f 1,25 ANOVA , Duncen’'s multiple range test un:n’mﬂmnfﬁﬂuannuﬁaaumwmmﬁ:n:n:n'a. 1.256

Source DF Sum of Squares Maan Square F-Ratio

Madel 404 1.8833e-12 4.660-15 1.526

Error 408 1.2416e-12 3.07e-15 Prob>F

Total 800 3.125e-12 <0.0001
s0urce DF Sum of Squares F-ratio Prob>F
pop 2 8.41E-15 1.3718 0.2549
C-type 4 1.75E-13 14.2688 <0.0001
Pc 2 4,18E-15 0.8833 0.5055
M-type 2 4,19E-15 51.5658 <(0.0001
Pm 2 3.16€E-13 19.8002 =0.0001
pop"C-type B 2.02E-14 0.6208 0.5846
pop*Pc 4 6.34E-15 0.8721 0.6116
pop*M-type 4 1.60E-14 1.3055 0.2672
pop*Pm 4 4.81E-14 0.3928 0.8137
C-type*Pc 8 3.04E-14 1.2406 0.2737
C-type*M-type 8 4.85E-14 1.8086 0.0580
C-type*Pm 8 3.22E-14 1.3119 0.2356
PcM-type 4 6.70E-15 0.5464 0.7018
Pe'Pm 4 7.43E-15 0.8057 0.6588
M-type*Pm 4 2.54E-14 2.0897 0.0840
pop*C-type'Pc 18 2.88E-14 0.5878 0.8534
pop*C-type*Mtype 16 3.50E-14 0.7134 0.7809
pop*C-type*Pm 16 5.31E-14 1.0835 0.3866
pop*Pc"M-type 8 1.30E-14, 0.5685 0.8038
pop'Pe*Pm 8 2.T6E-14 1.1255 0.3447
pop"M-type'Pm 6 2.70E-14 1.1000 0.3821
C-type*Pc'M-type 16 7.97E-14 1.8242 0.0596
C-type*Pc*Pm 18 5.30E-14 1.0798 0.3724'
C-type"M-type*Pm 16 7.00E-14 1.4265 0.1253
Pc*M-type*Pm 8 1.186-14 1.8292 0.0700
pop*C-type*Pc"M-type az ' 8.04E-14 0.8196 0.7483
pop*C-type"Pc"Pm R 1.08E-13 1.1102 0.3150
pop*C-type*M-type*Pm 32 1,12E-13 11334 0.2865
pop*Pc"M-type*Pm 18 5.46E-14 1.1122 0.3409
Ctype'Pc'M-_rype'Pm 2 1.06E-13 1.0643 0.3488

pap*C-type*Pe"M-type*Pm 04 1.856-13 " 0.8431 ' 0.7971
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Duncan's multiple rages test soentiameanuulnlm 0.1.25

Ciyps maan Gyle 0.0000000044 |  RerSyl OBX v PBX 00000000078 < R2 .
OBX 0.0012048541 rd= 277 0.0000000121 OBX va PRD( 0.0000000004 = R3 -
PBX 00012345817 ™= 292 0.0000000127 oBX v CX 0.0000000008 « R4 -
P 6.0012345835 t4m 102 0.00000001 31 OBX va OX 00000000 > RS L]
cx Q.00 12345537 e 38 1.0000000135 PBX va PRX 0.0000000018 <« /2 -
ox 0,001 7345084 POX va CX 0.0000000020 =« RY -
POX v OX 0000000347 » R4 L]
PADC va CX 0.0000000002 <« R2 -
PHX va OX 0.000000032¢ » RY L]
CX w OX 0.0000000327 » R2 ]
Miype L Sy 00000000034 Ronr Byt AandS va it : 0.0000000480 > A2 L]
RardS8 0.0012348487 = 277 0.000000006:8 Rardif va Re-Ex : 00000000478 > RS L]
Insd 0,001 2340837 s 182 00000000008 Insl va Ra-Ex H 9.0000000318 > 2 L]
Ra-Ex 000127545043
m i By 0.00000000M | RerByi o1 v 02 T D0000000IeT > R2 ™
K] 0.001234581% = 27T 0.0000000093 01w 03 H 0.000000020¢ » A3 ]
02 0.001345700 ™ 20 0.0000000008 01w D3 H 0.0000000118 » RQ ]
[ ] 0.00THIB1E
mnfined fhiutaghedunnudeli 0.8
Population 5ize Taifisiudney
Croasover Type PMX, CX, PBX, OBX
Pc iy
Mutation Type Random saquence
Pm 0.1
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01.26. Tameiansudnlrwaarsminsaunosdiney rammansaligmifalznuuuy
Fagumenlzed T30mmu10 20 unun FAniusunlaitvniu Wi=0.50 W2=0.50

®I3IF 9,26 ANOVA , Duncen’s multiple range test ursw T ieg fluaRovMeoUmIorm0an 1 T3inTIzN 2.1.26

Source DF Sum of Squares Mean Square F-Ratio

Model 404 1.686240-12 4.81-a15 1.2755

Ervor 405 1.46370-12 3.16e-15 Prob>F

Total 809 3.32160-12 0.0073
sourca DF Sum of Squares F-ratio Prob>F
pop 2 2.437E-15 0.3371 0.7140
C-type 4 7.55€-14 5.2226 0.0004
Pc 2 8.523E-15 1.1791 0.3086
M-type 2 3.350E-13 46.4677 <0.0001
Pm 2 9.267€-14 12.8211 <0,0001
popC-type 8 3.357E-14 T11612 0.3215
pop*Pc 4 2.454E-14 1.6975 0.1497
pop"M-type 4 5,525E-15 0.3822 0.8214
pop*Pm 4 3.735E-15 0.9501 0.4349
C-type*Pc 8 2.597E-14 0.5081 ' 0.5160
C-type"M-type 8 1.338E-14 0.4626 0.8822
C-ype*Pm 8 3.366€-14 1,1710 0.3153
Pe'M-type 4 9.638E-15 0.6667 0.6154
Pc*Pm 4 1.387E-14 0.9594 0.4296
M-typs*Pm 4 9.395€-15 0.6499 0.6272
pop*C-type*P¢ 18 5.152€-14 0.8909 0.5801
pop"C-type*Mtype 16 4,700E-14 0.8143 0.6695
pop*C-type*Pm 16 7.206E-14 1.2482 0.2295
pop*Pc*M-type 8 7.113E-15 0.2460 0.9817
pop*Pc'Pm 8 4,064E-14 ‘14057 0.1920
pop*M-type'Pm ] 3.966E-14 13717 0.2070
C-type*Pc*M-type 16 _ 3.627E-14 0.6273 0.8622
C-type*Pc*Pm 18 7.437E-14 1.2681 0.2021
C-type*M-type*Pm 16 4.B14E-14 0.8325 0.6485
Pe*M-type*Pm 8 2,44E-14 08438 0.5845
pop*C-type*Pc"M-type a2 ‘ 1,694E-13 1.0001 0.4536
pop"C-type*Pc*Pm a2 1.197E-13 1.0350 0.4181
pop*C-type*M-type*Pm 32 7.64E-14 0.8806 0.9235
pop*Pc*M-type*Pm 18 5.814E-14 1.0055 . 0.4497
Clype*Pc'M-type*Pm a2 1.0962E-13 0.9496 0.5491

pop*C-type*Pc*M-type*Pm 84 2.41686E-13 1.0448 0.3908
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Duncan's muitiple rages test yaemThamesansulilTw 9.1.26

Clype mamn Syim 0.0000000047 Rer'Bp ok m CX H 0.0000000028 « R2 -
[= .44 00012548503 = 217 0.0000000131 OBX va PR 0.0000000084 <« R3 -
(=4 0.001234550 = 292 00000000134 OBX w PBX OoX0N0123 <« R4 -
P 0.0012345848 e 302 0.0000000 143 OBX wva OX 0.ODODODN2T? = RSB -y
PaX 0.0017848708 e 300 0.00000001 48 CX va PO 0.0000000038 « R -
ox 0.001 2345884 . CX ve PBX 0.0000000097 « ) -
CX v OX 0.OD0OODG24E  » R4 L]
PAX ve PRX 00000000059 « R2 -
X w OX 0.0000000208 > R3 gy
PO W OX 00000000148 » AZ -
Myps masn Syl= 00000000037 Rer'Byt AardS v inal €.0000000208 » R2 "y
Rands 0.001 2348418 = 277 0.0000000101 RardS w Re-Ex Q0000000490 > K3 gy
et ©.0012345711 = 202 0.0000060107 Wotw ReEx 00000000200 > A2 ™
Ra-Ex 0.0012545911
Pm monn Sy= 0.000000087 |  Reroy 0.1 w 02 © 0.00000OOGTY > A2 ™
0.1 0.0012348520 w277 00000005101 01w 03 © 00000OOGZY > R3 o
02 C.001ZM5IE e 282 0,00000001¢7 02w 03 T 00000000028 < R2 .
03 0.0012345T88
windmed IudRgfmduniiudodi 0.95
Poputation Siza Tuifhiudey
Crossover Type PMX, CX, PBX, OBX
Pe Tiludigy
Mutalion Type Random sequence
Pm 0.1
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0.1.27. Semeiaauinivdianmanzasresdaoy sammasosgwifelsswuuy

Fagnenuilszasd T1901Muw1a 20 usun Awiurmnlaiirinfin W1s0.75 W2=0.25

RITNT 4.27 ANOVA , Duncen's multiple range test ussmimlline fiiluangueirnoumiarygsnitinme 0.1.27

Source DF Sum of Squares Mean Square F-Retio

Modal 404 0.88e-11 1.7e-13 0.742

Emor 405 1.0273e-11 2.54e-14 Prob>F

Total 808 7.8076e-11 <0.0001
source DF Sum of Squares F-ratio Prob>F
pop 2 5.T8E-12 113.9788 «<0,0001
C-type 4 1.15E-11 113.1478 <(,0001
Pc 2 4,18E-15 0.8833 0.5055
IM-type 2 4,38E-13 8.8335 0.0002
Pm 2 5.85E-13 11.5478 <0.0001
pop*C-type (] 2.206E-11 111,3420 <0,0001
pop*Pc 4 2.82E-12 27.75860 «<0.0001
pop"M-typa 4 1.87E-14 0.1846 0.9454
pop*Pm 4 4,75e-13 4.6820 0.0011
C-type*Pc 8 5.75€-12 28,3392 <0.0001
C-type*M-type 8 9.10E-13 0.4488 0.8914
C-type*Pm 8 5.74E-13 2.8765 0.0040
Pc"M-typs 4 8.81E-14 0.8885 0.4828
Pc*Pm 4 1,71E-13 18813 0.1534
M-type*Pm 4 1.41E-13 1.3850 0.2383
pop*C-type*Pe 18 1.05E-11 25.9545 <0.0001
pop*C-type"Mtype 16 1.36E-12 0.3347 0.9933
pop*C-type*Pm 16 1.75€-12 4.2250 <0.0001
pop"Pc"M-type 8 3.65E-14 0.1788 0.9038
pop*Pc'Pm 8 1.71E-13 0.8944 0.5210
pop"M-type*Pm 8 8.21E-14 0.4048 0.9177
C-type*Pc*M-type 16 1.45E-13 0.3580 0.9802
C-type*Pc*Pm 16 3.775-E13 0.9304 0.5342
C-type*M-type"Pm 16 1.32E-13 0.3037 0.9982
Pe*M-type*Pm 8 8.57E-14 0.4223 0.9075
pop*C-type"Pc*M-type 32 3.68E-13 0.4524 0.9981
pop"C-type*PcPm 32 9.75€-13 1.2018 t122
pop“C-type*M-type*Pm 2 4.34E-13 0.5355 0.8833
pop*Pe"M-ypa Pm 16 2.32E-13 0.5721 0.9048
Clype*Pc*M-type*Pm 32 4,37€-13 0.5385 0.9825
pop“C-type*Pc*M-type™Pm 64 8.83E-13 0.4978 0.9995
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pop maan Syl 0.0000000087 |  Rer*Byl 5ve 10 0.0000001147  » R2 "
15 0.0012344485 = 277 £.0000000289 15w 20 0.0000001742 > R3 wy
10 0.00129345834 = 282 0.0000000283 1tw ™ 0.0000000285 > R2 wy
F ) 0.0012546227
Ciyps . Syl (0000000125 |  Rergypl P v OBX 0.0000002787 > A2 wy
PADX 0.0017343317 rae 277 0.0000000347 X v CX 0.0000002880 » R3 g
o8x 0.0012348084 "= 20 0.0000000388 PMX v PBX 0.0000002040 > M4 -~
ex 0.0012348197 e 3.02 0.0000000378 M W OX 0.0000003228 > AS g
PBX 0.0012346257 = 308 ©.0000000387 ORX w CX £.0000000118 < A2 -
ox 0.001Z348540 OBX v PBX 0,000000017) « R} .
Qax v OX 0.0000000458 » Rd g
X va PEX 0.0000000080 « B2 .
X v OX 0.0000000343 < RY .
PBX w OX 0.0000000283 < R2 -
Mltypa o Syl= 0,0000000007 |  Rergyl RandS v st 0.0000000017 < R2 -
Rand8 0.001 2344508 2= 277 0.0000000260 Aol v Re-Ex 0.0000000602 > R} g
-t 0.001 2345523 = 202 0.0000000283 et ve Ra-Ex D.0000000435 > R2 g
" Pex 0,001 2348000
Pm [ Syl= 0.0000000067 )  PevBw 0 v 02 €.0000000048 < A2 .
01 0.0012348370 = 277 0.0000000289 01w 03 0.0000000852 » RY g
0z 0.0012345827 1= 252 0.000000C:283 02w 03 0.0000000404 » RZ g
03 0.0012348031
9P b Syi= {,0000000108 R Byt 501w 1802 0.0000000198 <« R2 -
15-0.1 0.001233972 = 277 0.0000000485 13-0.1 w 1803 0.0000001331 > RY g
18-02 0.0012344174 3= 252 0.0000000481 1802 w 1503 0.0000001132 > RZ wy
1803 0.0012345303
pop*Pe meen Syle 0.0000000188 |  Rer'Byi 15-05 v 15-07 0.0000000170 < R? .
1505 0.0012341854 =277 0.0000000485 1805 va 1809 0.0000002626 > R3 o
15-0.7 0.0012343724 o= 250 0,000000049 1 1507 va 1309 0.0000002455 > RZ o
1509 0.0012348179
wniivnef fluddyfiazdunrudes 0.95
Population Size 15
Crossover Typa PMX
Pe luiliudy
Mutation Type Random sequence ,insertion
Pm 0.1,0.2
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#7717 .28 ANOVA , Duncan’s multiple range test ussnfine FHduanourmoumissyssmasiamed 0.2.1

Souros OF Sum of Squares Mean Square F-Ratie
Woda! 404 57.671567 0.142751 4514888
Error 405 0.128050 0.000316 Prob>F
Total 809 ‘57709807 «<0.0001
BOUNOS DF Sum of Squares F-rwtio Prob»F
pop 2 58.184408 88845.01 0.0000
Cype 4 0.053581 42.3643 <0.0001
Pc 2 0.002600 4117 0.0017
Metyps 2 0.015549 24,5880 <0.0001
Pm 2 1039636 1843,987 «<0.0001
pop*C-type 8 0.033168 13.1123 <0,0001
pop*Pc 4 0.009557 7.5504 «<0,0001
POp M-type 4 0.015402 121775 <0.0001
pop Pm 4 0.188674 133,3631 <0.0001
C-typa*Pe B 0.005757 23159 0.0194
C-type"M-type 8 0.002869° 1.1341 0.3390
C-type'Fm 1 0.003484 13775 0.2044
PeM-type 4 0.002564 2.0189 0.0810
Pe*Pm 4 0.000588 24847 0.7616
M-typa*Pm 4 0.00717% 6.4605 0.0001
pop*C-type*Pc 16 0.005043 1.7872 0.0307
pop*C-type*Mtype 16 0,005502 1.2227 01792
pop*C-type”Pm 18 0.002787 0.5526 0.9175
popPcM-type 0,004827 1,9084 0.0573
pop"Fe*Pm 0.001176 0.4642 0.8812
pop*M-type*Pm 0.004535 1.792¢ 0.0747
C-iype*Pc*M-lyps 18 0.005854 1.1571 0.3002
C-lype*Pc*Pm 16 0.004024 0.7953 0.6913
G-type”M-type*FPm 18 0.007557 14719 0.1084
Pc'Mype'Pm 3 0.001972 0.7853 0.6186
pop*C-lype*Pc*M-type a 0.013899 0.1372 00885
pop*C-type*Pc*Pm az 0.016483 0.6201 0.0185
pop*C-type°M-typa*Pm i 0.008887 0.8763 0.6841
POP*Pc"M-type*Pm 16 0.005241 0.9064 04598
Ctype*Pc"M-type*Pm 32 0.008325 0.8228 0.7467
pop*C-lype*Pc M type"Pm 64 0.024473 1,209 0.1430
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pap meun Sy= 0,0011 Recr Sl v 10 T 03888 > R2 "y
[ 0274 = 277 0.0030 v 15 1 » R3 -
10 0.6308 = 282 0.0032 1 v 18 AT » A2 y
13 o914
Ciyoa mapn Byl 0.0014 Rer"Syl ox va PBX 00113 »R2 y
ox 0.5914 e 2.77 0.009% OX w OBX 0.01% » Ry "y
PBX 0.0027 = 262 0.0041 OX va PMX 0.024 » R4 wy
oBx 0.6070 - 3,02 0.0042 oX w CX 0,0281 » RS o
X s = 300 6.0043 " PEX w OBX 0.0043 > R2 o
cx 08105 PBX va PMX 00121 » R ™
PBX va CX 0.0168 » wy
OBX v WO 0.0078 » A2 ™
OBX v CX 00128 » R3 wy
PV v CX 0.0047 » R2 .y
Pc man Sym 0.001% Rueiyl o5 w 07 D000 » RZ ™
08 0.6031 = 277 0.0030 0w 08 @ 00063 * R ™
or 0.8081 = 292 0.00%2 07w 09 ;00082 » R? ™
L1 ] 0,809
Miype man Byi= 0.0011 Roe"3yi st v Rand8 @ 00010 « R2 .
nat 0.0 a= 2T 5,005 inst vi Ra-Ex 1 0.008T » RS w
Rands 0.6 = 292 00032 |- | RentS w Re-Ex - - : 0.0088 >R ™
Re-Ex o.8117
Pm wapn Syi= 0.0011 RSyl 0t w 02 .1 * A2 wy
0.t o582 a= 217 0.0030 01 v 03 T D.08TT > R "y
02 0.6083 3= 282 0.0032 01w 03 ;00428 » R2 o
03 0.6489
rfiomaf Guardvemildlumuamngooliin
Population Site 8«<{0<15
Crossaver Type OX < PEX < Order Base < PMX < CX
Pc 05«07«09
Mutstion Typa Reciprocal Exchange , Inwertion < Random Sequence
Pm 01«02«03
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322, Siansiaruuysdymassna lvmidminudnzionuaiTn sanrmaaailgwies
A d 1 o
TrsomuvumateTaglzasd lsesmawna 6 uwwn Auflurunininin wi=0.25 w2m0.75

BT 9.29 ANOVA , Duncen's multiple range test uszrrnfinefAlusaousmayauossosmsiinmew ¢.2.1

Source DF Sum of Squares Mean Square F-Ratic

Model 404 52.086877 0.128730 2688.2770

Error 405 0.194335 0.000480 Prob>F

Total 809 0.5201212 <0.0001
BOUFCe DF Sum of Squares F-ratio Prob>F
pop 2 50.088200 52171.82 0.0000
C-type 4 0.007072 4,1553 0.0028
Pe 2 0.025528 26.5881 <,00001
M-type 2 0.002500 2.6050 0.0151
Pm 2 1.488017 1560,956 <0.0001
|pop*C-type 8 0.005328 1.3880 0.1997
pop*Pc 4 0,000662 5,1484 0.0005
pop*M-type 4 0.000870 0.4534 0.7699
pop*Pm 4 0.209131 108,8560 <0,0001
C-type*Pc 8 0.005512 1.4356 0.1785
Clype*M-type 8 0.003445 0.8975 0.5185
C-type*Pm 8 0.005458 1.4212 0.1856
Pc*M-type 4 0.000857 0.4465 0.7749
Pc*Pm 4 0.004211 1.2561 0.2887
M-type'Pm 4 0.000986 0.5187 0.7220
pop*C-typs*Pc 18 0.011790 1.5387 0.0839
pop*C-typa*Mtype 16 0.005307 0.6913 0.8033
pop*C-type'Pm 16 0.004523 0.5891 0.8925( .
pop"Pc*M-type 8 0.001953 0.5088 0.8498
pop*Pc*Pm 8 0.,007500 1.9537 0,0510
pop"M-type*Pm 8 0.006884 1.7933 0.0766
C-type*Pc*M-type 16 0.008586 0.8578 0.6188
C-type*Pc'Pm 18 0.008588 0.8972 0.5728
C-type*M-type*Pm 16 0.006744 0.7874 0.6047
Pc*M-typs*Pm 8 0.004744 1.2358 0.2785
pop*C-type'Pc*M-type 32 0.015018 0.9781 - 0.5043
pop*C-type*Pc*Pm 32 0.014599 © 0.9507 0.5472
pop"C-type*M-type‘Pm 32 0.021637 1.4081 0.,0724
pop*Pc"M-type'Pm 16 0.007662 0.6880 0.4579
Ctype*Pc"M-type"Pm 32 0.016639 1.0836 0.3497
pop*C-type*Pc"M-type*Pm 64 00.22302 0.7262 0.9416] .
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pap masn 8y 00013 Rer Syl 6w 10 : 0zme > 2 g
[ 0.4028 =27 0.0087 tw 20 0.0081 » RS g
10 0.6707 e 242 0.003¢ w2 0.3320 » A2 g
3 1.0108
Ciypa mesn Sy 0.0017 Aecsyl oX va PRX 0.0084 » R2 "y
oxX o.eaic = 177 0.0043 OX v OBX 0.0104 » R} g
PBX 0.8664 r= 292 00050 OX va PMX 00133 » R4 »y
oex 0,7014 = 3,02 00052 ox ve &X 0.0218 » RS 0
P 0.7084 row 3.00 0.0053 PEX v OBX 00080 » P2 g
X 027 PEX w P 0,0100 » R} nig
PBX va CX 00183 > 4 )
08X va P 0.0050 > B2 w
08X w CX 0.0113 >R w
3 PN v CX 0.0083 L -] wy
Pe maan Byi= 00013 Aersyl 0.5 ve 0. 1 c.o082 > R2 g
as 0.8900 = 277 0007 05w 0% 1 00138 » o =
07 0,608 3= 263 0.0088 07 v 08 L DO0se » R2 L]
0e 0,703
Miyps Mo Sy 0.0013 [ RandS va Ae-Bx @ 0.00H « A2 .
Tl o.8028 = 277 N Rand® vs sl : 0.0081 » R -y
Re-Ex 0.5080 n= 282 0.0029 Re-Ex va Iral ¢ 0.000 » R2 -y
Rangs 0.8990
Pm mean Syl 0.0013 R Bl 01w 02 : 0.0817 » R2 =
['A] 0.8450 o= 277 0.0037 01w 03 S -] *» 3 L]
02 0.6387 3= 252 0.0039 02w 03 1008 » R2 g
03 0.780%
vwnifimed Guadduiaanflflundsosnndenivuin
Population Bize 6= 10«15
Crossaver Typs OX < PBXX « Order Bass < PMX < CX
Pc 05<0T<09
Mutaticn Type Reciprocal Exchange , inesrtion < Random Sequence
Pm 01<02<03
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whas unEmwremaiu uncusinfiouanisliviadu
um | Wi w2 - = -
No. AnteAAOL Gen. | No. ARTIAREL Gen,
Order.  6-2-3-4-1-5 Order.  2-3-4-5-1-6
Band: 1-1-1-0-0-0 Bend:  2-1-1-2-0-0
1 2 1 10
Cost: 13377 Cost: 23503
TCR: 252 TCR: 147.333
Order;  6-1-3-2-4-5 Orger:  2-1-3-4-5-6
8and: 1-1-1-0-0-0 Banct: 2-1-1-2-0-0
0.2 | 0.75 2 6 2 15
Cost: 13850 Cost; 23370.3
TCR: 248 TCR: 174
Order;  §-2-3-4-1-5 Order:  2-1-4-3-5-6
Band: 1-1-1-0-0-0 Band:  2-1-1-2-0-0
3 3 10 3 4
Cost: 13377 Cost: 24888
TCR: 252 TCR: 178
Order:  3-1-4-5-2-6 Order:  2-4-5-3-1-6
Band:  1-1-1-0-0-0 ‘ ~ |-Band:  2-1-1-2-0-0
1 7 1 o 16
-Cost: 14319 Cost: 21127
TCR: 264 TCR: 154,667
Order:  2-4-5-3-1-6 Ordger:  1-2-3-4-5-6
Band:  1-1-1-0-0-0 Band:  3-1-2-0-0-0
6 0.50 | 0.50 2 4 2 8
Cost: 13550 Cost: 26022
) TCR: 248 TCR: 188
Order;  2-3-5-4-6-1 Order:  3-2-1-4-5-6
Band: 1-1-1-0-00 Band:  3-1-2-0-0-0
a 10 3 2
Cost: 13662 Cnst: 26742
TCR; 240 TCR: 178
Order: 2-5-3-4-6-1 Order:  2-3-4-1-6-%
Band: 1-1-1-0-0-0 Band:  2-1-1-2-0-0
1 : 12 1 4
Cost: 12822 Cost: 24100
TCR: 268 TCR: 168,667
Order:  1-6-3-5-4-2 Order:  1-2-3-4-5-6
Band: 1-1-1-0-0-0 Band:  3-1-2-0-0-0
0,75 | 0.25 2 9 2 8
Cost: 13620 Cost: 25022
TCR: 264 TCR: 106
Order:  2-1-4-3-5-6 Order:  1-2-3-4-5-6
Band:  1-1-1-0-0-0 Band:  3-1-2-0-0-0
3 B 3 18
Cost: 13381 Cost: 25022
TCR: 252 TCR: 186
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whnzununienivaiu usazununitawaliviaiu
mwe | Wi w2 — —
No. ARTIAMBY Gen, NoO. ANTIM ML Gen.
Order:  9-8-4-3-6-7-2-5-1-10 Order:  8-4-3-9-6-5-1-10-7-2
Band: 1-1-1-1-1-0-0-0-0-0 Band: 2-2-1-3-0-0-0-0-0-0
1 512 1 . 156
Cost: 301.215 Coat: 546,432
TCR: 438.052 TCR: 657.933
Order;  8-10-1-8-3-2-6-4-7-5 Order:  8-4-3-9-1-2-6-5-7-10
Band;  1-1-1-1-1-0-0-0-0-0 Band:  2-2-1-1-2-0-0-0-0-0
025 | 075 2 983 2 326
Cost: 303.883 Cost: 544,637
TCR: 421,926 TCR: 664,326
Order.  9-1-2-5-8-3-4-7-10-8 QOrder:  B-4-3-9-7-6-2-1-10-5
Band:  1-1-1-1-1-0-0-0-0-0 Band;  2-2-1-2-1-0-0-0-0-0
3 245 3 381
Cost: 203.413 Cost: 585.99
TCR: 428473 TCR: 608.558
QOrder;  6-10-3-4-6-7-9-5-2-1 Order:  8-4-3-7-9-6-1-5-10-2
Band:  1-1-1-1-1-0-0-0-0-0 Bend:  2-2-1-1-2-0-0-0-0-0
. 1 156 1 458
Cost: 283.843 Cost: 408,443
TCR: 431.048 TCR: 697.917
Order;  10-8-4-7-6-3-9-5-2-1 Order;  7-6-5-4-3-2-1-9-10-8
Bang;  1-1-1-1-1-0-0-0-0-0 Band:  2-1-1-2-2-0-0-0-0-0
10 0.50 | 0.50 2 : 826 2 416
Cost: 288.087 Cost: 464,065
TCR: 426,147 TCR: 688.345
Order;  1-2-5-8-7-6-4-3-10-8 Order:  10-7-9-6-5-1-3-4-2-8
Band;  1-1-1-1-1-0-0-0-0-0 Band:  2-1-2-1-2-0-0-0-0-0
3 819 3 138
Cost: 283,843 Cost: 530,332
TCR: 431.048 TCR: 648,202
Qrder; | 10-1-2-3-4-8-5-6-7-9 Crder;  8-4-3-7-9-5-5-1-2-10
Band: 1-1-1-1-1-0-0-0-0-0 Band:  2-2-1-1-2-0-0-0-0-0
1 649 1 132
Cost: 284.833 Cost: 497 52
TCR: 442,98 TCR: 686.383
Order:  8-1-2-5-6-7-9-4-3-10 Order;  8-9-5-10-6-4-3-1-2-7
Band:  1-1-1-1-1-0-0-0-0-0 Band:  2-1-1-2-2-0-0-0-0-0
0.75 | 0.25 2 246 2 ) 267
Cost: 289,859 Cost: §35.824
TCR: 461.035 TCR: 715.871
Order.  8-10-1-3-4-2-5-B-7-9 Order:  8-4-3-1-9-2-6-7-5-10
Band;  1-1-1-1-1-0-0-0-0-0 Band:  2-2-2-1-1-0-0-0-0-0
3 562 3 549
Cost: 293.808 Cost: 540.787
TCR: 429,533 CR: 675.914
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winzwanfuwiiy winzsunvun b
o w ondhmeu Gen bk ampy Gen
Order, 13- 15 12:588-17-3-14:1-16:-2-18-20-1 110+ 1597 Order,  A7-A0-15-3-20-0-18-14.13-6-16-15-8-1-11-12-4-2-7
Band T2 3 0mlb-0-{0 000000 =000 950 Band: 2-2-1+1:2+2-0-0-0-0-0-0-0-0-0-0-0-0-0-0 oM
Comt: 48152 Cost: 5801.04
TCR: [ -7 TCR: 14184.7
Order  7-12-8-15-20-4-18-2-9-18-8-19-11-14-1-8-10-43-17-2 Order:  8:10-2:121+5-3-17-13:8-18-7-19-20-10-14:11-0- 154
Bang: 121072741 0-0-0-0-0-0=0-0-0-0-0-0-0-0-0 Band 2-2+2-2-20-0-0-0-0-0-0-0-0-0-0-0-0-0-0
0% | 078 Cost:  %070.07 “ Cost 520071 0
CR 5883 TCR: 13156
Orcar; 10-17-15-3-8-18-10-1-8-5-14-11-8-4-19-13-7-2-12-2 Order: 20-10-18-7+18-1214-8-114-5-13-18-2-17 §-3-8-12-1%
Band: $+t+1+1-1-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0 2. Band: 2:2+3-2:240:0-0-0-0-0-0~0-0-0-0-0-0-0-0 st
Cos: 5183 Conl: S410.83
TCR: 8215 TCR: 147481
Ordar: 3-11-9-4:2:12-5-8-13-19-18-8-7-20-17-14-15-1-10-18 Order, 10-5-0-10-4-20- 18- 13- 14 1t 14-1-15-17-12-8-2-7-8
Band: 1121 o1 0-0-0 00 0-0 00 00 -0-0-0-0 Band: 3-2-2+2:1-0-0-00-00-0-0-0-0-0-0-0-0-0
Cost: 494822 S Cosl; e o
TCR: [ K] TCR: 141955
Ovdar 14-12-1-7-18-10-5-2-3-8-8-1 7+13-18-8-4-15-1 1. 20- 18 Orcar; - 10-0-1513-14-18:3:17-18-8-5:.7-12-8-1-20-4-2-1%
1414111 0-0-0-0-0-0-0-0-0-0-0-0-0-0-0 Band; 2-2-2+2-2-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0
20 | 0% | oso ™0 65
Cost: §108.91 Coat! 3357.62
CR 57587 CR 145808
Ovder: Tl 5-18-1-18-34-12-0-20-10-11-14-16-2-8-13-17-18 COrder: 11-15-20-4-8-10-14+12:13-17+1 -8-10-5-19-3-8-2-18-7
Bang; 1-1-1+1-1-0-0-0-0-00-0-0-0-0-0-0-0-3- 0 5 Band: 31-2-2-2-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0 8
Cost: 4010.00 Cost: 5402 82
TCR: 595181 TCR . L 1AMB1S
Ovder: 10-18-11-20-18-5-8-3-168-1-140-8-17-13-7-18-4-12-2 Order: 16-11:5:2-8-18-13:10-12-1-20- 14 -8-1 74 18- - 3-0- 19
Band: 1214 110-0-0-0-0-0-0-0-0-0-0-0-0-0-0 Band: 2-1-2-2-1-2-0-0-0-0-0-0-0-0-0-0C-0-0-0
Cost: 4258.26 ) Cost; 618505 “e
TCR: 4775.38 ) TCR: 15621.8
Ovder: 18-10-18-7-3-1-11-20-18:8- 14 -8-5-17-12.2-84-16-13 Ovoer; 10-18-11-5-2-3-12:3-7-5-15-13-178-1: 204 1914 18
Band: 1+1+1-1-1-0-0-0-0-00-0-0-0-0-0-0-0-0-D Band; 3:241:2411-8-0-0-0-0-0-0-0-0-0-0-3-0-0
o 025 824 513
Cont: 411177 Cost: 5438.32
TCR: 8M7.3 TCR: 184271
COvdiar: §2-7-18-8-1-12-8-4-18-14-10-17-9-18-3-20-11-12:15 Order; 3208-2-8-17-11+14+18-13-15-5-8-18-18:1-10-7-4-12
Band: 111211000 D000 0D DD 0-0-0-0 Band: 2-2:2:2:2:0000-00-0-0-0-0-0-0-0-0-0
Cost: 40703 53 Cosi: 5251.72 e
TCR: 8833.91 TCR: 14401.8
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#ufl 6 AT NN ININUA 6 UWHUN 111719 NUIILV0 Rosenbatt 1986

o - [ )
M7 Q.1 ﬂﬂﬂ:lgﬂﬂﬂﬂ\fﬂglﬂ?ﬂ7ﬂﬂ7|1 a7
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@1319% 8.2 unkpns InazznInuEun(fiLI) youtlymaiaet a.1

Mn-Uoy 1 2 3 4 5 6
1 0 63 605 551 116 . 138
2 63 0 635 941 50 191

3 104 71 0 569 136 55

4 65 193 622 0 77 90
5 162 174 607 591 0 179

6 156 13 667 661 175 0

a1l pupImTuntImYianY 1 wunuATies Lm:ﬁm:u:mos:ui'mqm"ﬁunmmf
VBILARZLNRALDLLTARAILT  (FTuenITIuliNNUNRTITBIITHINWANUNUY X Uss

JLUSHNAWUNY Y)

= A -~ L J - - L ol J
®.1.1 "ﬂﬂﬂ??ﬂﬂdﬂ??ﬂ?‘]\!?ﬂﬂﬂﬁ'ﬁ! TunseFugadidinauinannmai

" yinIeTeIREEes Department Order riow WA2YIAN13&I19 Band Width (WD
v , v . ' ~ SRR A
'hamm:ﬁu(l.ﬂu'\ﬂmwan'muﬂma']'uaaﬂtum)nu Department Order YIRTIYUNDU
i1

-l

& - o &
s Lutuaouvsentesiored wasluadu wueziminizdianizh Department
el o -‘ [} b o » : J > &
Order WildnwaziBoulUnan uffondie Band Width InaunufeWinunzauniy
“ ' o« Y [ L ] - W W
Department Order firumIntasianes ussluasuuiudy nannoszllldvniinies

loed usslnatufl Band Width

2.1.2 NYSaSsEEINTENGR (Initial population) Twwa W ssnTudud

d
s

i . gt b 1 1 Lt .=r
Yaidriu 6 7 ﬁ"lﬂ'ﬁﬂ‘l']dﬂ'i:'ﬂ"lﬂiﬂﬂ”ldE!&ﬂﬂﬂ\'lu

@131 8.3 UrsransSudkaslyninieiy a.1

AR5 Order Band Cost
Str1 21365 4] [111000] 14774
Str2 [41526 3] [111000] 14898
Str3 [523641] [111004Q] 14716
Strd 243165 [111000] 13712
Strd [462315)] [t11000] ‘ 14283
Stré | 51426 111000 13824
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Maximum Cost : 14898
Average Cost: 14368

Minimum Cost ;: 13712
Total ;: 86207

Std . 509.96
Best String  order: [24 3 16 5] band: [1 1 1 0 0 0) Cost: 13712
» -. Lo ] L -l - z L] ] v e ‘
luaFadsernadudu wud sassvaslzmntGuduiuidnlidiu deasemy

A

TN KA BINTIAILUTETIN TSN

2.1.3 n1s3lUsantuuvy9dazaian

-

n'nﬂ'l‘ﬂmﬁnfu'l'ﬁﬁimwanaﬁagmmﬂﬂuﬁ Cost voiRaicudazddudan

faurvawavadteslundeiaiin — gaRfildanuminzaugaezgnaaifandmiu
nilurdndu lasanifgmiiivmim Cost fifasfign Tammwievesdesluiade;
dinlaummin Cost 7898639 ¢, UARAINIBUBENTINHATINTEY Cost InLAluLTzTINT
ynlilddnmoudin CostSum- ¢, 9nuWSIMINATINGEY CostSum- ¢, \Wilu Sum of_
(CostSum-c) 'ummjamﬁan'lmaé’ayﬁnhum‘:ﬁﬂ CostSum- ¢, VOIRATIUARZAINTT
#78 Sum_of_(CostSum-c)) Tﬂu"r"i'ummmwﬁaztﬁn'[ﬂunmﬂu 100 Wafidud

=l ; - (Y
AN u.4 nMnInifitness functron‘umﬂxymw'mma Q.1

we3a Cost(C) CostSum- ¢, | Fitness = (CostSum-c)/ | susresduscay
| Sum_of_(CostSum-c)

Str1 14774 71433 0.1657 0.1657

Str2 14698 71309 0.1654 0.3311

Str3 14716 71491 0.1658 C.4970

Str4 13712 72495 0.1682 0.6652

Strd 14283 71924 0.1669 0.8321

Stré 13824 72383  0.1679 1,0000

total 86207 431035 1

) [ - r y [+ “ . -
ﬂqnuuﬂzﬁqanﬁu‘“jﬂﬂﬂzlﬂﬂ 6 A% fnTHqu“ﬂﬂ:ﬂ'ﬂ“uqﬂaﬂnqjﬂﬂlﬂﬂnﬁﬂ’ﬂ

Whldgieminilwa suy@dngudnuom 6 1 fegluzaa o...1]

1
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A1TNN A5 fi'njummaﬁagtﬁn

ataf | gunnedagiie aRsInHAUMTI T
1 0.852588 Str4 Cost: 13712
2 0.551275 Str4 Cost: 13712
0.280907 Str2 Cost; 146898
4 0.002097 Str1 Cost; 14774
5 0.810621 Str5 Cost; 14283
6 0.958613 Stré Cost; 13824

Maximum Cost ; 14898
Average Cost : 1420050

Minimum Cost : 13712
Total : 85203

Std : 536.89
Best String  Order: [24 3 16 5] Band: [1 1 10 0 0] Cost: 13712

wnliimasiumsilsintuuda aaianfingafia St Order: (2 4 3 1 6 5]

v a - S - & v

Band: {1 1 1 0 0 0] Cost: 13712]athumaANNFIgNNaIM 1 FA3a nthaaTananuai
gnnsaslaiieiyLox

a.1.4 n1sasarlerasuyy OX
nisvumIaaliiluwmsnseslanaiuuy oX  dnnuianiduvainiiniesle

v, o o - <o
118§ p, = 0.5 919mAlein 50% yesdszmnifilinisnseslaiied (lauade) wufa 0.5 -
6 =30 niuIwMIVINIMsERlaapiGuLInfaT N IRNAY £ alu [0....1] 1ddn

daealuil
a139A 2.6 anieinuTignisntasloned
/A Order Band Cost
Str1 [243165] 111000 13712
otr2 243165 111000] 13712
Str3 (415263 111000 14898
Strd 213654) (111000 14774
Strs” [462315) [111000] 14283
Str6 351426 (111000] 13824
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- S -
nITEN Q.7 guﬂ'uwataanﬂﬂn‘lﬂmmmmafanaf

aTsh s Younin 0.5(Pc)
1 0.4877 v
2 0.5807
3 0.6055
4 0.8059
5 0.9354
6 0.3515 v

winging  wnngutenanisanlaliaons bivanisgudeluineimigamseiafiuviod

m‘%aﬁeju'lﬁ'uﬁ'man'lﬂ 1 aa3s

AT 0.8 zwﬁaﬁ:hun11§amw’1§mmmﬂmmf

Q?‘I /T Order Band
1 Str1 243165 [111000]
Stré 35142 6] [111000]
e 3order waagjﬁ" 1dhnIntanlane?
P=[24316 5]
P=[3514286]
tjm'i':uwﬂqﬁa:ﬁ'mwmadanaﬂﬂ” fumvieft 2 usz 5
P=241316]5]
P=[35]142)6]
ﬁwmsaé’uaﬂ‘iaﬁagmulum‘s‘ammu | r'lﬁ’m?ognnmu
O,=[361425]
071423165
A3 2.9 m?ag’ﬁ 1 natkmunaTeRlaet
CURE) Order Band Cost
0, 361425 [111000] 13826
o, 423165) (111000 13654
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AT 2.10 ﬂmmngnumun‘lﬂmmmmﬂ{anafununm:Nwauu ludszmnudy

CUES! Order Band Cost
Str1 [361425] [111000] 13826
Str2 [243165) (111000Q] 13712
Strd . 415263 (111000 14898
Stra 213654) (111000 14774
Str5 4623185 111000 14283
Stré [4231865] [111000} 13654

Maximum Cost : 14898

Average Cost : 14191.17

Minimum Cost ; 13654

Total : 85147

Std: 547.58

Best String  order: [4 23 1 6 5] band: {1 1 1 0 0 0] Cost: 13654

waswmIasarlaneiudy ldlinsrinaaifiliauruniadngafio St Order:
X 7 - & - & v .
[42316 5] band: [1 1100 0) Cost: 13654 Iuaninai 1 &ady nfhraSmanuairgia
WwiuuuuI3Iwinea idnimu(Reciprocal Exchange Mutation)

2.1.5 dnasuevysilnsaoa zgnwu(Reclpmcal Exchange Mutation)
nrzvawnisds Wiluwieruuuritlwines Bnitu dwueanudiesiiveoln

\W0fup, = 0.3971370 1§91 30% ot izmniflnisliaedu(leiads) Wuda 0.3 * 6 =
1.8 nizumIveInIAaslanaiFuwInAn g £ edlugas [o....1] ddneann

efi6.14
A5 211 ﬁm%ﬁmumﬁgmiﬁamfu
ELED) Order Band Cost
Str1 [361425] [111000} 13826
Str2 (24316 5] [111000) 13712
Stra 4152863 (111000] 14898
Str4 213654 [111000] 14774
Strs [462315) (111000} 14283
Stré [423165) 111000 13654
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g

woundy 0.3(Pm)

D W A W N =

0.9798
0.4193
0.0902
0.8291
0.3713
0.3318

AR 3

| R

nit

Str3=[41526 3]

(BanduniIRsiNTERUR 2 duniiifa 4 uas 6
Str3=[415263]

St3=[415362
9IMiuae Band Width 910 orderisy Str3

o - sl - <
f1TIN 2.13 ﬂmm'lnmnmrmmzru

- L . o - o,
nsiuaTw fs Str3d GV IR TUIIUOrder

ELED)

Order

Band

Cost

Strd

[415362]

(112110

14782

Wstr3 Aldannisdatuisdnudszminiiiuau aan1s9f 6.18

f a & .- a <
AITNN Q.14 AATIYNHURUEINTTIIATU

qA3Y Order Band Cost
Str1 361425 (111000 13826
Str2 [243165] 111000 13712
Str3 [415362] [112110] 14782
Str4 213654 (111000 14774
Str5 [462315] (111000] 14283
Str6 [423165) (111000 13654

Maximum Cost : 14782

Average Cost ; 14171.83

Minimum Cost : 13654

Total : 85031

Std: 51893
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Besl Sting order: [4 23 16 5] band: [1 1 10 0 0] Cost: 13654
WUTMEHIUNIT N TUUE sRTINATigafe Sté Order: [4 2 3 16 5] Band: {1 1

100 0] Cost: 13654 ﬂ'onoﬁ"uunaau'!ifajugnumu

HNIEImg  MIBanR Ao mafusedefialdiove nemdeideszwianiuwmsilsdndu asesle
ne¥ Daedu mw:ﬂ'\'lﬁmﬁaﬁﬁgnﬂ'\a'm'lﬂ'ls‘f sl aitsfuudactunouresGas  IWims
uﬁumﬁum:wham’soﬁﬁﬁqwnu:wheﬂi:-mmriauuaznﬁommfumué'oné'n iAemiraieled
AMANUAANTINY -mm"\m’saﬁﬁﬁqmmﬂ:xmn:ﬁaun‘nuT'\g‘n-::uwn'\waoGAs fuﬁqmmu‘iﬁﬁ
N1 'lﬁ'mn'nﬂ'm’somfumunuﬁnm‘iaﬁudﬁqwaoﬂ::mnmé’achum:mum:GAs -5

HovunTrummITnatuudy nudeuauueItus 1 nbwaaianawan
dunIzuwmAlendu aseslaned duadu -f’munmﬁhmuwumanfugqqﬂ-ﬂawi'l
1 50 19WMALTTH un:wumﬂaufiﬁﬁqﬂlmwmau'ﬁ"uﬁ 18 lnufl Order:[ 164 35 2)
Band:[1 1 1 0 0 0] Cost: 12822 9 \FiriatuIuIsbYes Rosenbatt
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a1 13udluundt 5 TaoTutunsunsfeduuuldiunuulisunss MATLAB version 5.3 @D
r
Tesduruaenuaznoazidua lum7lglUwnTa

2.1, Swaawntslollsunisesnuuudalsoont

J A - ) o e [ o)
Wisemadilsundaetenrilondagsvesiigwidtlaumenyiaquazad
ot - , A ol P | -
TUIA 6 UWHUN ﬂqnu”“nu‘ﬂ“’ml"qnu W1=0.25 W2=0.75 ﬂI'lﬂun'ﬁ?ﬂU ‘ﬂéﬁﬂﬂﬂ:lﬂﬂﬂ

v o
aJu
T o E . v , :
FIUIUUHUN WU INUA(RITIIVUIN) NINI(MUY) HIHMUY)
6 6 2 3
=]

WHWNT 1 2 3 4 5 6
Huf 1 1 1 1 1 1
Fix Width 1 1 1 1 1 1
Fix Length 1 1 1 1 1 1
Area Ratio 1 1 1 1 1 1

WHWALNNT WataTRa(ifin7)

nn-1y 1 ' 2 3 4 5 6
1 0 63 605 551 116 136
2 63 0 635 941 50 191
3 104 71 0 569 136 55
4 65 193 622 0 77 90
5 162 174 807 591 0 179
6 156 13 667 611 175 0

snldiwlunisuddze 1 wiannfios




219

uuuqﬁmwﬁ’m‘a’uf

x £ Q- m
© = N W & O

m-.nms:u:mu:wi'm‘miunmcﬁzni‘numm wuuiandadiud

MAIN MENU Jimaiien 4 nd
1. Criterion Seteéﬂon
Wwaninzesnuuudaliauuyle

1. Mlnnwwyiaguzssfide (lfiw)

2. Mlnmuuuwaiziagihzaed Witmilfig + w2*iTCR)
winlan wwuf 2 sxepatlondt w1 T=wino,1]
mmfmﬁanmqﬂunumﬁhmm:u:n'm:wmuuun

(WCITIEEICHIT
- e

2. WIULTRARLALT
Ar0819

Criterion Setection
1. Single Objective
2. Multi Objective
3. MAINMENU
Choose (1) : 2
Please Enter W1 (0.5) : 0.25
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Distance Between Department
1. Euclidean
2. Rectitinear

Choose {1): 2

1. BACK 2.NEXT 3.MAIN MENU (2): 2

¥ -l 1 A t L 2
mingivg frmulu( ) iuerdefault finald

2. Information Input
2.1 i’ngmﬁmﬁﬂnaw
'ﬁ'agaﬁ'a‘lﬂ
s dniruniuliem
5 ananees 3w
5 AUBN21B4 L3N

How many department (6} : 6
Factory Width : 2
Factory Length : 3

(] hend -‘ q L J L "]
2.2 mymtpirglulnom Guileunsyudiwdsgenuaunt 1 1163 ukwn

A
IR 9IUATY
faatn

Material fiow from dept.[1] to another
Material flow from dept.{1] to dept.[2] (0): 63
Material flow from Jept.[1] to dept.[3] (0): 605
Material flow from dept.{1) to-dept.[4] (0): 851
Material flow from-dept.[1] to dept.[5} (0): 116
Material flow from dept.[1] to dept.[6] (0): 136

1. BACK 2.NEXT 3.MAIN MENU (2} 2

Material flow from dept.[2] to another
Material flow from dept.[2] to dept.[1] (0): 63
Material flow from dept.[2] to dept.[3] (D): 635
Material flow from dept.[2] to dept.{4] (0): ....




2

2.3 srlFiolumavudituins FudlousnlFiulumavuenuisgainusunti 1 1
-~ ] .
9 WHUNAUgIUATY
1208

Material handling cost from dept.[1} to another
Material handling cost from dept.[1] to dept.i2] (1): 7
Material handling cost from dept.(1] to dept.(3} (1): 1
Material handling cost from dept.{1] to dept.[4] (1): 1

_Material handiing cost from dept.[1] to dept[5] (1): 1
Material handling cost from dept.{1) to dept.[6] (1): 1
1. BACK 2.NEXT 3.MAIN MENU (2) 2

Material handling cost from dept.[2) to another
Material Handling cost from dept.{2] to dept.[1] (1): 1
Material handling cost from depl.{2] to dept.[3} (1): 7
Material handling cost from dept.[2] to dept.[4} (1): ...

2.4 ANURNAUTIZWINIUEUN
RandnazdmamdTCR wyla
1. Linear
2. Exponential
fnusdiauEERuTA 9 uansy
flausanufRRTIEnIUARNET g BusnuHun 1 Nausungario

Alatn

1. Linear 2.Exponential (1). 1
A (4):.5
E (3):4
| (2):3
O (1):2
U {0):1
X (-1):0
A(5) E(4) 1(3) O(2) U(1) X(0)
1.BACK 2.NEXT 3.MAINMENU (2): 2

Dept.'s refation between dopt.[1] and another
dept. relation between dept.[1] and dept.[2] (AVENIOMX):U
dept. relation between dept.[1] and dept.[3] (A/ENOMUIX).0
dep!. relation between dept.[1] and dept.[4] (AVENO/UIX)U
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1. BACK 2.NEXT 3.MAIN MENU (2):2

Dept.'s reiation between dept.[1] and another
dept. relation between dept.[1] and dept.[2] (NEIIIOJUIX):U
dept. refation between dept.[1) and dept.[3] (A/EN/Q/U/X).0
dept. relation between dept.[1] and dept.[4] (A/EHO//X).U
dept. relation between dept.[1] and dept.[5] (AENOQ/UX):U
dapt. relation between dept.[1] and dept.[2] (A/ENQIU/X).O

1. BACK 2.NEXT 3.MAIN MENU (2).2

Dept.'s relation between dept.[2] and another
dept. relation between dept.[2] and dept.[3] (AENOIUX).E
dept. relation between dapt[2] and dept (4] (AENOIUX):Y
dept. relation between dept.[2] and dept.[5] (A/EMOIUIX)....

3. iagmﬁ'mﬁuuuunvha 9
ﬂauiagmﬁmﬁ'mmunem ‘]ﬁ:umnuuunmnwﬁauuunqwﬁ’wu Tagluudaz

uxunuzaaautbys

s FvadUHUN

n Aufiimus

v auneIRy

s AMNETILIAY

®  HATIFIUATINNTIANNET

A8

Department{1/6)

Department name: 1
there are 6 unit area remain dept(1) total Area: 7
Fix width(Q): 7
Fix Length{0): 7
Ratio(5): 1
1.BACK 2.NEXT 3.MAIN MENU (2): 2
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Departiment(2/6)
Department name: 1

there are 6 unit area remain dept(1) total Area:

1
Fix Width(0): 1
Fix Length(0): 1

1

Ratio(5):

1. BACK 2.NEXT 3.MAIN MENU (2): ....

4. Design tRenldezeenuuudislissmlag

4.1 WWwaAndanafia

AIDE

Popuiation size
Please enter population size: 10
Number of generation- -
Please enter no. of generation; 18
Crossover Type Selection
1. PMX
2.CX
3.0X
4, PBX
5.0BX
Choose: 4
Probability of Crossover
Please enter Pc [0,1]: 0.5
Mutation Type Selection
1. Random Segquence
2. Insertion
3. Reciprdcal Exchange
Choose: 1
Probability of Mutation
Piease enter Pm [0,1]: 0.7
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Population Size:
no. of generation:
Reproduction:
Crossover:

Pc:

Mutation:

Pm:

10

18

Roulette Wheel
PBX

0.5

Random Sequence

0.1

1, BACK 2NEXT 3.MAIN MENU (2):2

4.1 panuuulasnistinua Department Order URE Band Widthias

@20ty fpInTilon Order:6-5-4-3-2-1 Band:1-1-1

Your Design

Please enter order(1):6

Flease enter order{2}:5

- Please enter order(3):2

Please enter order(4):3

Please enter order(5).4

Please enter order(6): 1

Factory length remain (3) unit Please enter Band(1):

Factory length remain (2) unit Please enter Band(2).7

Factory length remain (1) unit Please enter Band(3): 1

1, BACK 2.NEXT  3.MAIN MENU {(2):2
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fnl9LuasAITCR

#1] area 1 G 1%1)

SRR

ﬂﬂmulﬂ&HM'li
QWW@Qﬂ’ﬁmﬂJW]’J‘VI (R

5.2 mﬂiuufﬂmn'm

% function AXcheck 1/1/00
% -
function initial = AXcheckE{initial criterion dept.factory)

il eriterion==1
nodept=length(dept);
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%y emsmmsmee  find OUL A rolalion —=r————esenemane
[dept1,dept2,value tj=find(factory.AX), %use only top-right part of factory.AX

AX{=zeros(nodept,nodept);
for i=1:lengih(valuet)%regenerate AX1 as AXrelation matrix for each plant
AX1 (ﬁnd(lnitial.pop.order==dept1(i)).ﬂnd(initial.pop.order==dep12(i)))‘-=value1(i):%change factory.AX to initial AX
end
[dept1,depl2, AX]=find{AX1);%only check AfXreiation at depariment which has A/Xrefation
AXresult=AX1: %initial AXresult use for check AXresult,all s 0=PASS
for i=1:length(AX) '
n=initial,pop.order(dept1(i});.%order of department in row of AX1 marrix => use for make testedge
mzinitial pop.orden(dept2(i)); %order of department in column of AX1 marrix %> uge tor make teatzone
clear relbatweendept checkrel
for j=1:length{initial.deptifind(initial.pop.order==n}).G}-1
tastedge=initial.dept(find{initiai,pop.order==n}).G(: {;+ 1);%pick nexi-2 corner form G 10 make testedge
testedge=sori(testedge,2): %eort it '
if ~isequal(testedge(:,1).tesledgea(:,2))
sameedge=find{testadge(:, 1 )==testedge(:,2});%sameedga=1-=>edge it parallel 1o X-axis , 2=>dge is perallel tc Y-
axis
testzone=initial.dept(find(initial pop.order==m)).G; %lestzone is from G of dept order{m)
[x0,edgel]= find(testzone(sameedge,:)==testedga(sameedge)}. %pick the same end of edge
if ~isempty{edgel)
edge=testzone(; adged);
adge=sort(edge,2};
adge has 2 end
if (size{edge,2)>2) & (edge(;,1)==edge(:,2}}
edge(:,1)=[];
elseil (size(edge,2)>2) & (edge(:,2)==edge(:3))
edge(: 3)=[;

end

[ ———
if {(adge(;, 1)<=testedge(:,1))&k(edge(: 2)>=lestedge(:,1})) |
((edge(:,1)<=testedge(:.2))i(edge(:,2)>=testedge(:,2))) | {(edge(:1)>=testedge(:,1))k(edge(:,2)<=testedge(:,2)))

closeornot(j)=1,% 1=> testedge and adge are close, 2 => not ciose

-— check testedge and edge

eise

closeornot(j)=0;

end
else
closeornot(j}=0;
end
end
end
if AX({i)==

AXresult{(dept1(i),dept2(i})=AXresult(dept!{l),dept2(i})-any{any{clossornot==1}); %change initial AXresult {o
elsail AX(l)==-
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AXresuit{deptt(i),dept2(i))=AXresult(dept1 (i), dept2(i))+ali{ak(closecmot==0)});
and
and
initial AXresult=—any{find(AXresuil)); %if can find that any of AXresult is not equal to ‘¢’ => FAIL{0) ,1=>PASS
else
initial. AXresult=1;

end

%
% function band 1/1/00

%, * EERARERER S

function bandWidth=band(order dept,factory)
nodept=iength{order);
bandWidth=zeros(1,nodept};
i
=1,
commuiativeArea=0;
while {<=nodept
n=i;
a=round(rand);
ifa
bandwidth(f)=dept{orden(i)}.fxW+round(rand*dept(order(i}}.clearanceW);
olse
bandWidth{j)=dept{order(i)).ixL+round(rand"dept{order(i)).clearanceL),
end
if sum(bandWidth }>factory. W
bandWidth(j)=factory. W-sum(bandWidth{1:}-1));
end
areaOfband=factory.L*bandWidth(j);
deptOfthisband(j)=0;
while commulativeArea<areaOfband
commutativeAreazcommulativeArea+dept(ordet(l)).Area;
deptOfthisband(j)=deptOfthisband(j)+1;
I=i+1;
end
commulativeArea=commulativeArea-areaOfband;
if i>nodept
bandWidth{j}=factory.W-sum{bandWwidth{1:j-1)},
end
=i
end

%
%  function checkeamepop.m  modify 4/8/99
% ARERAsdRdnawridhde

funciion Ans1 = checkeameapop{newpop,atlpop)



if length{alipop)==1%don't check at fiest-pop
Ansi=1;
alse
for k=1:length(alipop)-1
if isequal(newpop,alipop(k))
Ana1=0; %same
break
slse
Ans1=1;%not same
end
ond

end

% * LT T YT e L LT ]

% function checksameX3.m  modify 2/8/99
o o
function Ana2 = checkeameX3(newpop, Xmatrix)
for k=1:length(Xmatrix}
if isequal(newpop,Xmatrix(k))
Ane2=0; %eame
break

else
Ans2=1;%not same
end

%
% function choosMut  27/9/99

%% e AhhkAAGd s snnaniddbwnnds

function mutaZonezchooseMut{gen2,Pm)
for i=1:length(gend}
if rand<=Pm
mutaZone(i)=i;
else
mutaZone(i}=0;
end

end

% ‘ oLl ]
% function chooseparent 1/1/00

o * * [TTTTRY

tunction | Choosel= choosaparent{geni,Pc)

reEn

%w-atwna-w«.a-'e- ChOOGG “"hich pal’Br‘Il
for i=1:langth{gen1)
if rand<Pc
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Choose(i}=i;% make a mark on parent that random number less than Xprob
else
Choose(i)=0;
end '
end
o renesesseeseety ole |0 @YEN NEMbEr fTHHI e sesssssianssieaes
if rem{length(find(Choose)),2)==1%parent must be even menber
# round(rand)==0{length{find{Choose))==length(Choose} %cut off 1 parent
zone=find(Choose~=0};
X0=round(rand"length(zone));
while X0==
X0=round(rand*length{zone));
end
Chooge(zone(X0})=0;
elseif round{rand)==1 %find new 1 parent
zonexfind(Choose==0};
X1=round(rand*length(zene));
while X1==0
X1=round(rand*length(zone));
end
Choose{zone(X1)}xzona(X1);
end
and

%
% function compare 1/1/00
%

function {newgen] = compare(newgen,oldgen,w1)

pop=length{oldgen);

ocidfitness=[oidgen.fitness],

[bestoldfit,bestoldposition]=max(oldfitness};%choose the best one from oldgen
newgen{pop+ 1 )=oldgen(bestoidposition};%add to new gen
newgen=fitness(newgen,w1);%Cal new fitness

newfliness=[newgen.fitness);

[poornewfit, poornewposition}=min{rewfitness ), %.chogs the poor one from newgen
newgen(poornewposition)=[);%delete it

newgen=fitness{newgen w1}, %cal new fitness

" . savrnnases
% function cost_TCR 1/1/00
Y P ppo s
function [initiat] = cost_TCR(initial distance,dept factory)
' nodept=lengih{dept);
for n=1:nodept
" eachArea=zeros(2 initial.dept(n).block);%area of each block
siartCentr=zeros(2 Initial dept(n).block);*centriod of each block
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i=1;
for I=1:nitial.depi{n}.Dlock
XO=initial.dept(n).I(1.i);%find X0 form |;
YO=initial.dept(n).I(2,1);
X1=initial dept{n).i{1,i+1};
Y i=initial.dept(n).i{2.i+1);
startCentr{1,i)=(X 1+X0)¥2;% X centriod of dept n
startCentr(2,1)=(Y1+YQ0¥2;% Y centricd of dept n
eachArea{1:2,1)=abs(X 1-X0)'abs{Y 1-Y0);%area of eachdept
and '
CcrossA=stariCentr."eachArea;%centraid” Area of each boick
TotalCerossA=sum({CcrossA,2);%lotal centroid * Area of each dept
initial.dept{n).Centr(1)=TolalCcreasA{1)./initial.dept(n).Area;%e X centriod of dept n
initial.dept({n}.Centr(2)=TotalCcrossA(2 ). finitial.dept(n).Area;% centriod o_f dept n

and

gyeesssessaseeniemmssask diciance .
switch distance
cese 1%aeuclidea

for i=1;nodept

for j=1:nodept

initiel DIST( f)=sqri{sum(tinitinl. dept(;) Centr-initial dept(i). Centr) A2)):%distance=sart{(x 1-x0)"2+ (y 1-y0)*2))

end
end
case 2%roctilinear
for 1=1:nodept
for j=1:nodept
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initial, DIST(i j)=zabs(initial dept(j).Centr{1 }-initial dept(}).Centr(1 )}+abainitial.dept{j).Centr(2)-initial dept(i).Centr(2));

end
end
and
Tl o I U T UL T
[depti,dept2,valuetj=find{factory.FLOW); “%change faclory. FLOW 1o initiai FLOW
initlal. FLOW=zeros{nodept,nodept);
for I=1:length(value1)
initial.FLOW(find(initial. pop.order==dapt1(i}),find(initial.pop.order==dept2(i})}=value 1{i);
end
D
if length({factory.COST)==1 %allcost Is equal
initial. COST=factory. COST;
elsa
initial. COST=zeros(nodept,nodept);
[dépla.depl4.valua2]=ﬁnd(fac10ry.COST); %change COSTmatrix to initial. COST
for i=1:dength{value2)

inltial COST(find(initial pop.order==dept3(i)}.find(initial pop.order==dept4(i}))=value2(i);

end
end



Gpeesreasssermrensranr total pogt e
initial totalCOST=eum{sum{initial DIST “initial FLOW.*initial COST));
LA . TCR ey

[deptS,dapté,valued]=find(factory. TCR),

initial, TCRO=zeros(nodept,nodept);

for i=1:iength(value3)

initial. TCRO{find(initial pop.order==dept5(i)),find(initial pop order==dept6(i}))=value3(i);
end

gpessesseseenmrsesisne Clngnacy rating *teeeTTTse s

inltial. TCR=sum(sum(initial. DIST "initial. TCRO)); %linear

initial,PselectCost=NaN;

initial, PselectTCR=NaN;

initial fitnesas=NaN;

% Ane L1 tewavaay e
% creatpop 1/1/00
% []1] EEREN AR R AR RN

function  [initial}=creatpop{pop,dept, factory,control);
nodept=length(dept);
i=1;
Xmatrix.pop order=0;%Xmatrix to store infeasible pop
Xmatrix.pop.band=0;
x=1; %iine of Xmatrix
while j<=pop
if control.criterion==1

Qpreenerevanessiuris  craste order (there are AfXrelation) ***
AX2=factory. AX; %AX2 uee to tesi that ali relation
for j=1:nodept
Cifj==
[initial{{).pop.order(i},AX2]=locate(],[]AX2,[]),%step1 random from every dept
elseif [~=18&any(find(AX2(initial(i).pop.order{j-1).:)==1})

finitia}{i}.pop.order(j),AX2]=locate(j,1,AX2 initial(i).pop.crder{j-1)},%nstep2 random from A-relation

elusif [~=18any(find(AX2(initial(i).pop.order(j-1),:)==0))

[initial{i).pop.order(}),AX 2]=locate(j,C,AX2,initial{i).pop.order(j«1));%step3 random from NO-relation

elseif j~=18any(find(AX 2(initial(i).pop.order(j-1).;)==-1))

[initial(i).pop.order(j},AX2]=locate(j,-1,AX2 initial(i). pop.order(j-1)); %stepd random from x-refation

end

end

%t---cn--tolnaﬁt-l create order (th‘ere are no ere'ﬂtinn) L T T P e T

cise
arrdept=[1:nodept];
for j=1:nodept
arrdeptO=find{arrdapt);
pos=round{rand*length{arrdept0));
white pos==
pos=rocund{rand*length{arrdept0));
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end
initial(i}.pop.order(j}=arrdeptl{pas};
arrdept{find(arrdept==arrdeptd{pos)})=0;
end
end
ggeesesssaasserenne  Cronte hand ***
initial(i}.pop band=band(initial{i).pop.order,dept factory);
ggesssssssessassenss  cho ke all condition
if checksamepopf{initial{i),initial)
if checksameX(initial(l},Xmatrix)
intint t=plant{initial(i).pop.order,initial(i).pop.band,dept.factory); *plent define all corner
initinl 1 -fixAreachack(initial t dept.tactory); %check FiX Area consirian
It initial1 fixresult==1 %PASS ilx Area constriant
initial 1=AXcheck(initial  ,control.criterion,dept factory); %check AX-relation constraint
if lniﬂa_l1.AXrBault==1 %PASS AX-relation constrain
initiatD{i)=cost_TCR(initial 1, control. distance depl,factory); %cal cost of each pop
=i+1; l%F'ASS all check, create nexi-pop
else
Xmatrix(x)=initial(i); %infeasible pop stored in Xmatrix

wend

X=x+1;
end
olse ‘
Xmatrix(x)=initial(i}; %infeasible pop stored in Xmatrix
x=x+1;
end
end
end
end

%-tcnunooccc--r-naq ﬁﬂness of initial

initial=fitness(initial0,control w1);%cal fitness of each pop
summary{initial};

closa

%ilca LLLLLIETT L (X1 e

% creatpop? user define 1/1/00

o - swis
function {initial]=creatpop2(order band dept factory control)
nodept=length{dept);

Xmatrix.pop.order=0;%Xmatrix to store infeasible bop
Xmatrix.pop.band=0;

x=1; %line of Xmatrix

Initidl.pop.ordor=order;

initlal.pop.band=band;

Ppreaserrvensasnrrne  apack pll condition * as ae

initial 1=plant(initial.pop.order.initial.pop.band,depl.factory); %piant define all corner
initial 1=fixAreacheck(initial1,dept.factory); %.check FiX Area constrian



initial t=AXcheck{initial 1, control.criterion,dept factory}; %check AX-relation constraint
initlalo=cost_TCR(initial1,control distance,dept factory); %cal cost of each pop

initial=fitness(inltial0,conlrol.w1);%cal fithess of sach pop

summary(initial);

gyreerareveensrsannes fitnass of initial
initial,control=control;
for i=1;nodept

initial. dept(i}.name=dept(initial.dept(i).nams}.name
end

draw(initial)

%

% funclion crassover /1700

%- ARRFEBRNY
function [gen2]=crossovert{gen 1,control,dept,factory.Pc.type)
gen2=gen’;

% choosa parent
[Choose]=chooseparent(geni,Pe); %choose parent
if find(Choosa)
% ** which typa
switch (type)
case 1

[gen20]=PMX{gen2 gen1,Choose);

typaname=MX",
case 2
[gen20]=CX{gen2,gen1.,Choosa);
fypename='CX’;
case 3
fgen20])=0OX(gen2,gen1,Choose);
typename="0X";
case 4
[gen20]=positionBase(gen2,gen1,Choosa);
typename='Position-Base';
case 5
{gen20jzorderBase{gen2,gent,Choose),
typename='Order-Base’;
end
gressssssssssesnssens  chock faasibiliy *teTtTSeTTRisseseesssas
for i=1:ength{gen1)
i
k=0;
while k<3
it find{Choose)
By eeeteermerresabade ot o
Chand=band{gen20(i).pop.order,dept,factory},

G rerivenesarrrinans crmk ail condition T DT LT T e PR T PP e Y
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gen22=plant(gen20(i).pop.order,Cband,dept faclory), %plant define ail corner
gen22=fixAreacheck(gen22,dept factory); %check FiX Area constrian
if gen22.fixresult==1 %PASS Fix Area constriant
gen22=AXcheck(gen22,control.criterion,dept,factory); %icheck AX-relation constraint
il gen22. AXresult==1 %PASS AX-relation constrain
gen2(i)=cost_TCR{gen22,control.distance,dept,factory); %cal cost of each pop
k=3;
olee .
gen2(ij=gent(i);
k=3;
end %offspring1.AXresuti==
eise
k=k+1;
if k==
gen2(iy=geni(i};
end
end %offspring 1.flixresult==
end %if find(Choove)
end %while k<3
end%for i=1:length{Choose)
gyresiseversieiiiie  finagg  Aees . seonaeas
[oen2)=fitness{gen2,control.wi);
[gen2]=compare(gen2.gen,conirol.w1);
end%if find {Choose)

% Ll [} L]
% funchion crosspointl  1/1/00

9% Ll L L (TTTITY

function [XP1,XP2]=crosspoint6(nodept)

XP1=round(rand*nodept);

XP2=round(rand" nadept);

while (XP1>=)P2) | (XP1==0} | (XP2==0)

XP1i=round(rand*nodept); )
XP2=round{rand*nodept};

end

G reenrredanay ey L) OITYTYLT A sdttnanesinrapaniitnventd

% function crosspoint  1/1/00
%
tunction XP=crosspoint?(nodept.no_X)
for i=1:no_X
XP(i)=round{rand*nodept);
while (XP{l}==0)
XP(i)=round(rand“nodept);

end
if1>1
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while any(XP(i)==XP(1:i-1)) | (XP(i)}==0)
XP{i)=round(rand‘nodept);
end
end
end
XP=sort(XPY),

%--uu'-nucns ------

% function CX 1/1/00
%
function [gen2}=CX(gen2,gen1,Choocse};

nodept=length{gen1(1).pop.order);

crosaZone=find(Choose};

for i=1:2:length{croasZone)-1
gen2(crossZone(i)).pop.order=2eros(1,nodapt);
gen2{crosaZona(i+1)).pop.order=zercs{1,nodspt);
loc=1; .
value=gen1{crossZone(l+1)).pop.crder(1);
while value ~= gen1(crossZone(l}).pop.order{1)
gen2{crassZone(i)).pop.order{loc)=gen1{crossZone(i)}.pop.order(loc);

gen2{croasZaone(i+1)).pop.order(loc)=gen1{crossZone(i+1)).pop.order{ioc);
[locj=find{gen 1{crosaZonefi)).pop.order==gen1({crosaZone(i+1)).pop.order{loc));
value=gen1{crossZone(i+1}).pop.order(loc);
end
gen2(crossZoneii)).pop.order(loc)=gen1{crossZone(i)).pop.order{loc);
gen2(crossZone(i+1)).pop.order(loc)=gen1{croasZane(i+1)}.pop.order(loc);

loc2=find(gen2(crosaZone(i}).pop.order==0};
for j=1:length({loc2} i
gen2{crossZone(i)).pop.order{foc2(]))=gen1(crossZone(i+1)).pop.order(loc2()));
gen2{crossZone(i+1}).pop.order(loc2(j)}=gen 1(crossZone(i)).pop.order{loc2(j));
end

end

% ¥ Sekneddtd (X1

% function draw  1/1/00

!% ----- » LI LI

function figure =draw(initial);
cle
forinti(\inin\ntn®);

fprintf(“'===== _____ == *= E===== SSo=EfssR*Scs===asszoos ==TRSSSz===

pop=length(initial);
for i=1length(initial)
axis equal
clf
for n=1:lenpth{initial( 1).dept)
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shg
hold an
tine{inttial(i).dept(n).G(1,:}Initlal(i).depl{n).G{2,:))
title([Plant(,Int2str(i).).....Cost; *int2str(initial{1).totalCOST)," ... TCR: *int2str(initial(1). TCR)])
xlabel(‘factory width {Unit)')
ylabel('factory length (Unit)’)
plot(initial(l).dept(n).Centr{1),initiai(i).dept(n).Centr(2),"b');
if initial{i).dept{n).fixW~=0linitial(i).dept(n).fixL~=0

lsxt(inmai(l).dapl(n).cmtr(‘.),Inlﬁnl(l).dapt(n).Ganlr(Z),['[‘.numZstr(lnitlal(l ).deptin).name),]..area:' int2str(initial(i).dapt(n).
Area),'.. flx:('.nusttr(InIﬂal(i).dept(n).ﬁxW),"'.m.wnzstr(initlal(i).dept(n).ﬁ:L).')'])

text(initial(i}.depi(n).Centr(1)initai(i }.dept(n).Cemr(2)(T num2str(initiaki}.dept(n).name),]..area int2str(initial(i).dept(n},
Areal])
end
end
forintl’  Plant initial(%g) completeinin'i);
if inttial(i).control. distance==1
fprintf(’ Euclidean distance\n’),
olse
fprintf(" Ractilinear distance\n'),
end
it initial{i}.comrot.critarion==1;
fprintf(* single-objective(restrict refation concern}inin');
oise
fprintf(" multi-objective w1:3g w2:%gin\n'initlal(i).controlw1,1-initial(i).control.w1};
end ) k
fprintd("  Order:' );
disp(initial(i).pop.order};,
fprintl(' Band ')
disp(initial(i}.pop.band);
if initiat({i).control.criterion==1,
fprintf(" Cost:  %g\n'initial(i).totalCOSTY),
else
fprintl" Cost: %g TCR: %g\n'initial({i)totalCOST initial{i). TCR),

end
fprintf(\n'};
fprintf(’ Press any key to continue..\n');
forintl("=z= = * zzzz zuzfzz=t=ca ==
------ * ===8 ')
end
hold off

% hbh
% function fitness  1/1/00
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%'I-'- - Ll
function [intial)=fitness(initial, W1)

W2=1-W1;%weigth for TCR

allcost=(initlal.totalCOST]; %arrange all cost of generation into malrix

total COST=sum(alicost);%sum of all cost of generation

costFitness=(totalCOST-allcost), %less cost high fitness

totalCOSTfitness=sum{costFitness);

aliTCR=[initial. TCR];%arrange all cost of generation into matrix

total TCR=sum(allTCR);%sum of all cost of generalion

TCRFitness=(total TCR-allTCR);%less cost high fitness

total TCRfitnesszsum(TCRFiness);

fot i=1:length(initial}
initiai{l).PeatectCost=costFiineas(iftotal COSTfilness; %ralative filness
initiml{i).Peelect TCR=TCRFitness(i}totalTCR{ilness;
Initial(i).fitness=W1*(initiai(i).PselectCost)+W2" (initial(i).Fselec{ TCR);

end

ag* * * TR TP TR P A e AT

% function fixAraacheck 1/1/00

%I..ll conihn

function Initial = fixArsacheck(initial,dept factory);
nodept=iength{dept);
for n=1:nodepl; % every dept
initial.dept(n), WL={zeros(4,2),NaN"onas(4, 1)
dept. locate in 1 bolck ==-—es—ommmemene
if initial.dept({n).block==1;
initial dapt(n).WL{1,1)=abs(initial dept{n).G(1,3}-initial depl(n}.G(1,1)};
Initial, dept(n).WL(1,2)=abs(initial.dept{n).G(2 3)-initial. dept(n).G(2,1))
O e—ve—ee—  gopl, locate in 2 bolck —r—r-es e
eiseif initial dept(n).block==2;
if abe(initiat.dapt(n).G(2,6)-initial.dept{n}.G(2,1})<=abs(inilial.depl{n).G{2,5)initial.dept(n).G(2 4))
initial.dept{n}.WL{1,1)=abs(inltial.dept(n).G(1,5}-initial.dept{n).G(1,1));%(I-1)
initial.dept(n).WL(1,2)=abs(initial dept{n].G(2,5 initial.dept(n). G(2, 1)}
Initial dept(n).WL(2,1)=abs(initial.dept{n}.G( 1.5 }-initial .dept{n).G({1,3)}):%(1-2)
inittal.dept{n).WL(2,2)=abs(initial.dept(n).G(2,5)-initial.dept(n).G(2,3));

%

else
initial.dept(n).WL(1,1)=abs(initial.dept(n).G(1.2)-initial.dept{n).G(1,1}};%(i-1)
initial.dept{n).WL(1,2)=abs(initial.dept(n).G(2,6 rinitial.dept{n).G(2, 1)}
Initial dept{n).WL(2,1)=abs(initial.dept(n).G(1,6)-initial.dept(n).G(1,5)):%{!1-2)

Initial, dept{n).WL(2,2)=abs(initial .dept(n).G(2,4)-initial.dept(n).G{2,5));

end

Y dept, locate in 3(+2m) bolck  —veemmrrrmmereaan -
elsaif initial dept(n}).block>2&rem(initial. dspi(n).block,2)==1;
* initial.dept(n).WL(1,1)=abs(initial.dept{n}.G{1.7 }-initial.dept{n).G(1,1);%{1-1).01-)

initial,dept{n).WL{1 .2)=abs{inilial.dept(n).G(Z,?}-initiat.dept(n).G(2. 0
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initial.dept(n),WL(2,1)=abs(initial.dept(n).G{1,7}-initial.dept(n).G{1 3N %(1-2),(11-2)
initial.dept{n},WL{2,2)=abs(initlal dept(n).G(2,7)-nitial dept{n).G(2,3});
initial dept(n).WL(3, 1)=abs(initial.dept({n).G{1,5)-initial.dept{n).G(1,3)):%(1-3).(i-3)
initial.dept(n}. WL(3,2)=aba(initial dept(n}.G(2,5)-initial.dept(n). G(2,3));
if (absa(initial.dept(n).G(2,8}-initial.dept(n).G(2,1 Yy+abs(initial.dept(n).G(2,5 Hinitial.dept(n).G(2,4))}>=factory.L
initial. dept(n).WL(4,1)=abs(inifial.dept(n).G(1,5)-initial.dept{n).G(1,1}): %(ll-4)
inIliat.dept(n].WL@.2)=abs(initial.dept{n}.G(2.5)-ini|ial,dapt(n).G(2.1));
end
%peemr—emre— dopPt. lOcata in 4(+2m) DOICK  —remsememsommanaes
elgoif initiat.dept(n).block>2&rem(initial.dept(n).block,2)==0:
inltial.dept(n). WL(2, 1)=abs(initial.depi(n).G{ 1,4 -inilial.depl(n}.G(1,3)},% (I-2),(1I-2),(HI-3)
Initial.dept{n).WL(2,2)=aba(initial.dept(n).G(2,7 -initial.depl(n).G(2,3));
if initial.dept{n).G(2,1)==initial.dept{n).G(2,6)%
initiat.dept(n).WL(1,1)=abs(initial.dept{n}.G(1,7)-initial.dept{n).G(T, 1]} %(lI-1)
initial.dept{n}.WL{ 1.2)=abs(inltial.dept(n).G(2.T)-iniiial.dept(n).G(2.1));
elself abe(initial.dept(n).G{2,8)-initial.dept(n).G(2,1)) < abs(initial.dept(n).G(2,B)-inttial dept(n).G{(2,6})
initial.dapt(n).WL{1,1)=abs(inital.dept(n}.G(1.,7 }-initial.dept{n).G(1,1))%(i-1)
initial.dept(n},WL(1,2)=abs(initial .ﬂapt(n J.G{2,7Finitial.dept(n).G{2, 1))
initial.dept(n).WL(3,1)=abs(initial.dapt{n).G({1,7)-initial. dep{n}.G(1.3)): %(!-3)
initlal dept(n).WL{3,2)=abs(initial.dept(n).G(2,7 }-initialdepl(n).G(2,5));
elsalf abs(initial.depl(n).G(2,8)-initial.dept(n).G(2,1)) > abs(initial.depk(n).G(2B)-initial.dept(n).G(2,8})
initial.dept(n).WL(1,1)=abs(initial deptin].G( 1,5}-ntlial dept{n).G(1,1)):%(l-1)
initial. depl{n).WL{1,2)=abs(initial.dept(n).G(2,7)-initial dept{n}.G(2,1));
initial.dept(n).WL(3,1)=abs(initial.dept(n).G({1,7 -initial.depi(n).G(1,1));%(11-3}
initlal.dept(n).WL(3,2)=abs(initial.dept(n).G(2,7}-initial dep(n).G(2,5))
end;
end;

%
initial.dept(n).WL=sort (initial.dept(n).WL.2); %W must less than L
zona=find(initial dept(n).WL{:, 1}};
for i=1:length(zone)
initial. dept(n).WL(zone(i),3)=initial.dept(n).WL(zone(}),2} Jinitial.dept(n).WL(zone(i},1);
end
It find{initial dapt(n), WL{:,3)>=depl{initial.dept(n).name).ratio)
initial dept(n).fixresult=0;
else
fixArea=[initial. dept(n).fixW initiai depl{n}.fixL|;
fixArea=repmat(fixArea size{initial.dept(n),WL,1),1};
checkAz(fixArea <= initial.dept(n).WL({:,1:2)}); %compare FIX Area and each dept W&L
Initial.dept(n).fixresultzany(all(checkA,2)};%each dept FiX Area check resull,1=PASS
end
facfixresult(n)=initial.depi{n).fixresuit;
ond
_ initial.fixresuit= aii{facfixiesult);%factory FiX Area check rasult,1=PASS

9 L] . Prekdddrreri bt rrdunanred
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% function GAGO 1/1/00

n/ whkhhd AN hpidy L] » 1tay
Q

function [optimum0] =GAGO
{dept tactory,rep,pop,no, _gen,Stype,Ctype,Pc, Miype, Pm.control=para;
fidQ=tfepen(totalreport.m’,'w'};
for set=1:1
if set<10
fid1=fopen([report00',int2str(set),'.m’],'w');
fid2=fopen(['graph00',int2str(set),'.m],'w');
elself pet<100
fid1=fopen([repori0'Int2str(cet),’.m7, w');
fid2=topen(|'graph0’.int2str(sat),'m’],'w');
else
fid1=fopen([report’Int2str{set},’.m], W)
fid2=fopen(Pgraph’int2str{sat),’m7,'w’);
end
[optimumo.ﬁrstgono.timepergeno.ﬁm] _
=GArun{dept factory,rep(set),pop(sel),no _gen(sat), Stype(set),Ctype(set),Pc(set), Mtype(set),Pm(set) control{eet),fid 1, set
% '
grephrecord{fid2,fit0,no_gen).
timepergen(set,:)=timepargend;
clear fid1 fid2
timenow=clock;
fprinti(fid0, W)
tprintf{id0.' parameter set :%g\n',set);
fprintf(fid0,’ date %5 time %g:%g:%gin' date timenaw(4) limenow(5) Umenow(8));
fprintl(fid0," wt:%g popi%g no_gen:%g Stype:d%g Clype:%g Pci%g Miype:%g
F'm:%g\n‘.control(sat).w!,pop(sel).no_gen(set).Stype(sel).Ctype(se!),Pc(set).Mtype(aet).F'm(aet));

fprintf{fid0, v " rrem Vs U N
for i=1:rep{set)
forinHf(fid0," coat: %g \n',optimum0(i).totalCOSTY;
fprintl(id0, TCR: = %g \noptimuma(i) TCRY;
ftprintf(fd0,’ found_al: %g \n' firstgen0(i) );
fprintf(fid0,”  time/gen: %1.4( \n' limepergenO(i));

for k=1:length{dept)
fprintl(fid0,!  order{%g):%g band{%g):%g\n"k,optimum0(i}.pop.order(k) koptintumd(i).pop.band{k)});
end -
fprintf(fid0,' \n");
and
fprintf(fid,' \n'y;

end
fclose(fid0);

%-- [Li il Y



% function GAoperation 11100
o,’n iy FrrEhARIERRARE .
function

[optimum,fit, first]=Gaoperation(initial,no _gen.Stype.Ctype,Pc.Mtype.Pm.oontrol.rep.rep_ordef.dept.tactory);
gen3=initial;
allfit=(initiatfitness];
maxpos=find(alifit==max(altfit});
fit.cost(1)=initial(maxpos(1)).total COST;
fit. TCR(1)=initial(maxpos({1)).TCR;
summary(initial);
for i=1:po_gen
[gen1]=selaction{gend,control.w1 dept factory, Stype ),
[genZi=crossover(geni,control deptfactory,Pe,.Clype),
[gen3]=mutation{gen2,control dept,factory,Pm,Mtype);
maxpos=summary(gend);
fit.cosi(i+ 1 Fgen3{maxpos).totalCOST;
fit. TCR(i+1)=gen3(maxpos). TCR;
end
w2=1-control.wi;
allcost=[fit.cost];
sumcost=sum{alicost);
alicost=sumcost-alicost;
sumcost=zeum{alicost);
allTCR={ft.TCR];
sumTCR=sum(aliTCR};
aiTCR=sumTCR-aliTCR; -
sumTCR=sum(allTCR);
costfit=ailcost./sumcost;
TCRfit=alITCR:/sumTCR;
GAfit=conirol wt*costfit+tw2* TCRIfit;
first=find{GAfit==max(GAft));
frat=firs(1);
optimum=gen3maxpos),

optimum.control=control;

Resnansoas

o4 Ruw b
% function GArun  1/1/Q0

O arres L AT T

function  [optimumO,firstgen timepergen,fit0]
=GArun{dept factory,rep,pop.no_gen,Stype,Ctype,Pc Mtype, Pm,control fid, set);

timenow=clock;
fprinti(fid, v . \n'};
fprintt(fid,' date %s time %g:%g:%g\n’ date,timencw(4).timenow(5) timenow(6));
fprinti(fd,’ parameter set :%0\n’ set);

fprinti(fid,” pop:Seg no_gen:%g Stype:%g Ctype:%g Pc:%g Mivpe:dta
Pm:%g\n’,pop no_gen,Stype, Ctype,Pc Mtype, Pm]);
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tprintf{fid,™* ')
for (=1:rep
time(1)=cputime;

[initialj=creatpop(pop,dept,factory,control);

time(2)=cputime;
[optimunm, it firstj=GAoperation(initial,no_gen, Stype,Clype Pc,Miype,Pm,.control rep, | dept factory).
time(3)=cputime;
fito(i)=fit;
firstgen(i)=first;
timeused(l, 1 )=time(3)}-time(1};
timsused=time2ciock(timeused,i);
timeused(i,5)=time(Z)-time(1});
timepergen(i)=(tima(3)-time(2})/ro_gen;
optimumd(i}=optimum;
end
limet{2)=cputime;
avetime(1)=mean(timeused(:,1});
mﬁmﬁmzdock{anﬁme. 1%
for j=1irep
fprinti{fid," cost; %g \n' optimum0(j).lotal COST);
tprintifid! TCR:  %g \n' optimum0yj).TCR);
forinti{fid,' found_at: %g n' firstgen(j) );
tprintf(fid,’ time/gen: %1.4( \n' timepergen{j}};
for k=1.length(dept)
tprintf(fid,’  order{%g):%g band(%g):%g\n"k optimumd() pop.order({k} k,optimum0{j).pop.band(k));

end
fprintf(fid,’ \n');
end
fpeintf(fid,™ ')
forinti{fid,' = TOTAL SUMMARY *1n");
fprintf(fid," “\n');
fprintf(fid,’ Ave.Total time: %ag hr, %g min. %2.3f sec./rep.
in",avetime(2),avetime(3),avetimea(4));
fprintf(fid,’ Ave.initime: %2.4f sec./(%gpop)\n’ mean(timeused(;,5)),pop);
tprintf(fd,’ Ave.fimelgen: %2.41 sec./gen\n’,mean{timepergan));
fprintf(fid," “n');
fclose(fid);
5 rwinann .

% function graphrecord  1/1/00

LA (LIl . - ann e

function fid = graphrecord(fid,fit,no_gen);
for i=1:length(fit)

forintf(fid,' rep(3%ghn’i);

for j=1length(fit{1).cost)

241



fprintf(fid,” gen(%g) cost: %gq TCR: %gin’j-1,fitl}.cost(i).fitfi). TCR{)};
end
fprintf(fid,\n');

end
felose(fid);

PEL R T

%Q-ac- - LLLL ] anwanns

% function insertion 1/1/00
o " - . soass
function [gen3]=insartion(gen2 mutaZona);
nodept=length{gen2(1}.pop.order),
for i=1:length{mutaZone}
clear part1 part2 part3d partd
if find{mutaZone(i})
order=gen2(l).pop.order;
for |=1:2
MP{(j}=randomposition(nodept,0);
end
MPzsort(MP);
If MP{1)==1 & MP(2)==nodept
gen3(i).pop.order=order;

else

part1=order(1:MP(1)-1};
part2=order{MP{1):MP(2});
partd=order{MP(2)+1:end};
partd=[part1,parid];
inst=randomposition(length{part4),0};
gen3(i).pop.ordar=[partd{ 1:inst-1),part2 partd{inst:end)l;
end

end

end

grssser (1] L1 ckwamkbadhnnkinadn

% fungtion locate  1/1/00

8" . o
function [name,AX2] = locate(j,x,AX2,DEPT)
if j==
posdept = {1:stze(AX2,1)];
else

posdept = find(AX2(DEPT,:}==(x});%dept that relate ta deptj
AX2(:,DEPT)=NaN;%don't look at AX2
AX2(DEPT,:}=NaN;
end
if ~isampty(posdept)

position = round{rand*length({poedept));%sposition in poasible dept
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while position==0
position = round(rand*tength(posdept));
end
name=posdept(position);%name of thal dept
end

AX2(name,name)=NaN;%don't look at AX2(name name)

Ofustatnueanee AR ERENAS SR I RS o

% function mutation 1/1/00

% " » Ll il
function [gen3}=mutation{gen2,control dept factory,Pm,Miype);
gend=gen2;

Gproesrennmimiint  choose gen2 fo mutation **
mutaZone=chooseMut{gen2,Pm) ;

if find(mutaZone)

% = which type 6%

switch Miype

cace 1
[gen30)=randSequenca(gen mitaZone factory);

case 2

{gen30j=insertion(gen2,mutaZone};
case 3
[gen30]=reciExchange(gen2,mutaZone),
and-
Gt emsarsssrrersanenes  chack faggibility 4*ett1eeraseaseesensaneniene
for i=1:length{mutaZone) i
if find(mutaZona(i})
k=0;
while k<3
Bprevessbeivaeniines  progte hand TAASSAERREEARERSERR TR es oL ARe
gen30(i). pop.band=band(gend0(i).pop.order dept,factory);
ggtareresasarrrasane opoal il anndiien skenrseseaaragerssaassreasien
mute 1=plant(gen30(i}.pop.order,gen30(l). pop.band,dept.factory); %plant define all corner
mute 1=fixArsacheck{mute1,dept factory); %chack FIX Area consitian
if mute.fixresuit==1 %FPASS Fix Area constriant
mute1=AXcheck{mute1,control.eriterion,dept factory); Secheck AX-relation constraint
if mutel AXresult==1 %PASS AX-relation constrain
gen3(i)=cost_TCR({mute1,control distance dept,factory); %cal cost of each pop
k=3; %PASS ail check, create next-pop
olse
gen3{i}=gen2(l};
k=3,
end %if mutel.AXresult==
else
k=k+1;
if k==3
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gen3{i}=gen2{i};
end
end %if{ mute1.fixresult==1
end %while k<=3
and
end
end

%'itt.'n'!!cll.nil ﬁtneﬂs Lt L Lt L TR L TP R L Y TS L L LT T

Igen3i=fitness{gen3,control.wl);

[gen3]= compare{gend gen2 control.w1},

% Lo d
% function orderBase 1/1/00

npbdsaREN

% row
function [gen2}=orderBage2(gen2,gen1,Choose);
nodopt=iength{gen 1{1).pop.ordat);
crossZonexfind(Choose);
for i=1:2;length{crossZone)-1
clear ordersst! orderset2
gen2{crossZone{i)}=geni{crosaZone(i+ 1))
gen2(crossZone(i+1))}=geni({crossZone(i});

no_X=round{rand*nodept).%randomn number of cross point

while no_Xs==

no_X=round{rand‘nodept);
end
XP=crosspoint2(nodept,no_X};
sel1=[geni{crossZona(i)).pop.order(XP)};
sat2=[gen1{crossZone(i+1)).pop.order(XP}};
for j=1:dength(XP)

ordersat1(j)=find(geni(crossZone(i+1)}.pop.order==set1{j));

orderset?(j)=find(geni(crossZone(i)).pop.order==set2(j));

end
orderset1=gort{ordersal1);
orderset2=sort{orderset2);
m=1,
for k=1:nodapt
if any(k==orderset1}
gan-Z(c:rosaZone(i)).pop.order(k)=sen(m):
mEm+1;
end
end
m=1;
for k=1.nodept
if any(k==orderset2}
gen2(crossZone(i+1)).pop.order(k}=set2(m);

m=m+1,
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end
end
end

- LT L S Lt

%w- "
% function OX 11100

%-tdant-tonot-culn-aotu-l!-r-1|||t|n--|'in-on’-n. e

function [gen2]=0X(gen2,gen1,Choosa),

nodept=length{gen1(1).pop.order),

crpssZone=find(Choose);

for 1=1:2:length(crossZone)-1
bandiength=max{{max(find{gen1(crossZone(l)).pop.band}),max(find(gent(croasZone(i+1)).pop.band))]):
[XP1,XP2}=crosspoint1{nodept);
parent11=gen1{crossZone{i)).pop.order;
parent22=gen1(crossZone(i+1}}.pop.order;
for ]=XP1:XP2
loc1 = find{gen1{crossZone(i})).pap.order==gent{crossZone(i+1)}.pop.crder(j));
parenti i{loc1)=0; .
loc2 = find{gen t({crossZone(i+1)).pop.order==geni(crosaZona(i)}.pop.order(j));
parent22(loc2)=0; i
end
parent]i=repmal{parent11,1,2);
parentZ22=repmat{parenti22,1,2);
{x1 x2 order{1} = find(parent? (XP1:XP1+nodept-1));
[x3 x4 order22] = find(parent22(XP 1;XP1+nodept-1));
k=1;
for j=1:nodept
it jr=XP1 & j<=XP2
genz{crossZone(i)).pop.order(|{)~gen1(crosaZone(i+1)).pop.order(j},
gen2{crossZone(i+1)).pop.order(j)=geni{croesZone(i)).pop.order(j};
else
gen2({crogaZona(i}).pop.order{j}=order11(k),
ger_ai(crossZona(i*-1)).pop.order(j)=order22(k);

k=k+1;
end
end
end
vﬂ L1 AREk R AR ARl A d e Akwhwhady

% function paired  10/8/99

o . . o

function [pair,Uparent] = paired(parent)

Xprob = 1;%Inpul(’ Please snter CrossOver Probability ;"Y;%crossover probability

%'lllllc-t!-ltt!l ChOOSS whlch pafeﬂt L L
for (=1:length{parent)
if rand<Xprob
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value1(i)=1;% make a mark on parent that random number less than Xprob
eise

value1(i)=0;
end

end

T e L L T T P e P YL L L]

gguessreemsiiireees (rote 1o gven nember
if ram{length{find{value1)),2)==1%parent must be even menber
if round(rand)==0jlength{find(value1))==length(velue1) %cut off 1 parent
zone=find(valua 1~=0);
X0=round(rand™length(zone});
while X0==0
X0=round{rand*iength{zone});
end
value1(zone(X0))=0;
alseif round{rand}==1 %find new 1 parent
zone=find(value1==(0);
X1=round({rand*length{zone));
while X1==
X1=round(rand*fength(zone));
end
value 1(zone(X1))=zone(X1};
end
end
gprersmsensensnes  (danfify all parent *itreeINieesestessiaeenaan s
value2 =find{value1); %find all choose parent
for I=1:length{value2)
Xparent(i}=parent(vaiua2(i)};% identify all parent
end
ggresssssesesmnes  conrder il parent by random  STTestresessssssesssnse
value3=[1:length{vatue2)};
for i=1:length{value3)
zone=find(value3);,%look for which cne isn't choosen
order=round{rand*length{zone)}; %random the order
while order==
order=round(rand*length({zone));
end
Xparent2(i)=Xparent(value3d{zone{order)}};
valued(zone{order))=0,%change the choosen one ta
end '
gorevessserenmins  ohooga 2 parent to make 1 pair **teeTTITasIIrnasseer
for i=1:2:length(find(value1)}1 %2 next-to parent be mew 1 pair
pair{(i+1)¥2).parent(1)=Xparent2(i);
pair{{i+1)¥2).parent{2)=Xparent2(i+1);
end
gesrrressaareessns ynchonge parent -

valve4 = find{value1==0);
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if find(value1==0)
for i=1:length{value4);
Upatent{i)=parent(value4(i));
end
eleg
Uparent={};

end

5% .
% function plant 1/1/0U

%
function Initial=plant6{c: der,band,dept,factory).
nodept=length(dept);

lnitial. pop.order=order;

Initial.pop.band=band;

x0=0; %eanter Coor of X at start powtf"on

y0=0; %enter Coor of Y at start pesotion

Dr0=1; %enter the direclion + i8 up , - is down first
|0=1; %star band g

for n=1:nodept; %every dept

m=order(n);

initial dept{n).name=m;
Initial, dept{n).Area=depl{m}.Area;
initial.dept(n}.fixW=dept{m).fixW;
initial,dept{n), ixt.=dept(m).fixL;
Dr=0r0 ; %set direction = starl direction
stila=initial.depi(n).Area; %stil remain area
Deta =0; %area will be delete at this time
j=i0; %start at band 1
c=1; %cl=first col to draw in K
while StilA » 0; %lock at Stila
% x0 s coor of X at position 0,0 is coor of Y at position 0
Initial.depiin).i(1,c)= x0;%deptt start in row1, dept2 start in row3
initial.dept{n).N2.c)= y0;
x1= x0+band(f} ; %cal x0+band width
initiul. dept(n).l{1,c+1)= x1; %1 dept at 32 dept at G
if Dr==1; % for y1
if yO+{StilAband(j}) < factory.L;
y1 = yO+(StiABand());
else y1=factory.L;
j=i+1; %go to next band
end
elseif Dr==-1;
if yO-{StiA/band(j)} > 0;
y1=y0-(StitAband()});
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elss y1=0;
i=j+1; %go to next band too
end
ond
initial depl(n).4{(2,c+1) = ¥1;
Dr= -Dr ; %change direction
DelA=abs{x1-x0)*abs(y1-y0); %cal area of delete area
c=c+1; %next col
StitA=SHIA-DelA;
it StilA<0.05
StilA=0;
end
x0=x1; %set x0 for next loop
y0=y1; %set y0 for next ioop
end %while loop to find Xy
JO=I; %set band for next dept.= end of this dept. )
DrO=0r: %set start direction for next dept.= last dir, of this dept.
if y0>0 & yO<factory.L; %if y0 not exceed length
x0=x0-band(j); %dont change x0 , use the same
DrQ= -Or; Y%direction toc
end
end %for-loop far avery dept
for n=1:nodept¥%avery dept
Initial. dept(n}.block=gize{initial dept{n}.},2}-1; \
dept(n).F=zeros(2,initial.dept(n).block-1); '
for j=1:initial.dept{n).block %first row=X
dept(n).F(1,*4-3)=initial.dept(n}.I(T.{};
dept{n).F(2 " 4-3)=initlal dept(n).I(2,});
dept(n).F(1,]*4-2)=initial.dept(n).i{1,]+1);
dept{n).F(2,|"4-2)=initial.dept(n).}(2,);
dept(n).F(1,i*4-1)=Initial.dept(n).i{1,j+1} .
dept(n}.F(2.}"4-1)=initial.dept(n).}(2,j+1};
dept(n).F(1,j*4)=initial.dept(n}.i{ [}
dept(n},F(2.j*4)=initial.dept{n).|(2,j+1);
hold on
end
Opermmsmmer—eme  Graphiic in 1 Band {require 5 points) -----—
if Initial.dept(n).block==1
initial.dept{n}.G=zeros(2,5),
initial.dept(n).G(1:2,1)=dept(n}.F(1:2,1};
initial.dapt(n).Gi(1:2,2)=dept(n).F(1:2,2);
initlal.dept(n).G(1:2,3)=dept(n}.F(1:2.3}.
Initia).dept(n).G(1:2,4)=dept(n).F(1:2.4);
initial.dept(n).G(1:2,5)=dept(n).F(1:2,1);
graphicein 2 Band (require 7 points) e--— :

elseifl initial.depl(n).biock==2

[T



initial.dept(n).G=zeros{2,7);

initial.dept(n).G(1:2,1)=dept(n).F{1:2,1);
initial.dept{n).G(1:2,2)=dept{n).F (1:2,2);
initial.dept(n).G(1:2,3)=depkin}.F(1:2.8):
initial.dept({n).G(1:2 4)=dept(n}.F(1:2,7);
initial.dept(n).G(1:2,5)=dept(n}.F{1:2,8);
initial. dept(n).G(1:2,6)=dept(n).F(1:2,4).
initial.dept(n).G(1:2,7)=dept(n).F{1:2,1);

Y emeememe  graphic in 3(+2n) Band (require 9 points) -
elself (initial.dept(n).block>2)&{rem(initial. dept(n).block,2)==1)
endpoim=size{dept{n}.F,2);% last position in F
initial dept{n}.G=zeros{2,8);
initiad depi{n).G(1:2,1)=dept(n).F(1:2,1);
initial dept(n).G(1:2,2)=dept(n).F(1:2,2);
initial.dept{n).G(1:2,3)=dept(n).F (12,8},
initial.dept{n).G{1;2.4)=dept(n).F(1:2,endpoint-2);
initial.dept({n).G(1:2,5xdept(n).F(1:2,endpoint-1};
Initial dept(n).G{1:2,8)=dept(n).F(1:2,endpoint);
initial.dept(n).G(1:2.7 jxdepi(n).F(1:2,endpoint-8);
initint,dept(n).G(1:2,6)=depl(n).F(1:2,4),
initial.dept(n).G(1:2,9)=dept(n).F(1:2,1});

graphic in 4 (+2n)Band (require 9 points) —--

elsait (initial dept(n).block>2)&(remyiniliat. dept(n).block 2)==0)

endpoint=size(dept(n).F .2}
initial.dept(n).G=zeroa(2,8);
initial.dept(n).G(1:2,1)=dept(n).F(1:2,1);

inftial depi{n).G(1:2,2)=dept({n}.F{1:2,2);

inttial dept(n).G(1:2,3)=dept(n).F(1:2,8);

initial. dept(n).G{1:2,4)=dept{n}.F{1:2,endpoint-6);
initial. dept(n).G(1:2,5)=dept(n).F{1:2,endpoint},
initial.dept(n).G(1:2,6)=dept(n).F(1:2,endpoint-1);
initial.dept(n).G{1:2,7)=dept({n}.F(1:2,endpaint-2};
initial.dept(n).G(1:2,8)=depi(n).F(1:2.4);

initial depi{n).G(1:2,9)=dept(n).F{1:2,1};

%

end
~

end

u/u-ntotn---toa-cnccnoncn--p-ﬁc---rw-aqw-nar--qw--;o-«:nn—--t-n L T LT T R

% function PMX 1/1/00

ggeve

function  [gen2]=PMX(gen2,geni,Choose};

nodept=length(gen 1(1).pop.crder);

crossZone=find(Choose);

for i=1:2:langth{croasZone)-1 %2 offspring in one time
[XP1,XP2]=crosspaint 1{nodapt);%generate 2 crosspoint
for {=1:nodept E
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if (>=XP1)&(j<=XP2)
gen2(crossZone(i)).pop.order(])=gen1(crau2mo(i+1)).pop.ordar(j);%change between XP1 and XP2
gan2(crossZone(l+1)).pop.ordor(j)=gen1(crouZone(i)).pop.order(j);
alse
gyesaesssswsssecane rangir offspring 1 [TPORPRISS PP
vaiuet = geni(crosaZone(i)).pop.order(j}
position1=(find{gen1 (crossZone(i+1 }).pop.order(XP1:XP2)==value});
white ~isempty(position1) :
valuel =gen1(orossZone(i)).pop.order(XP1+position1-1):
position1=(find{gen{crossZona(i+1 ).pop.order(XP1:XP2)==value1)};
eand
genZ(crossZom(l)).pop.orderU}--valuﬂ H
ggerenssssseassesss ranaic offsoring 2 °°

value2 = gen1(crouZme(i+1)).pop,ordet(j):
position2=(find(gen1 {crossZonea(i)).pop.order(XP 1:XP2 JE=value2));
while ~isempty{position2)
valua2=gen1(croasZone(i+1)).pop‘ofdor(xp1+position2-1);
posltim2=(ﬁnd(gen1(cronsZone(i)).pop.otder(xM:XP2)==valu02)};

end
ng(wossZme{M)).pop.order(i)=valu02:
end
end
end
%4 OIS TOTpTE PP ST

% function PositionBase 1/1/00
o —anie -
function [gen2]=positionBase2(gen2,geni,Choose);

nodept=length{geni(1).pop.order);
crossZone=find(Choose);
for i=1:2:length({crosseZone)-1
no_X=round(rand*nodept);%random number of cross point
while ng_X==
no_X=round(rand*nodept),
end
XP=crosspoint2{nodept.no_X);
set1=[gen{crossZone(i)).pop.order(XP)):
set2=gen1(crossZone(it+1)}.pop.order;
setd=[gent{croasZone(i+1)).pop.order{XP)];
setd =geni(crossZone(i)).pop.order,
for j=1:length(set1)
positionset {=find(set2==set 1(})};
set2(positionset)=[];
positionset3=find(setd==seal3(j))
setd(positionsetd)=();

and
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m=1;
for k=1:nodept
if alt{k~=XP}
genz(crosaZoneli)).pop.order(k)=set{m});
gen2{crossZons(i+1)).pop.order(k)= setd(m);
m=m+1;
and
end

and

%ctl-l"ittc"‘-li!.ll!litil‘|rt-it'..---t-'tli'..‘!llll.c'-l!il.o..lclr’i..l..'l

% function randomposition  27/9/99

Ly veessir
function position = randomposition{iength,not)
position = round(rand*fength);

while any(position==not)

position = round(rand"iength);

ond

%-nﬁc-t-noon--ntttniltlnt-ﬁnlolntnh'l!-n-qtiigno-tuvl-lrti'nwltcno.-c-tuotu-

% function randsequence 1/1/C0
% -
function [gen3}=randsequénda(gen2,mutaZone.factory};
nodept=length(gen2(1).pop.order);
gyeersesesess mutate zone] **T
AX2=factory AX; %AX2 use for check AXrelation
for i=1:length{mutaZone)

if find{mutaZone(i)}

AX2=faclory AX;

PPy

order=gen2({i).pop.order; %delete crder and set to zaras
Ggeesnsriness candom mutALion paing *eessereesssnsarasess
MP=round{rand*nodapt);%generate mutation point
start=0;%set starl point for mutale
gpereseereens bafora Mutation point be the same **#<*****
if (MP>=1) & (MP<({nodepi-1))
order{MP+1:nodept)=0;%before Mutation point be the same
opeservesesn ufler Mutation point be mutate **eferrs
it find(factory.AX)
% —smenemere  prepair for locale new ordef -——-—-- -
(x1.x2,zone2}=find(order)
start=length{zone2); %AX2 use to lest that all reiation
if start>1
for k=1:start-1
AX2(zone2(k},:;=NaN;
AXZ(.zona2{k))=NaN;
end
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end
AX2(zone2(start),zone2(starl))=NaN;
locate new ofdef —ws-ceememmemrer—e- -

for j=start+ 1:length{order})

if J==1
{orden(j)AX2]=locate(],[,AX2.{]};%step? random from every dept

olseif j-=1&any(ﬂnd(AX2(order(i-1 )= .
{order(]) AX2]=tocate(], 1,AX2,order(j-1)):%step2 random from A-refation
eliseit j~=1&any(find(AX2(order{j-1),.}==0))
[order(j),AX2]=locate(},D,AX2,order(j-1));%step3 random from NO-reiation
slsaif j~=1&any(find(AX2(order(j-1),:)==-1})
[order(]),AX2]=locate(j.-1.A.XZ.ofdar(j-1));°/oslep4 randem from x-relation

%

end
end
alse %no AIX relation
arrdept={1:nodept]; %
for k=1:MP
arrdept{find(arrdept==order(k)})=0; %
end
for j2(MP+1):rodepl
arrdeptO=find(arrdept);
poa=round{rand*length(arrdept0});
whils pos==0
" pos=round{rand‘length{arrdept0)});
end
order(j)y=arrdepl{arrdeptO(pos}};
arrdept{find{arrdept==ardepi({poa)}}=0;
end
end
geni{i).pop.order=order;
end

o
(1]

gend{i).pop.order=order;%new ge:3(i).order
end
end

oén-n-.'cnonu.---o-u-q-ntt--n.-.uuu--un.-u—u P Y L T L Y

% function reciExchange 1/1/00

% LAt LTI L A ) LTI AT PR

function {gen3j=reciExchange{gen2,mutaZone);

nodept=isngth(gen2(1).pop.order};
for i=1:length{mutaZone)
if find(mutaZone(i}} '
order=gen2(i).pop.order;
for j=1:2 '



MP(j)=randomposition(nodept,0);

end

MP=s0rt{MP);

if MP(1)==MP(2)
gen3({i).pop.order=order;

alse

233

gan3{i).pop.order={order( 1:MP(1)-1),order(MP{2)),ordar(MP{1)+1:MP(2)-1},order(MP{1)),0r der(MP{2)+ 1 :end)];

and
end
end

b
% function Rouletts  1/1/00

% L LI Ll -

function newgen = roulette(gen)

upparbound = Upperb{gen),

for i=1:length(gen)
select=find{upperbound>=rand);
newgen(i)zgen(salect(i));

and

% e
% function selection 3/8/39

yo -----

function [gen 1] =selaction{gend,w1,dept.factory.lype);

switch (lype)
case i
geni=roulette(gen3);
typename=TRoulette Wheel
end
fgeni]=fitness(gen1,wl);
[gen1]=compare{geni,gendwi);

%tﬁt'l'wv.'tll.i.il.l‘hﬂ!!'l

% function summary 1/1/00

Gy Tee eI reRasaraaais

function maxposition =summary{gen}
alifit=[gen.fitness];
[maxfit,maxposition]=max{allfit);
genCOST={gon.totalCOST];
genTCR=[gen.TCR);

SRR LT LI et

0& [} v
% function time2clock 11100
% RRy

function time= time2clock{time,i)



time(i,2)=fix{time(i,1)/3600);
time(l,3)=fix({time(i, 1)-time(i,2)* 3600)/€0):
time(i 4 )=rem(time(,1),60);

EEwany

% .

% function upperb  1/1/00

%

function upperbound = upperb(gen}

upperbound(1y=gsn(1).fiiness,

for i=2:length(gan)-1
upperbound(/}=upperbound(i-1}+gen(i).fitness;

end

upperboun_d(lenglh(gen))ﬂ:

sErwhbaneRewny
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